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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester  

Commerce with Computer Application 

ADVANCED ACCOUNTANCY - I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Write the meaning of ‘matching concept’. 

 ö£õ¸zx ÷Põm£õmiß ö£õ¸ÎøÚ GÊxP. 

2. What do you mean by trial balance? 

 C¸¨£õ´Ä GßÓõÀ GßÚ? 

3. What is suspense account? 

 A|õ©zx PnUS GßÓõÀ GßÚ? 

4. Write a note on Errors of Omission. 

 Âkuø»°ß ¤øÇPÒ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

5. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What do you mean by scrap value? 

 SøÓ ©v¨¦ GßÓõÀ GßÚ? 
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7. Who is a drawer of a bill? 

 ©õØÖa^møh GÊx£Áº ¯õº? 

8. What is trade bill? 

 ÁºzuP Esi¯À GßÓõÀ GßÚ? 

9. What is Average clause? 

 \μõ\› \μzx GßÓõÀ GßÚ? 

10. What are the uses of fire insurance? 

 w Põ¨¥mk £¯ß£õkPÒ £ØÔ TÖP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What is accounting? What is need for it? 

  PnUQ¯À GßÓõÀ GßÚ? Auß ÷uøÁ ¯õx? 

Or 

 (b) Prepare a Trial Balance from the following. 

    

Drawings 23,760 Rent 9,000

Land 20,000 Creditors 35,000

Opening stock 62,000 Purchases 4,00,000

Debtors 90,000 Postage 3,000

Bank 21,000 Sales 6,10,000

Capital 34,000 Plant 25,000

Car 25,240   
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  ¤ßÁ¸® Â£μ[PøÍU öPõsk C¸¨£õ´Ä u¯õº 

ö\´P. 

    
Gk¨¦PÒ 23,760 ÁõhøP 9,000

{»® 20,000 PhÜ¢÷uõº 35,000

öuõhUP \μUQ¸¨¦ 62,000 öPõÒ•uÀ 4,00,000

PhÚõÎPÒ 90,000 Ag\À ö\»Ä 3,000

Á[Q°¸¨¦ 21,000 ÂØ£øÚ 6,10,000

•uÀ 34,000 Pmih® 25,000

©QÊ¢x 25,240   

12. (a) Prepare a bank reconciliation statement as on 
31.12.2016 from the following details. 

  
Balance as per cash book 72,250

Cheque deposited into bank but not collected 6,750

Cheque issued but not presented for payment 8,790

Bank charger debited in the pass book 200

Interest credited in the pass book 150

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2016® |õøÍ¯ Á[Q 

\›Pmk® £mi¯ø» u¯õº ö\´P. 

  

öμõUP Hmiß £i C¸¨¦ 72,250

Á[Q°À ö\¾zu¨£mk Á`¼UP¨£hõu 

Põ÷\õø» 

6,750

ÁõiUøP¯õÍºPÐUS öPõkUP¨£mh BÚõÀ 

©õØÓ¨£hõu Põ÷\õø» 

8,790

ö\À÷»miÀ £ØÖ øÁUP¨£mh Á[Q Pmhn® 200

ö\À÷»miÀ ÁμÄ øÁUP¨£mh Ámi 150

Or 
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 (b) Write down the rectifying journal entries for the 

following errors. 

  Goods worth  2,000, sold to Kumar has been 
credited to his account 

  Purchases from Sudha for  5,000 has been posted 
to the debit side of her account 

  Salary of  50,000 paid to Rasika has been debited 
to her personal account 

  Sales to Saravanan for  780 has been posted to his 
account as  870. 

  ¤ßÁ¸® PnUQ¯À ¤øÇPÐUS v¸zu¨ £vÄPøÍ 

GÊxP. 

  S©õº ÂØÓ \μUS  2,000 AÁº PnUQÀ ÁμÄ 

øÁUP¨£mkÒÍx.  

  _uõÂhª¸¢x öPõÒ•uÀ ö\´ux  5,000  

_uõ PnUQß £ØÖ¨ £UPzvÀ GkzöuÊu¨£mkÒÍx. 

  μõ]PõÄUS ö\¾zv¯ Fv¯®  50,000, μõ]Põ 

PnUQÀ £ØÖ øÁUP¨£mkÒÍx 

  \μÁnÝUS ÂØ£øÚ ö\´ux  780, AÁº PnUQÀ  

 870 GÚ GkzöuÊu¨£mkÒÍx. 

13. (a) A company purchased machinery for  50,000 on 
1.4.2012. It is depreciated at 10% p.a. on written 
down value method. The accounting year ends on 
31st March of every year. Prepare Machinery 
account for three years. 

  1.4.2012 AßÖ J¸ {Ö©®  50,000 ©v¨¦ÒÍ 

C¯¢vμzøu Áõ[Q¯x. Ax SøÓ¢x ö\À ©v¨¦ 

•øÓ°À BskUS 10% Ãu® ÷u´©õÚ® 

Â»UP¨£mhx. JÆöÁõ¸ Bsk® PnUSPÒ  

©õºa 31À •iUP¨£kQßÓÚ. ‰ßÓõsk Põ» 

C¯¢vμU PnUøP u¯õº ö\´P. 

Or 
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 (b) From the following particulars, calculate the 

amount of depreciation. 
  

Machinery purchased  72,000

Freight charger 2,000

Installation charger 4,000

Life of the machine 5 years  

  RÌUPõq® ÂÁμ[PøÍU öPõsk ÷u´©õÚzøu 

PnUQkP.  

  
C¯¢vμ® Áõ[Q¯x  72,000

\μUS Pmhn® 2,000

{ÖÄÁuØPõÚ Pmhn® 4,000

C¯¢vμ® £¯ß£kzuU Ti¯ Á¸h® 5  

14. (a) Prepare Trading and profit and loss account from 
the following information. 

  
Opening stock 10,000
Purchases 60,000
Wages 11,500
Closing stock 13,000
Sales 1,00,000
Carriage on purchases 1,500
Carriage on sales 1,200
Rent (factory) 1,200
Office rent 1,500
Sales returns 2,000
Purchase returns 3,000
General expenses 3,000
Discount to customers 900
Interest received from bank 500
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x Â¯õ£õμ ©ØÖ® C»õ£ 

|mh PnUSPøÍ u¯õº ö\´P. 

  

öuõhUP \μUQ¸¨¦ 10,000

öPõÒ•uÀ 60,000

T¼ 11,500

CÖv \μUQ¸¨¦ 13,000

ÂØ£øÚ 1,00,000

öPõÒ•uÀ «uõÚ ö\»Ä 1,500

ÂØ£øÚ «uõÚ ö\»Ä 1,200

ÁõhøP (öuõÈØ\õø») 1,200

A¾Á»P ÁõhøP 1,500

ÂØ£øÚ v¸¨£® 2,000

öPõÒ•uÀ v¸¨£® 3,000

ö£õxa ö\»ÄPÒ 3,000

ÁõiUP¯õÍ¸UPõÚ uÒÐ£i 900

Á[Q°¼¸¢x Ámi 500

Or 

 (b) On 1st May 2015, Arumugam accepted a two months 
bill for  10,000 drawn on him by Naveen for the 
latter’s benefit. Naveen discounted the bill on  
4th May @ 12% p.a. and on the due date sent 
Arumugan a cheque for  10,000 in order to enable 
him to honour the bill, Arumugam duly honoured 
his acceptance. Pass journal entries in the books of 
Naveen and Arumugam.  
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  ÷© 1, 2015 AßÖ BÖ•P® Cμsk ©õu  10,000 

©v¨¦ÒÍ ©õØÖa^mk JßÔøÚ |Ãß 

Gß£Á›hª¸¢x HØÓõº. A®©õØÖa^miøÚ ÷© 4¢ 

÷uv BskUS 12% Ámh® ö\´uõº. ÷©¾® •vºa] 

|õÎÀ BÖ•P® ©õØÖa ^miøÚ ©vUS® ÁøP°À  

¹. 10,000&vØS Põ÷\õø» JßÔøÚ AÎzuÚº. 

BÖ•P® Põ÷\õø»UPõÚ £nzøu Á[Q°À 

ö\¾zvÚõº. ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍ 

BÖ•P® ©ØÖ® |Ãß HkPÎÀ ÷uõØÖÂUPÄ®. 

15. (a) Goods worth  1,60,000 of M/S Saravanan and sons 
are insured for  1,40,000. Loss due to fire is 
assessed at  32,000. Calculate the claim admissible 
by the insurer. 

  v¸ÁõÍºPÒ \μÁnß & \ßì  1,60,000 \μUS 

©v¨¦ÒÍøu  1,40,000zvØS Põ¨¥k ö\´uÚº. Cx 

w°ÚõÀ HØ£mh |mhzvØPõÚ öuõøP PnUQmhx  

 32,000. Põ¨¥mk EÖv¯õÍ›hª¸¢x Põ¨¥mk 

ö\´£Á›ß ÷PõμÀ öuõøP°øÚU PnUQkP. 

Or 

 (b) Fire occurred in the premises on 1.1.2015 and the 
books and records were showed. From the following 
information, calculate the insurance claim. 

  

Purchases for the year ending 30.06.2014 60,000

Sales for the year ending 30.06.2014 90,000

Purchases from 1.7.2014 to 31.12.2014 35,000

Sales from 1.7.2014 to 31.12.2014 50,000

Stock on 30.12.2014 28,000

Stock on 30.12.2013 40,000
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  J¸ PmihzvÀ 1.1.2015 AßÖ w HØ£mhx. BÚõÀ 

HkPÒ ©ØÖ® BÁn[PÒ Põ¨£õØÓ¨£mhÚ. 

RÌPõq® ÂÁμ[PÎ¼¸¢x Põ¨¥k CÇ¨¥mkz 

öuõøPø¯ PnUQkP. 

  

öPõÒ•uÀ 30.06.2014 Bsk •i¯ 60,000

ÂØ£øÚ 30.06.2014 Bsk •i¯ 90,000

öPõÒ•uÀ 1.7.2014 •uÀ 31.12.2014 Áøμ 35,000

ÂØ£øÚ 1.7.2014 •uÀ 31.12.2014 Áøμ 50,000

\μUQ¸¨¦ 30.12.2014 AßÖ 28,000

\μUQ¸¨¦ 30.12.2013 AßÖ 40,000

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the features of double entry system. 

 Cμmøh¨ £vÄ •øÓ°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

17. Pass Journal entries to rectify the following errors and 
prepare suspense a/c: 

 (a) Purchase day book for April 2016 under cost by  
 1,000 

 (b) Sales day book for October 2016 over cost by  
 10,000 

 (c) Furniture purchased  8,100 recorded as  810 in 
furniture a/c. 

 (d) Bill  10,000 drawn in the name of Jegan not 
recorded in bills receivable book 

 (e) Machinery purchased  10,000 recorded in the 
purchases book. 



A–8654 

  

  9

Ws 2
 RÌÁ¸® ¤øÇPøÍ v¸zu £vÄPÒ u¢x A|õ©zx P/S 

u¯õ›UP 

 (A) öPõÒ•uÀ HmiÀ H¨μÀ 2016,  1,000 SøÓÁõP 

Tmh¨£mkÂmhx. 

 (B) ÂØ£øÚ HmiÀ AU÷hõ£º 2016  10,000 AvP©õP 

Tmh¨£mkÂmhx 

 (C) AøÓP»ß  8,100 öPõÒ•uÀ ö\´¯¨£mhx, HmiÀ 

 810 GÚ GÊu¨£mkÒÍx. 

 (D) öáPß Gß£Áº  10,000 ©v¨¦ÒÍ ©õØÖa^miÀ 

£n® ö£ØÖÒÍõº, BÚõÀ ö£ÖÁuØS›¯ ©õØÖa^mk 

HmiÀ £v¯¨£hÂÀø». 

 (E) C¯¢vμ®  10,000 öPõÒ•uÀ ö\´¯¨£mhx, BÚõÀ 

öPõÒ•uÀ HmiÀ £v¯¨£mkÒÍx. 

18. A new machinery was purchased for  6,00,000 on 
1.4.2011. On 1.10.2012, another machinery was 
purchased for  4,40,000, on 30.09.2013, the machinery 
purchased on 1.4.2011 was sold for  3,40,000. 
Depreciation is to be provided at 10% p.a. under straight 
line method. Accounts are closed on 31st March every 
year. Pass Journal entries and prepare machinery 
account three years. 

 1.4.2011 AßÖ  6,00,000 ©v¨¦ÒÍ C¯¢vμzøu 

Áõ[Q²ÒÍÚº. 1.10.2012 AßÖ   4,40,000 ©v¨¦ÒÍ 

©ØöÓõ¸ C¯¢vμzøu Áõ[Q²ÒÍÚº. 30.9.2013 AßÖ 

(1.4.2011) Áõ[Q¯ C¯¢vμzøu  3,40,000US ÂØ£øÚ 

ö\´xÒÍÚº. Bsk÷uõÖ® 10% ÷u´©õÚ® ÷|ºU÷Põmk 

•øÓ°À }UP¨£mhx. Bsk÷uõÖ® ©õºa 31® ÷uv PnUS 

•iUQßÓÚ. SÔ¨÷£mk £vÄPÒ ©ØÖ® ‰ßÓõskUPõÚ 

C¯¢vμ® P/S u¯õº ö\´P. 
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19. From the following particulars, prepare Receipts and 

Payments accounts of National club for the year ended 
31.12.2015. 

  
Opening cash bank balance 18,900

Subscriptions for the year 9,800

Subscriptions received in advance 350

Purchase of furniture 1,400

Printing and stationery 700

Sundry expenses 525

Annual function – Sales of tickets 4,200

Expenses of Annual function 3,500

Office Expenses 700

Sales to staff 10,500

Interest on Bank deposit 700

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x, ÷|åÚÀ QÍ¨ 31.12.2015 

BsiØS›¯ ö£ÖuÀ ©ØÖ® ö\¾zxuÀ P/S u¯õº ö\´P. 

  

Á[Q°À öuõhUP £n C¸¨¦ 18,900

|h¨£õsk \¢uõ öuõøP 9,800

•ß Tmi¨ ö£ØÓ \¢uõ öuõøP 350

AøÓP»ß öPõÒ•uÀ ö\´u öuõøP 1,400

Aa_ ©ØÖ® GÊxö£õ¸ÒPÒ 700

£»ÁøP ö\»ÄPÒ 525

Bsk ÂÇõÄUPõÚ ^mk ÂØ£øÚ 4,200

Bsk ÂÇõÄUPõÚ ö\»ÄPÒ 3,500

A¾Á»P ö\»ÄPÒ 700

FÈ¯¸UPõÚ \®£Í® 10,500

øÁ¨¦z öuõøPUPõÚ Ámi 700
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20. Fire occurred in the premises of Prakash on 10.6.2015. In 

order to make a claim on their fire policy in respect of the 
stock, they ask your advice and you are able to obtain the 
following information: 

Particulars 2012 
 

2013 
 

2014
 

2015
 

Opening stock 1,600 1,500 1,600 1,800

Purchases 4,100 4,720 5,660 7,800

Sales 6,000 6,600 7,800 9,900

Closing stock 1,500 1,600 1,800 ?

 The stock salvaged was  380. Compute the amount of 
claim. 

 ¤μPõè Gß£Á›ß Pmih® 10.6.2015À w ¤izux. 

RÌUPõq® Â£μzv¼¸¢x \μUS CÇ¨¦ \®£¢u©õÚ 

÷Põ¸›ø©ø¯U Psk¤i, 

Â£μ® 2012 
 

2013
 

2014
 

2015
 

öuõhUP \μUQ¸¨¦ 1,600 1,500 1,600 1,800

öPõÒ•uÀ 4,100 4,720 5,660 7,800

ÂØ£øÚ 6,000 6,600 7,800 9,900

CÖv \μUQ¸¨¦ 1,500 1,600 1,800 ?

£õxPõUP¨£mh \μUQß ©v¨¦  380. CÇ¨¥mkz öuõøPø¯ 

PnUQhÄ®. 

  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester  

Commerce with Computer Application 

FUNDAMENTALS OF COMPUTER 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State any Two types of Computer. 

 PoÛ°ß ÁøPPÎÀ H÷uÝ® CμsiøÚ TÖP. 

2. What is Directory? 

 ÷Põ¨£P® Gß£x ¯õx? 

3. State any two functions of OS. 

 C¯UP •øÓø©°ß H÷uÝ® C¸ £oPøÍ TÖP. 

4. Write any four internal DOS commands. 

 H÷uÝ® |õßS AP hõì BønPøÍ GÊxP. 

5. What is Software? 

 ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

6. Give two DOS Directory commands. 

 DOS ÷Põ¨£Pzvß BønPÒ CμsiøÚ u¸P. 

Sub. Code 
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7. What do you mean by time sharing? 

 ÷|μ¨ £[Rk Gß£øu } GÆÁõÖ AÔÁõ´? 

8. Narrate the term 'File Security'. 

 '÷Põ¨¦ £õxPõ¨¦' Gß£x ¯õx? 

9. Define 'Multitasking'. 

 '£ß•P ÷Áø»' Gß£øu Áøμ¯Ö. 

10. What is meant by GUI? 

 â²I Gß£x ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain  the types of Computers. 

  PoÛ°ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Discuss the Secondary storage devices. 

  Cμshõ® {ø» Põ¨£P P¸ÂPøÍ ÂÁõvUP. 

12. (a) Describe the different types of OS.  
  C¯UP •øÓø©°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) Write a brief about the needs of communication. 

  uPÁÀ öuõhº¤ß ÷uøÁPÒ ¯õøÁ? 

13. (a) Explain about the UNIX File System. 

  ³ÛUì ÷Põ¨¦ •øÓ £ØÔ ÂÍUSP. 

Or 

 (b) Elaborate an overview of UNIX OS. 

  ³ÛUì C¯UP •øÓ £ØÔ¯ EÚx £õºøÁø¯ ÂÁ›. 
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14. (a) Explicit the Network Topologies. 

  Cøn¯ uÍ ÷hõ¨£õ»âø¯ ÂÍUSP. 

Or 

 (b) Write about the Directory commands. 

  ÷Põ¨£Pzvß BønPøÍ £ØÔ GÊxP. 

15. (a) List down the features of windows XP. 

  Âs÷hõì GUì ¤°ß ]Ó¨£®\[PøÍ £mi¯¼k. 

Or 

 (b) Write any five menus appeared in windows. 

  Âs÷hõêÀ Põn¨£k® H÷uÝ® I¢x £mi¯ÀPøÍ 

GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the functions of a Computer? 

 Poo°ß £oPøÍ GÊxP. 

17. Explain the features of windows '98. 

 ¤s÷hõì '98ß ]Ó¨£®\[PøÍ ÂÍUSP. 

18. Enlighten the batch Operating System. 

 ÷£ma C¯UP •øÓø¯ öuÎÄ£kzxP. 

19. Explain the file permission in UNIX system. 

 ³ÛUì •øÓ°ß ÷Põ¨¦ AÝ©vPøÍ ÂÍUSP. 

20. Describe the function of LAN. 

 ÷»Ûß £¯ßPøÍ ÂÁ›. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Second Semester 

Commerce with Computer Application  

ADVANCED ACCOUNTANCY — II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by subscription received in advance? 

 •ß Tmi÷¯ ö£Ó¨£mh \¢uõ Gß£x ¯õx? 

2. Show how life membership fees appears in final accounts. 

 B²Ò EÖ¨¤Úº Pmhn® Bsk CÖvU PnUQÀ GÆÁõÖ 

Põmh¨£k®? 

3. What are the circumstances under which account current 
is to be prepared? 

 |øh•øÓU PnUS u¯õ›UP¨£k® `Ì{ø»PÒ ¯õøÁ? 

4. What is meant by red ink interest? 

 ]Á¨¦ ø© Ámi GßÓõÀ GßÚ? 

5. What is Del Credere Commission? 

 ¤øn¯U PÈÄ GßÓõÀ GßÚ? 

Sub. Code 
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6. What is normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

7. What is memorandum joint ventured method? 

 {øÚÄ SÔ¨¦ CønÂøÚ •øÓ GßÓõÀ GßÚ? 

8. What is Joint venture? 

 CønÂøÚ GßÓõÀ GßÚ? 

9. What is Single Entry System? 

 JØøÓ¨ £vÄ •øÓ GßÓõÀ GßÚ? 

10. Draw the Specimen of B/R account? 

 ö£ÖuØS›¯ ©õØÖ ^mk P/S ß ©õv›ø¯ ÁøμP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) From the following find how much is to be shown in 
Income and Expenditure account for the year 
ending 31.12.2009 for subscription. 

                                            Rs. 

  Subscription received during the year as per       

  receipts and payments account 28,680 

  Subscription outstanding on 1.1.2009 2,400 

  Subscription outstanding on 31.12.2009 3,000 

  Subscription received in advance on 1.1.2009 1,800 

  Subscription received in advance on 31.12.2009 1,080 
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  RÌUPsh Â£μ[PÎ¼¸¢u 31.12.2009&À 

•iÁøh²® BsiØPõÚ Á¸Áõ´ ö\»ÂÚU 

PnUQÀ \¢uõ öuõøP GÆÂu® Põmh¨£k®.  

                                                          ¹. 

  ö£ÖxÀ ö\¾zxuÀ PnUQß£i \¢uõ ö£ØÓø© 28,680 

  1.1.2009&À Áμ ÷Ási¯ \¢uõ 2,400 

  31.12.2009&À Áμ ÷Ási¯ \¢uõ 3,000 

  1.1.2009&À •ß Tmi¨ ö£Ó¨£mh \¢uõ 1,800 

  31.12.2009&À •ß Tmi¨ ö£Ó¨£mh \¢uõ 1,080 

Or 

 (b) Distinguish between a Income and Expenditure 
account and a Profit and Loss account.  

Á¸©õÚ ö\»Ä PnUQØS®, C»õ£|mh PnUQØS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) How average due date will be calculated? 

  \μõ\› uÁøn |õÒ GÆÁõÖ PnUQh £h ÷Ásk®? 

Or 

 (b) Xavier owes to Yusuf the following sums: 

                                    Rs. 

  On 15th March 2009   600 

  On 20th April 2009     800 

  On 15th May 2009  1,000 

  On 31st May 2009     400 

  Find the average due date. What interest will 
Xavier pay to Yusuf if the actual payment is made 
on 9th July 2009 at 9% interest? 
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  ÷\Â¯º Gß£Áº ³\¨ Gß£Á¸US öPõkUP ÷Ási¯ 

öuõøP ¤ßÁ¸©õÖ.  

                                    ¹. 

  2009 ©õºa 15&À    600 

   H¨μÀ 20&À     800 

   ÷© 15&À  1,000 

   ÷© 31&À     400 

  \μõ\› uÁøn |õøÍ Psk¤i. áüø» 9, 2009&À 

÷\Â¯º ³\¨US £n® ö\¾zvÚõÀ 9% Ámi ÃuzvÀ 

AÁº öPõkUP ÷Ási¯ Ámi GÆÁÍÄ? 

13. (a) What is an account sale? Give a specimen form of an 
account sale with imaginary figures. 

  ÂØ£øÚ PnUPÔUøP GßÓõÀ GßÚ? ©õv› £iÁzøu 

PØ£øÚ öuõøP°À u¸P.  

Or 

 (b) Siva consigned 1,000 kg vegetables costing  
Rs. 4,500. Expenses incurred were Rs. 600. If loss 
due to natural deterioration in quality is of 10 kg 
and if 810 kg were sold, calculate cost of stock at the 
end. 

  ]Áõ Gß£Áº 1000 Q÷»õ Põ´PÔPøÍ ¹. 4,500 

©v¨¦øh¯øu AÝ¨¥k ö\´uõÀ. AuØPõÚ ö\»Ä ¹. 

600 C¯ØøP AÈÂÚõÀ 10 Q÷»õ |mhø©¢x 810 

Q÷»õ ÂØ£øÚ ö\´uõÀ, «u•ÒÍ \μUQß ©v¨ø£ 

PnUQkP.  

14. (a) What are the different methods of recording the 
joint venture transaction? 

  CønÂøÚ |hÁiUøPPøÍ £vÄ ö\´²® £À÷ÁÖ 

•øÓPÒ ¯õøÁ? 

Or 



A–8656 

  

  5

Wk 6
 (b) Raman and Lakshmana entered into a joint venture 

sharing profit and loss in the ratio of 2:1 
respectively. Each party maintained complete 
records in his own book. Raman supplied goods to 
the value of Rs. 15000 and incurred of expenditure 
of Rs. 600 on them and Lakshmana supplied goods 
to extent of Rs. 12,000 and incurred on expenditure 
of Rs. 200. Raman sold all the goods for Rs. 36,000 
for which he was entitled to receive commission at 
5%. Accounts were settled by bank draft. 

  Prepare necessary accounts in the books of Raman 
to records the above transactions. 

  μõ©Ý® ö»è©nÝ® »õ£ |mhzøu 2:1 ÂQuzvÀ 

£Qº¢x öPõÒÐ® J¸ CønÂøÚ Dk¨£mhÚº. 

JÆöÁõ¸Á¸® ußÝøh¯ ö\õ¢u HmiÀ •Ê 

£vÄPøÍ ö\´uÚº. Cx SÔzx μõ©ß ¹. 15,000 

©v¨¦ÒÍ \μUSPøÍ²® ¹. 600 ö\»Ä® ö\´uõº. 

»è\©nß ¹. 12,000 \μUSPøÍ öPõkzx ¹. 200 

ö\»Ä® ö\´uõº. μõ©ß GÀ»õ \μUSPøÍ²® ¹. 36,000 

ÂØÓõº AuØS AÁ¸øh¯ PÈÄ 5% Á[Q £nÂøh 

‰»® PnUS •iUP¨£mhx. μõ©ß HmiÀ ÷uøÁ¯õÚ 

PnUSPøÍ Põmk.  

15. (a) What are the defects if single entry? 

  JØøÓ¨ £vÄ •øÓ°ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Capital Introduced on 1.1.2009 by X Rs.75000. His 
financial position after one year was follows.  

                         Rs. 

  Assets 1,20,000 

  Liabilities    70,000 

  During the year he has drawn Rs. 2500 p.m. for 
domestic expanses and interest on capital and 
drawings were Rs. 3000 and Rs. 1000 respectively. 
Estimate his profit for the year 2009? 
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  1.1.2009 AßÖ X ÷£õmh •uÀ ¹. 75,000. AÁ¸øh¯ 

{v{ø» J¸ Á¸hzvØS ¤ß Á¸©õÖ.  

                                ¹. 

  ö\õzx      1,20,000 

  ö£õÖ¨¦PÒ       70,000 

  Bsk •ÊÁx® Ãmk ö\»ÂØPõP JÆöÁõ¸ 

©õu•® ¹. 2,500 GkzxU öPõshõº. ¹. 3,000 •uÀ 

«x Ámi ¹. 1,000 Gk¨¦. 2009 BsiÀ »õ£zøu 

PnUQkP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following receipts and payments account of the 
City Club, Chennai for the year ended 31.3. 2009, prepare 
Income and Expenditure account. 

Receipts and Payments for the year ended 31.3.2009 
Receipts Rs. Payments Rs. 

To Balance 1.4.2008  3,485 By Books 6,150 

To Entrance fees 650 By Printing and stationary 465 

To Donations 6,000 By Newspapers 1,110 

To Subscriptions 6,865 By Sports materials 5,000 

To Interest on Investments 1,900 By Repairs 650 

To Sale of furniture 685 By Investment 2,000 

To Sale of old newspaper 465 By Furniture 1,000 

To Proceeds from   By Salary 1,500 

      entertainment 865 By Balance on 31.3.2009 3,165 

To Sunday receipts 125   

 21,040  21,040 

 The entrance fees and donations are to be capitalised, 
sports materials are valued at Rs. 4,000 as on 31.3 .2009. 
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 31.3.2009&À •iÁøh²® BsiØPõÚ ö\ßøÚ |Pμ 

QÍ¨¤ß ö£ÖuÀ ö\¾zuÀ PnUQ¼¸¢x Á¸Áõ´ 

ö\»ÂÚU PnUøP u¯õ›UPÄ®.  

 31.3.2009&À •iÁøh²® BsiØPõÚ ö£ÖuÀ ö\¾zuÀ 

PnUS. 

ö£ÖuÀ ¹. ö\¾zxÀ  ¹. 

01.4.2008À C¸¨¦ 3,485 ¦zuP[PÒ 6,150

~øÇÄU Pmhn® 650 GÊxö£õ¸Ò 465

|ßöPõøh 6,000 ö\´vzuõÒ 1,110

\¢uõ 6,865 ÂøÍ¯õmk ö£õ¸mPÒ 5,000

•u½miß «uõÚ Ámi 1,900 £Êx£õº¨¦ 650

AøÓP»ß ÂØÓx 685 •u½kPÒ 2,000

£øÇ¯ ÷£¨£º ÂØÓx 465 AøÓP»ß 1,000

ö£õÊx ÷£õUQÀ ö£ØÓx 865 \®£Í® 1,500

£Ø£» ÁμÄPÒ 125 31.3.2009&À C¸¨¦ 3,165

 21,040  21,040

 ~øÇÄU Pmhn® ©ØÖ® |ßöPõøh •xÀ£kzxP. 

31.3.2009À ÂøÍ¯õmk¨ ö£õ¸mPøÍ ¹. 4,000 GÚ 

©v¨¤h¨£mhx.  

17. Ram had the following transactions with Raja.  

2007  Rs.  

January      1 Balance due from Raja 1,000

February  16 Purchased goods from Raja 6,000

                 28 Sold goods to Raja 10,000

March       16 Received a cheque from Raja 3,000

April          20 Sold goods to Raja  
(invoice on May 3) 

10,000
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2007  Rs.  

June          16 Purchased goods from Raja  
(due on July 16) 

15,000

September 23 Cash paid to Raja 3,000

October     24 Accepted Raja’s Bill for 3 months 5,000

November 26 Received Raja’s acceptance for 2 months 8,000

 You are required to prepare an account current with 
necessary columns of Raja completed upto December 31, 
2007 as will appear in the books of Ram reckoning 
interest at 15% p.a. on the balance due. 

 μõáõÂh® μõ•US HØ£mh |hÁiUøPPÒ ¤ßÁ¸©õÖ.  

2007  Rs.  

áÚÁ›        1 μõáõ öPõkUP ÷Ási¯ C¸¨¦ 1,000

¤¨μÁ›     16 μõáõÂh® öPõÒ•uÀ ö\´ux 6,000

                 28 μõáõÂh® ÂØÓx  10,000

©õºa          16 μõáõÂhª¸¢x ö£ØÓ Põ÷\õø» 3,000

H¨μÀ         20 μõáõÂØS ÂØÓx  

(÷©&3À Ch¨¤h¨£mhx) 

10,000

áüß         16 μõáõÂhª¸¢x öPõÒ•uÀ ö\´ux 

(áüø» 16&À öPõkUP ÷Ási¯x) 

15,000

ö\¨h®£º  23 μõáõÂØS ö\¾zv¯ öμõUP® 3,000

AU÷hõ£º  24 μõáõÂØS 3 ©õu ©õØÖa ^mk 

HØÖUöPõÒÍ¨£mhx 

5,000

|£®£º       26 2 ©õu Esi¯¾US® μõáõÂß HØ¦  

ö£ØÖU öPõÒÍ¨£mhx 

8,000

 i\®£º 31, 2007À μõáõÄhß EÒÍ |øh•øÓU PnUøP μõ® 

HmiÀ u¯õ›UPÄ®. C¸¨¦ uÁøn BsiØS Ámi 15% 

GÚU PnUQkP.  
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18. X consign to Y 1000 fans costing Rs 180 each, at invoice 

price Rs. 200 per fan, pays Rs. 1,400 for expenses. Y 
remits Rs. 5,000 as advance and spent Rs. 1,400 for 
expenses. Y sells 600 fans at Rs. 260 each for cash. Y 
remits the balance due by a bank draft after deducting 
commission 5% and del credere commission at 10%. The 
consignee incur a bad debt of Rs. 300. 

 Pass entries and prepare necessary Ledger accounts in 
the books of both the parties. 

 X Gß£Áº Y Gß£Á¸US JßÖ ¹. 180 AhUP•ÒÍ 1,000 

Â]ÔPøÍ ¹. 200 Chõ¨¦ Âø»°mk AÝ¨¥k ö\´QÓõº. 

X ö\´u ö\»Ä ¹. 1,400. ¹. 5,000 •ß£n©õP Y AÝ¨¤ 

øÁUQÓõº. AÁº ö\´u ö\»Ä ¹. 1,400. Y 600 Â]ÔPøÍ 

JßÔß Âø» ¹. 260 GÚ öμõUPzvØS. ÂØÓõº. PÈÄ 5%&® 

¤øn PÈÄ 10%&zøu²® PÈzu¤ß «u•ÒÍ öuõøPUS 

Á[Q £nÂøhø¯ Y AÝ¨¤ øÁzuõº. AÝ¨¥k 

ö£Ö|¸US HØ£mh ÁμõUPhß ¹. 300. 

 C¸Áº Hmi¾® SÔ¨÷£mk £vÄPÐ®, ÷£÷μmk 

PnUSPøÍ²® u¸P.  

19. Anbu and Babu doing business separately as building 
contractors undertake jointly to construct a building for a 
newly started joint stock company for a contract price of 
Rs. 2,50,000 payable as to Rs. 2,00,000 by instalment in 
cash and Rs. 50,000 in fully paid shares of the company. 
A bank account his opened in their joint names. Anbu 
paying Rs. 62,500 and paying Rs. 37,500. They also to 
share profit and losses in the proportion 2/3 and 1/3 
respectively. Their transactions as follows. 

                                                      Rs. 

 Wages      75,000 

 Bought Materials  1,75,500 

 Material supplied to Anbu    12,500 

 Material supplied to Babu     10,000 

 Architect’s fees paid by Anbu       5,000 
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 The contract was completed and the price (cash and 

share) duly received. The joint venture was closed by 
Anbu taking up all the shares of company at an agreed 
valuation of 40,000 and Babu taking up the stock of 
materials at an agreed valuation of Rs. 7,500. 

 Show the journal and prepare ledger accounts. 

 Pmih J¨£¢uPõμμõP uÛzuÛ¯õP öuõÈÀ ¦›¢x 

Á¸®Aß¦ ©ØÖ® £õ¦ Gß£ÁºPÒ J¸ ¦v¯ Tmk £[S 

{Ö©zvØS ¹. 2,50,000 Pmih® JßÖ Aø©zxz u¸® 

CønÂøÚø¯ ÷©ØöPõshÚº. J¨£¢u Âø»ø¯ ¹. 

2,00,000 öμõUP©õPÄ® ¹. 50,000 A¢u {Ö©zvß •ØÖ® 

ö\¾zv¯ £[SPÍõPÄ® uμ¨£k®. Aß¦ ¹. 62,500® £õ¦ ¹. 

37,500® Cmk CønÁ[QU PnUöPõßÖ xÁUQÚº. C»õ£ 

|mhzøu 2/3&²® 1/3 ÂQuzvÀ £Qº¢x öPõÒÁuõP •iÄ 

ö\´uÚº. AÁºPÐøh¯ |hÁiUøP ¤ßÁ¸®.  

                                                                                    ¹. 

 T¼        75,000 

 Pa\õ¨ ö£õ¸Ò Áõ[Q¯x   1,75,500 

 Aß¦ AÎzu Pa\õ¨ ö£õ¸Ò       12,500 

 £õ¦ AÎzu Pa\õ¨ ö£õ¸Ò         10,000 

 PmihU Pø»b¸US Aß¦ öPõkzu Pmhn®      5,000 

 J¨£¢u® •iUP¨ö£ØÖ, J¨£¢u Âø»²® ö£Ó¨£mhx. 

Aß¦ GÀ»õ £[SPøÍ²® ¹. 40,000 GßÓ ©v¨¥mi¾®, 

£õ¦ ‰»® ö£õ¸Ò C¸¨ø£ ¹. 7,500 GßÓ ©v¨¥miÀ 

GkzxU öPõkUP CønÂøÚ •iÄØÓx.  

 SÔ¨÷£mk £vÄPøÍ²® ÷£÷μmk PnUSPøÍ²® PõmkP.  

20. Explain the methods to ascertain the profit/loss of 
business under Single entry system. 

 JØøÓ £vÄ •øÓ°À C»õ£/|mhzøu PnUQk® 

•øÓPøÍ ÂÁ›.  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Second Semester  

Commerce with Computer Application 

MS-OFFICE 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you meant by Personal Computer? 

 uÛ¨£mh PoÛ°ß ö£õ¸Ò GßÚ? 

2. Expand ALU, CPU. 

 Â›ÁõUSP ALU, CPU 

3. Write down any four output Device. 

 öÁÎ±k \õuÚ[PÎß HuõÁx |õßQøÚ GÊxP. 

4. How to create the new word Document? 

 GÆÁõÖ J¸ ¦v¯ AÁnzøu E¸ÁõUSÁx. 

5. What do you meant by Undo, Redo? 

 «Íõø©, «sk® Gß£uß ö£õ¸Ò GßÚ? 

6. What is Ms–Excel? 

 Ms–Excel GßÓõÀ GßÚ? 

Sub. Code 

4BCC2C2 
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7. How to print the Excel sheet? 

 ªßÚÝuõÒ GÆÁõÖ ¤μv Gk¨£x? 

8. What is Chart? 

 Áøμ£h® GßÓõÀ GßÚ? 

9. Define Database. 

 uPÁÀ uμÄ uÍ® Áøμ¯Ö. 

10. What is Power Point. 

 ªßvÓß ~m£ ö\´v GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Describe the Advantages and Limitation of 
Computer.  

  PoÛ°ß |ßø© ©ØÖ® uøhPøÍ²® ÂÁ›. 

Or 

 (b) Explain the Various types of Memory. 

  £À÷ÁÖ ÁøP¯õÚ {ønÁP® £ØÔ ÂÍUSP. 

12. (a) What are the difference between SAVE and SAVE 
as? 

  ÷\ª ©ØÖ® ÷\ª¨¦ ¤μPõμ® EÒÍ ÷ÁÖ£õhPÒ GßÚ? 

Or 

 (b) Write a short notes on 

  (i) COPY 

  (ii) PASTE 

  SÔ¨¦ GÊxP. 

  (A) |PÀ 

  (B) JmkuÀ 
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13. (a) Explain about Find and Replace in Ms–Office with 

example. 

  ÷ukuÀ ©ØÖ® £v»õP ©õØÖuÀ £ØÔ ÂÍUSP 

Euõμnzxhß. 

Or 

 (b) Explain Ms–Excel features. 

  Ms–Excel–ß ]Ó¨¦PøÍ ÂÍUSP. 

14. (a) DRaw A component of Ms–Access window. 

  Ms–Access–\ßÚ¼À EÒÍ £õP[PøÍ ÁøμP. 

Or 

 (b) Give a Notes on  

  (i) DBMS 

  (ii) QUERY 

  SÔ¨¦ u¸P. 

  (A) DBMS 

  (B)  QUERY  

15. (a) Explain about Add and Remove the Power Point 
slide. 

  ªßvÓß ö\´v°À J¸ \¸UQø¯ Cøn¨£x ©ØÖ® 

}USÁx £ØÔ ÂÍUSP. 

Or 

 (b) Discuss about the animation of the slide Layout. 

  \¸UQ°ß E°¸mku¼ß Aø©¨¦ vmhzvøÚ ÂÁ›. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly Explain about Characteristics of Computer. 

 PoÛ°ß Snõv\¯[PøÍ ÂÍUP©õP ÂÁ› 

17. Describe the components of Ms–Word Windows. 

 Ms–Word \ßÚ¼ß EÒÍ BUPU TÖ ÂÍUSP. 

18. Write a procedure for Creating Chart in Ms–Excel. 

 Ms–Excel –À Áøμ£h® E¸ÁõUSu¼ß ö\¯À•øÓPøÍ 

GÊxP. 

19. Create a Table for Employee pay bill calculation using 
Ms–Access. 

 Ms–Access £¯ß£kzv £o¯õÍº Fv¯ PskQkuø» 

E¸ÁõUSP. 

20. Design a Anyone product information and features using 
power point slide. 

 GuõÁx J¸ ö£õ¸Îß uPÁÀ ©ØÖ® Auß 

]Ó¨£®\[PøÍ²® ªßvÓß ö\¯À TØÖ ‰»©õP ÂÍUSP. 

 
 
 
 

———————— 



 

  

Wk 6

A–8658   

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Commerce with Computer Application 

TALLY 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Accounting. 

 PnUQ¯¼ß ÁøμÂ»UPn® u¸P.  

2. Write any two examples of Real Account. 

 ö\õzx PnUQØPõÚ H÷uÝ® C¸ Euõμn® u¸P.  

3. What do you mean by single Entry system? 

 JØøÓ £vÄ•øÓ Gß£øu } GÆÁõÖ AÔÁõ´? 

4. What are the steps to create a ledger using single mode?  

 JØøÓ •øÓ°À J¸ ÷£÷μmiß E¸ÁõUP ÁÈ•øÓPÒ 

¯õøÁ? 

5. Distinguish between the purchase voucher from sales 
voucher. 

 öPõÒ•uÀ μ^v¼¸¢x ÂØ£øÚ μ^øu ÷ÁÖ£kzxP.  

Sub. Code 
4BCC3C1 
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6. What is contra voucher?  

 Gvº¨£vÄ μ^x Gß£x ¯õx? 

7. Define current assets. 

 |h¨¦ ö\õzx C»UPn® u¸P.  

8. Write down the types of printing configuration options. 

 Aa_ Pmhø©¨¦ ÁøPPøÍ GÊxP.  

9. Expand ODBC. 

 ODBC ¼ß Â›ÁõUP® u¸P.  

10. What is URL?  

 URL GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Write down the steps to create a company in Tally. 

  ÷h¼°À J¸ P®ö£Û E¸ÁõUSÁuØPõÚ 

ÁÈ•øÓPøÍ GÊxP.  

Or 

 (b) Explain the Golden Rules of Accounting. 

  PnUQ¯¼ß ö£õßÚõÚ ÂvPøÍ ÂÍUQ TÖP.  

12. (a) How do you create a stock group in Tally? 

  J¸ ¦v¯ ö£õ¸Îß SÊøÁ } GÆÁõÖ 

E¸ÁõUSÁõ´? 

Or 

 (b) Explain about the Inventory Valuation in Tally. 

  ÷h¼°À \μUQ¸¨ø£ ©v¨¤kuÀ £ØÔ ÂÍUQ GÊxP.  
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13. (a) Bring out the uses Payment Voucher. 

  ö\¾zxuÀ μ^vß £¯ßPøÍ öÁÎUöPõnºP.  

Or 

 (b) Explain the Profit and Loss Report in Tally. 

  ÷h¼°À Põn¨£hUTi¯ C»õ£ |mh AÔUøPø¯ 

ÂÍUQ GÊxP.  

14. (a) How do display a cash flow statement in Tally? 

  ÷h¼°À öμõUP Kmh AÔUøP GÆÁõÖ öu›Ä 

ö\´Áõ´? 

Or 

 (b) Write a short note on Multi Accounting Printing in 
Tally. 

  ÷h¼°ß £»£i PnUQ¯À Aa_ £ØÔ ]Ö SÔ¨¦ 

GÊxP.  

15. (a) State the various uses of security control. 

  ÷hmhõUPÒ £õxPõ¨¤ß £¯ßPøÍ ÂÍUSP. 

Or 

 (b) Explain about the stock summary ratio analysis. 

  ö©õzu \μUS ÂQu £S¨£õ´ÂøÚ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the uses of accounting with Tally. 

 ÷h¼°ß PnUQ¯¼ß £¯ßPøÍ ÂÍUSP. 

17. Explain the primary group in Tally. 

 ÷h¼°ß •ußø© SÊUPøÍ ÂÍUSP. 
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18. Write down the various methods of showing Balance 

Sheet. 

 C¸¨¦{ø» SÔ¨ø£ öu›Ä ö\´ÁvÀ EÒÍ £À÷ÁÖ 

•øÓPøÍ GÊxP.  

19. Explain the Inventory Analysis Report in Tally. 

 ÷h¼°À Põn¨£hUTi¯ \μUS B´Ä AÔUøP ÂÍUSP. 

20. Discuss the process of Bank Reconciliation statement. 

 Á[Q \›UPmk® £mi¯¼ß ö\¯À•øÓPøÍ ÂÁõvUP.  

———————— 



 

  

Wk 3

A–8659   

B.Com.(CA) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Commerce with Computer Application 

C-PROGRAMMING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you meant by C-program? 

 C&ö©õÈ°ß ö£õ¸Ò GßÚ? 

2. What is variable? 

 ©õÔ GßÓõÀ GßÚ? 

3. What do you meant by constant? 

 {ø» Gß£uß ö£õ¸Ò GßÚ? 

4. Give the syntax of if...else statement. 

 if ...else AÔUøP°ß ÁõUQ¯ Aø©¨ø£ u¸P. 

5. What is modulo operator? 

 ©mk C¯USuÀ GßÓõÀ GßÚ? 

6. What is array? 

 Á›ø\ GßÓõÀ GßÚ? 

Sub. Code 
4BCC3C2 
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7. How to declare the Pointer? 

 _mi&°øÚ GÆÁõÖ {ÖÄÁx? 

8. What is storage class? 

 {øÚÁP ÁS¨¦ GßÓõÀ GßÚ? 

9. What is structure? 

 Aø©¨¦ GßÓõÀ GßÚ? 

10. Define file. 

 ÷Põ¨¦ Áøμ¯Ö. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What are the arithmetic operator? Explain with 
example. 

  A[P Pou C¯USuÀ GßÚ? ÂÍUSP Euõμnzxhß. 

Or 

 (b) Explain the character set of C-program 

  C-vmhö©õÈ°ß Cøn öuõS¨¤øÚ ÂÍUS. 

12. (a) Describe about formatted input and output 
statement. 

  EÒÏk ©ØÖ® öÁÎ±k ÁiÁ[PÎß AÔUøP°øÚ 

ÂÁ›. 

Or 

 (b) Explain about increment? Decrement Operators 

  AvP› ©ØÖ® SøÓ¢x ö\À C¯UPzvøÚ ÂÍUSP. 
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13. (a) Write a C-program for simple interest calculation. 

  GÎ¯ Ámi ÂQu® PnUQkÁøu C&vmh‰»® 

GÊxP. 

Or 

 (b) Explain the various types of arrays. 

  £À÷ÁÖ ÁøP¯õÚ Á›ø\°øÚ ÂÍUSP. 

14. (a) What is pointer? How to declare the Pointer with 

example. 

  _mi GßÓõÀ GßÚ? GÆÁõÖ _mi°øÚ {ÖÄÁx 

Euõμn® u¸P. 

Or 

 (b) Explain the user Define function. 

  £¯ß£kzxÁº ö\¯À£õmiøÚ ÂÍUSP. 

15. (a) Describe about go to statement with example. 

  A[Sö\À AÔUøP°øÚ Euõμnzxhß ÂÁ›. 

Or 

 (b) Write a note an : 

  (i) Fprintf 

  (ii) Fscanf. 

  SÔ¨¦ u¸P. 

  (i) Fprintf 

  (ii) Fscanf. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various type of data types in C-Program. 

 C-ö©õÈ°ß £À÷ÁÖ uμÄ ÁøPPøÍ ÂÍUSP. 

17. Explain the Switch statement with Example. 

 ©õØÖUSªÌ AÔUøP°øÚ Euõμnzxhß ÂÍUSP. 

18. Describe about String standard function. 

 ©oCøÇ°ß \›vmh ö\¯À£õmiøÚ ÂÁ›. 

19. Briefly Explain the Various storage classis in C-program. 

 C-&ö©õÈ°À EÒÍ £À÷ÁÖ {ønÁP ÁS¨¤øÚ 

ÂÍUP©õP ÂÁ›. 

20. Explain file Opening and Closing file in C-program. 

 C-&vmhö©õÈ°ß ÷Põ¨¦ öuõh[SÁx ©ØÖ® ÷Põ¨¦ 

•iÂøÚ ÂÍUSP. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 
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BUSINESS STATISTICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ°¯À C»UPn® ÁøμP. 

2. What is meant by interpretation of data? 

 uμÄ ÂÍUP®  GßÓõÀ GßÚ? 

3. Write a formula for Coefficient of mean deviation. 

 \μõ\› ÂÍUS® SnPzvß `zvμzøu GÊxP. 

4. What do you know about measures of dispersion? 

 ]uÓ¼ß |hÁiUøP  GßÓõÀ GßÚ? 

5. Give a short note on Scatter Diagram. 

 ì÷Pmhº Áøμ£h ]Ö SÔ¨¦ ÁøμP. 

6. What is meant by Regression Equation? 

 öuõhº¦ ÷Põk \©ß£õk  GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you mean by Chain based Index? 

 öuõhº Ai¨£øh°»õÚ AmhÁøn  GßÓõÀ GßÚ? 

8. Write a note on Fisher Ideal Index. 

 L¤åº ]Ó¢u SÔ±mk SÔ¨¦ ÁøμP. 

9. What is meant by Time series? 

 Põ»® \õº öuõhº Á›ø\  GßÓõÀ GßÚ? 

10. What do you know about link relative method? 

 EÓÂÚº •øÓ CnUP®  GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain about the various limitations of Statistics. 

  ¦ÒÎ°¯¼ß £À÷ÁÖ SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Describe about the various types of samples. 

  ©õv›PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

12. (a) Calculate Harmonic Mean from the following data. 
Size of items :  6 7 8 9 10 11

Frequency : 4 6 9 5 2 8 

  RÌPsh ÂÁμ[PÐUS íõº÷©õßPÎß \μõ\› 

PnUQkP. 

ö£õ¸mPÎß AÍÄ : 6 7 8 9 10 11

AvºöÁs : 4 6 9 5 2 8 

Or 
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 (b) Calculate Quartiles Deviation from the following 

data. 

Wages  : 30-32 32-34 34-36 36-38

Laborers : 12 18 16 14 

Wages  : 38-40 40-42 42-44  

Laborers : 12 8 6  

  RÌPsh ÂÍUPÎ¼¸¢x PõÀ©õÚ ÂÍUP® PõsP. 

T¼: 30-32 32-34 34-36 36-38

öuõÈ»õÎ: 12 18 16 14 

T¼: 38-40 40-42 42-44  

öuõÈ»õÎ: 12 8 6  

13. (a) Find out the co-efficient of correlation for the 

following data: 

Height of father (cm) 160 162 163 164

Height of son (cm) 150 152 148 149

Height of father (cm) 165 167 168  

Height of son (cm) 154 160 165  

  RÌUPsh ÂÁμ[PÎ¼¸¢x JmkÓÄUöPÊøÁ 

PnUQkP. 

u¢øu°ß E¯μ® 160 162 163 164

©PÎß E¯μ® 150 152 148 149

u¢øu°ß E¯μ® 165 167 168  

©PÎß E¯μ® 154 160 165  

Or 
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 (b) From the following information, calculate line of 

regression of y on x: 

 X Y 

Mean 40 60 

Standard Deviation 10 15 

Correlation co-efficient 0.7 

  RÌUPsh ÂÁμ[PøÍU öPõsk Y ©ØÖ® X öuõhº 

÷PõmiøÚ PnUQkP. 

 X Y 

\μõ\› 40 60 

vmhÂ»UP® 10 15 

JmkÓÄUöPÊ 0.7 

14. (a) State the limitation in the construction of index 
numbers. 

  SÔ±mk GsPÎß £À÷ÁÖ SøÓ£õkPøÍ ÂÁ›. 

Or 

 (b) Calculate consumer price index through aggregate 
expenditure method from the following data. 

Commodity Quantity  
consumed in 1996 

Price per 
unit in 1996

Price per 
unit in 2006

A 50 30 80 

B 40 40 120 

C 80 24 100 

D 100 36 150 

E 60 50 20 
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  RÌPsh ÂÁμ[PøÍU öPõsk ö©õzu ö\»Ä 

•øÓ°ß ‰»©õP ~Pº÷Áõº Âø» SÔ±mk 

PnUQkP. 

ö£õ¸mPÒ ~Pμ£mh AÍÄ 

1996 
J¸ ö£õ¸Îß 

Âø» 1996 
J¸ ö£õ¸Îß 

Âø» 2006 

A 50 30 80 
B 40 40 120 
C 80 24 100 
D 100 36 150 
E 60 50 20 

15. (a) Explain the importance of time series analysis in 
business forecasting. 

  ÁoP •ß Po¨¤À Põ»® \õº öuõh›ß 

•UQ¯zxÁzvøÚ ÂÍUS. 

Or 

 (b) Calculate three-yearly moving average of the 
following data: 

Years : 1991 1992 1993 1994 1995 1996

No. of students : 15 18 17 20 23 25 

Years : 1997 1998 1999 2000   

No. of students : 29 33 36 40   

  RÌUPsh ÂÁμ[PÎ¼¸¢x ‰ßÓõsk |P¸® \μõ\› 

PõsP. 

Á¸h® : 1991 1992 1993 1994 1995 1996

©õnÁºPÎß  GsoUøP: 15 18 17 20 23 25 

Á¸h® : 1997 1998 1999 2000   

©õnÁºPÎß  GsoUøP: 29 33 36 40   
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Distinguish between primary data and secondary data. 

 •ußø© uμÄ ©ØÖ® Cμshõ® {ø» uμÄPÎß 

÷ÁÖ£õkPøÍ ÂÍUSP. 

17. Calculate the Mean, Median and Mode for the data given 
below: 

Daily earnings : 50-53 53-56 56-59 59-62 62-65

No. of persons : 3 8 14 30 36 

Daily earnings : 65-68 68-71 71-74 74-77  

No. of persons : 28 16 10 5  

 RÌPsh ÂÁμ[PÐUS \μõ\› Cøh{ø» ©ØÖ® •Pk u¸P. 

|õÒ Á¸©õÚ® : 50-53 53-56 56-59 59-62 62-65

|£ºPÎß GsoUøP: 3 8 14 30 36 

|õÒ Á¸©õÚ® : 65-68 68-71 71-74 74-77  

|£ºPÎß GsoUøP: 28 16 10 5  

18. Ten competitors in a beauty contest are ranked by three 
judges in the following order: 

I Judge : 1 5 4 8 9 6 10 7 3 2

II Judge : 4 8 7 6 5 9 10 3 2 1

III Judge : 6 7 8 1 5 10 9 2 3 4

 Use rank correlation coefficient to discuss which pair of 
judges have the nearest approach to common tastes in 
beauty. 
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 AÇS ÷£õmi°À £zx ÷£õmi¯õÍºPÎß uμÁ›ø\°øÚ 

‰ßÖ ©v¨¥mhõÍºPÎß ©v¨¦ Á›ø\£kzu¨£mhÒÍx. 

©v¨¥mhõÍº 1 : 1 5 4 8 9 6 10 7 3 2

©v¨¥mhõÍº  2: 4 8 7 6 5 9 10 3 2 1

©v¨¥mhõÍº 3: 6 7 8 1 5 10 9 2 3 4

 C¢u AÇS ÷£õmi°À G¢u ©v¨¥mhõÍºPÎß ©v¨¦ 

JØÖø©¯õP EÒÍx Gß£uøÚ uμÁ›ø\ JmkÓÄ 

öPÊøÁU öPõsk PnUQkP. 

19. From the following data calculate price index number for 
2007 with 2006 as base by  

 (a) Laspeyre’s  

 (b) Paasche’s 

 (c) Marshall Edgeworth and  

 (d) Fisher’s ideal method: 
Commodity 2006 2007 

 Price Quantity Price Quantity
A 20 8 40 6 
B  50 10 60 5 
C 40 15 50 15 
D 20 20 20 25 

 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x 2005 ©ØÖ® 2007 UPõÚ Âø» 

SÔ±mk Gsøn ¤ßÁ¸® `zvμzøu öPõsk PõsP. 

 (A) »õì¤¯º  

 (B) L£õì÷\   

 (C) Gmä÷Áõºz ©ØÖ®  

 (D) ¤ì÷\ºì •ußø© ‰ßÖ. 

ö£õ¸mPÒ 2006 2007 
 Âø» AÍÄ Âø» AÍÄ

A 20 8 40 6 
B  50 10 60 5 
C 40 15 50 15 
D 20 20 20 25 
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20. Fit a straight line trend by the method of least squares to 

the following data: 
Year : 2002 2003 2004 2005 2006 2007

Production : 24 25 29 26 22 24 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C¸¢x }sh Põ» ÷£õUQøÚ 

SøÓ¢x ÁºUP •øÓ°À PnUQkP. 

Á¸h® : 2002 2003 2004 2005 2006 2007

EØ£zv : 24 25 29 26 22 24 

—————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is fluctuating capital? 

 ©õÖ£k® •uÀ GßÓõÀ GßÚ? 

2. Write a note on ‘Past adjustment’. 

 Ph¢u Põ»zvØPõÚ \›UPmhÀ £ØÔ SÔ¨¦ GÊxP. 

3. Give the formula : 

 (a) Average Profit Method. 

 (b) Capitalization Method. 

 `zvμ® GÊxP : 

 (A) \μõ\› C»õ£ •øÓ 

 (B) •u»õUP® •øÓ. 

4. Define ‘Goodwill’. 

 Áøμ¯Ö : ‘|Øö£¯º’. 

Sub. Code 
4BCC3C4 
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5. What is gaining ratio? 

 C»õ£ ÂQu® GßÓõÀ GßÚ? 

6. Write down any two reasons for amalgamation. 

 Tmk ÁoP {ÖÁÚ[PøÍ Cøn¨£uØPõÚ Põμn[PÒ 

H÷uÝ® CμsiøÚ GÊxP. 

7. State the meaning of compulsory dissolution. 

 Pmhõ¯U Pø»¨¦ Gß£uß ö£õ¸Ò TÖP. 

8. Make a note on ‘Insolvency of Partner’. 

 TmhõÎ ö|õi¨¦ {ø» AøhuÀ £ØÔ SÔ¨¦ ÁøμP. 

9. What is proportionate capital method? 

ÂQuõa\õμ ‰»uÚ•øÓ GßÓõÀ GßÚ? 

10. State the meaning of purchase consideration. 

 öPõÒ•uÀ ©Ö£¯ß Gß£uß ö£õ¸Ò TÖP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Rama and Bala are partners sharing profits and 
losses in the ratio of 3 : 2. From the following 
details, write up their current accounts for the year 
2008. 

 Rama  
(Rs.) 

Bala  
(Rs.) 

Capital on 1.1.2008 24,000 16,000

Current account balances on 1.1.2008 200 (Cr.) 1,000  (Dr.)

Drawings including salaries 11,000 7,600

Partner’s salaries 500 p.m. 300 p.m.

Interest on capital @ 5% ? ?

  Net profit before making adjustment for the above 
items was Rs. 12,000. 
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  μõ©õ ©ØÖ® £õ»õ TmhõÎPÒ 3 : 2 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ ¤›zxU öPõÒQßÓÚº. ¤ßÁ¸® 

ÂÁμ[PÎ¼¸¢x 2008&® BsiØPõÚ |h¨¦U 

PnUøPz u¯õ›UP. 

 μõ©õ 

(¹.) 

£õ»õ 

(¹.) 

1.1.2008&® Bsk •uÀ 24,000 16,000

|h¨¦U PnUS C¸¨¦ 

1.1.2008&À 200 (ÁμÄ) 1,000  (£ØÖ)

Gk¨¦ (\®£Í•® ÷\ºzx) 11,000 7,600

TmhõÎPÒ \®£Í® 500 p.m. 300 p.m.

•uÀ «uõÚ Ámi 5% ? ?

  C»õ£® ÷©ØPsh \›Pmh¾US •ß¦ ¹. 12,000. 

Or 

 (b) X, Y and Z are in partnership sharing profit and 
losses in the ratio of 3 : 2 : 1. Z’s share is, however, 
guaranteed by X and Y at a fixed minimum of  
Rs. 20,000. The net profits for the year ended  
31st December 2010 was Rs. 80,000. Show the profit 
and loss appropriation a/c indicating finally due to 
each partner. 

  X, Y ©ØÖ® Z TmhõÎPÒ J¸ Tmhõsø© öuõÈ¼À 

Dk£mk u[PÐøh¯ C»õ£ |mhzøu 3 : 2 : 1 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. Z GßÓ TmhõÎUS 

SøÓ¢u £m\©õP ¹. 20,000&I C»õ£©õP ÁÇ[SÁuõP 

X ©ØÖ® Y GßÓ TmhõÎPÒ EzuμÁõu® 

AÎUQßÓÚº. 2010&® Á¸h® i\®£º ©õu® Pøh] 

÷uv°À Tmhõsø© Dmi¯ {Pμ C»õ£® ¹. 80,000. 

C»õ£&|mh £QºÄ PnUS u¯õº ö\´x Pøh]¯õP 

JÆöÁõ¸ TmhõÎUS® QøhUS® C»õ£zøu 

Põs¤UPÄ®. 
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12. (a) Guhan and Maruthu are partners sharing profits 

and losses in the proportion of 3/5 : 2/5. They agreed 
to admit Kasi into partnership who is to get 1/5th 
share in the business. Kasi brings in Rs. 10,000 for 
his capital and Rs. 4,000 for the 1/5th share of 
goodwill which he acquires 3/20th from Guhan and 
1/20th from Maruthu. The profit for the first year of 
the partnership amounted to Rs. 20,000.  

  Pass journal entries. 

  SPß ©ØÖ® ©¸x  3/5 ©ØÖ® 2/5 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ £Qº¢x öPõÒQßÓÚº. AÁºPÒ Põ] 

GßÓ ¦v¯ TmhõÎø¯ 1/5 £[S ÂQuzvÀ ÷\ºzuU 

öPõÒQßÓÚº. Põ] ¹. 10,000&I •u¾UPõPÄ®  

¹. 4,000&I |Øö£¯¸UPõPÄ® (1/5 £õPzvØS) 

öPõsk Á¸QßÓõº. SPß CuØPõP 3/20 £õP® 

SPÛhª¸¢x®, 1/20 £õP® ©¸vhª¸¢x® 

ö£ÖQßÓÚº. C¢u Tmhõsø©°ß •uÀ Bsk 

C»õ£® ¹. 20,000 •uØSÔ¨÷£møh u¯õº ö\´P. 

Or 

 (b) Moorthy and Rajan were partners in a firm sharing 
profits and losses in the ratio of 7 : 3. They decided 
to admit Vinay into the firm to 1/6th share of profits. 
Goodwill account stood in their books at Rs. 60,000 
and it was  on that above date of the admission 
valued at Rs. 40,000. What is the entry for goodwill 
account to its agreed value? 

  ‰ºzv, μõáß GßÓ TmhõÎPÒ •øÓ÷¯ 7 : 3 ÂQuzvÀ 

C»õ£ £Qº¢x Á¢uÚº. AÁºPÒ ÂÚ´ Gß£Áøμ 1/6 

TmkUSa ÷\º¨£öuÚ •iÄ ö\´uÚº. HkPÎÀ 

|Øö£¯º ¹. 60,000&BPU PõmkQÓx. BÚõÀ ÷\º¨¤ß 

ö£õÊx ¹. 40,000 GÚ ©v¨¤h¨£mhx. |Øö£¯›ß 

J¨¦U öPõÒÍ¨£mh ©v¨¦US £vÄ u¸P. 
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13. (a) ‘D’ retired from partnership from Dec. 31, 2013. The 

amount due to him was Rs. 40,400. The terms of 
retirement provided for payment of Rs. 10,400 
immediately and thereafter the debt was to be paid 
in installments of Rs. 10,000 at the end of every 
year. The outstanding balance was to carry interest 
@ 10% p.a. Show D’s loan a/c. 

  ‘D’ Gß£Áº 31.12.2013 AßÖ K´Ä ö£ØÓõº. 

AÁ¸UPõÚ {¾øÁz öuõøP ¹. 40,400 K´Ä 

J¨£¢uzvß £i ¹. 10,400. EhÚi¯õPÄ®, Gg]¯ 

öuõøP ¹. 10,000 Ãu® uÁøn •øÓ°À JÆöÁõ¸ 

Bsk Pøh]°À ÁÇ[P¨£k®. JÆöÁõ¸ Bsk 

{¾øÁz öuõøPUS 10% Ámi PnUQh¨£mk  

©Ö Bsk ÁÇ[P¨£k®. ‘D’-°ß Phß PnUøP 

u¯õ›UP. 

Or 

 (b) A, B and C are in partnership sharing profit and 
loss equally. They took out a joint policy for  
Rs. 30,000 on 1.1.2011 and pay annual premium of 
Rs. 3,000. The books of account are closed on  
31st December ever year and ‘C’ died on 1.1.2012. 
The firm realized the policy amount the next day.  

  Pass necessary journal entries. 

  Tmhõsø©°¾ÒÍ A, B ©ØÖ® C BQ÷¯õº 

u[PÐøh¯ C»õ£ |mhzøu \©©õP £Qº¢x Á¢uÚº. 

AÁºPÒ ¹. 30,000&US 1.1.2011 AßÖ Cøn B²Ò 

Põ¨¥mk vmhÁn® Gkzv¸¢uÚº. ©ØÖ® Á¸h® 

÷uõÖ® •øÚ©©õP ¹. 3,000 ö\¾zvÚº. JÆöÁõ¸ 

Á¸h•® i\®£º 31&® ÷uv •iUP¨ö£Ö® ©ØÖ® ‘C’ 
Gß£Áº 1.1.2012 AßÖ C¯ØøP G´vÚõº. 

  A¢u {ÖÁÚ® vmhÁn öuõøPø¯ ©Ö|õ÷Í ÂØÖ 

wºUP¨£mhx. SÔ¨÷£mk £vÄ u¸P. 
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14. (a) The balance sheet of a firm on 31st March 2007 were 

as under : 

Liabilities  Assets  

Capitals : X 5,000 Freehold property 8,000

 Y 4,000 Investment 2,000

 Z 3,000 Book debts 1,000

Sundry creditors 2,000 Cash at bank 3,000

P & L account 1,500 Stock 1,500

 15,500  15,500

  The partnership was dissolved on the above date.  

‘X’ took over the investments at the agreed value of 

Rs. 1,900. Cash realized was : Freehold property  

Rs. 9,000. Book debts Rs. 900 and Stock Rs. 1,400. 

The creditors were paid at a discount of 5%. The 

expenses of realization came to Rs. 200. 

  Prepare realization account and final realization 

profit transferred to each partner. 

  31 ©õºa 2007 |õøÍ¯ C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ  : 

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

•uÀ : X 5,000 ¤øn¯ØÓ ö\õzx 8,000

 Y 4,000 •u½kPÒ 2,000

 Z 3,000 ¦zxP Phß 1,000

£Ø£» PhÜ¢÷uõºPÒ 2,000 Á[Q öμõUP® 3,000

C»õ£ |mh P/S 1,500 \μUQ¸¨¦ 1,500

 15,500  15,500
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  ÷©ØTÔ¯ ÷uv°À Tmhõsø© ö|õi¨¦ {ø» 

Aøh¢ux. ¹. 1,900 GßÓ ©v¨¤À •u½kPøÍ ‘X’ 

GkzxUöPõshõº. öμõUP wºÄ ¤øn¯ØÓ ö\õzx  

¹. 9,000, ÁõμõUPhß ¹. 900 ©ØÖ® \μUQ¸¨¦ ¹. 1,400 

PhÜ¢÷uõºPÐUS 5% uÒÐ£i Ai¨£øh°À 

ö\¾zu¨£mhx. ©Ö©v¨¥k ö\»Ä ¹. 200. 

©Ö©v¨¥mk P/S u¯õº ö\´x TmhõÎPÐUS ¤›zx 

uμ ÷Ási¯x ©Ö©v¨¥mk »õ£zøuU PõsP. 

Or 

 (b) Explain the value in Garner Vs Murray. 

  PõºÚº Vs ÷©õ÷μ Âv°øÚ ÂÁ›. 

15. (a) X, Y and Z share profits and losses in the ratio of 

1/2, 1/3 and 1/6. Their balance sheet is as follows : 

Liabilities  Assets  

Capitals : X 6,000 Asset less liability 16,000

 Y 6,000  

 Z 4,000  

 16,000  16,000

  The partnership was dissolved and the assets 

realized as follows : 

  1st realization Rs. 2,000; 2nd realization Rs. 3,000 

and 3rd and final realization Rs. 5,000. 

  Prepare a statement showing how the distribution 

should be made. 
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  X, Y ©ØÖ® Z BQ÷¯õº C»õ£® ©ØÖ® |mhzøu 1/2, 

1/3 ©ØÖ® 1/6 GßÓ ÂQuzvÀ £[RmkU öPõÒÐ® 

TmhõÎPÒ. AÁºPÎß C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ  : 

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

‰»uÚ® : X 6,000 {Pμ ö\õzxUPÒ 16,000

 Y 6,000  

 Z 4,000  

 16,000  16,000

  Tmhõsø© Pø»UP¨£mhx, Auß ö\õzxUPÒ 

¤ßÁ¸® öuõøP°øÚ DmiÚ. •uÀ uÁøn ¹. 2,000 

2&® uÁøn ¹. 3,000 ©ØÖ® 3&® ©ØÖ® CÖv uÁøn 

¹. 5,000 öuõøPø¯ £QºuÎUS® £mi¯À JßÔøÚz 

u¯õº ö\´P. 

Or 

 (b) Explain the steps involved in conversion of firm into 
company. 

  {ÖÁÚzøu, {Ö©©õP ©õØÖÁvÀ EÒÍh[Q¯ 

£i{ø»PøÍ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the accounting treatment to be followed by 
interest on drawings? Explain. 

 Gk¨¦ «x Ámi°À PnUQh¨£k® ö£õÊx ¤ß£ØÓ¨£k® 

PnUQÀ ÂvPÒ ¯õøÁ? ÂÍUSP. 
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17. A and B are partners sharing profits in the ratio of 3 : 2. 

Following in the balance sheet of the firm as on  
31st March 2012. 

Liabilities  Assets  
Creditors 38,000 Cash in hand 10,000

Salary outstanding 12,000 Debtors 40,000

Capitals :  
 A 40,000

(–) Provision for doubtful 
debts 4,000 36,000

 B 38,000 Bills receivable 15,000

 Stock 18,000

 Investments 14,000

 Furniture 5,000

 Buildings 30,000

 1,28,000  1,28,000

 At this data (when ‘C’ is admitted) it is found that  
 (a) The estimated value of provision for doubtful debts 

is Rs. 6,500. 
 (b) Furniture is valued as Rs. 4,500 and Building as  

Rs. 45,000. 
 (c) An investment not recorded in the books in worth 

Rs. 4,300. 
 (d) A contingent liability of Rs. 1,200 has become a 

certain liability. 
  Prepare revaluation account, capital account and 

show the balance sheet after making all adjustments. 

 A ©ØÖ® B GÝ® TmhõÎPÒ C»õ£zvøÚ 3 : 2 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. ©õºa 31, 2012 AßÖÒÍ 

C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

PhÜ¢÷uõºPÒ 38,000 øP°¸¨¦ öμõUP® 10,000

öPõk£h ÷Ási¯ 

\®£Í® 

12,000 PhÚõÎPÒ 40,000

•uÀ :  

 A 40,000

(–) I¯UPhÝUPõÚ 

JxUS 4,000 36,000

 B 38,000 ö£ÖuØS›¯ 15,000
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ö£õÖ¨¦PÒ  ö\õzxUPÒ  

©õØÖa^mk 

 \μUQ¸¨¦ 18,000

 •u½kPÒ 14,000

 AøÓP»ß 5,000

 Pmih® 30,000

 1,28,000  1,28,000

 C÷u |õÎÀ (C ÷\ºzxU öPõÒÍ¨£mh ÷£õx) ¤ßÁ¸ÁÚ 

Psk¤iUP¨£mhÚ. 

 (A) I¯UPhÝUPõÚ JxUS ¹. 6,500 GÚ Gvº£õºUP¨£mhx 

 (B) AøÓP»ß ¹. 4,500 GÚÄ®, Pmih® ¹. 45,000 GÚÄ® 

©v¨¤h¨£mhx 

 (C) HkPÎÀ £v¯¨£hõu •u½kPÒ ¹. 4,300 

 (D) ¹. 1,200 ©v¨¦ÒÍ {a\¯©ØÓ ö£õÖ¨¦, EÖv¯õÚ 

ö£õÖ¨£õP ©õÔ¯x 

  ©Ö©v¨¥mk PnUS, •uÀ PnUS ©ØÖ® ÷©ØTÔ¯ 

\›UPmh¾US ¤ß EÒÍ C¸¨¦{ø»U SÔ¨¤øÚ 

PõmkP. 

18. The two firms P & Q and R & S agreed to amalgamate 
their business. Their positions as on 31.12.2011 : 

P & Q  R & S P & Q R & S
Liabilities 

    
Assets 

  
Creditors 1,04,000  52,000 Bank 1,56,000 65,000

Capital : P 1,82,000  — Debtors 1,30,000 1,04,000

 Q 1,30,000  — Stock 42,000 26,000

 R —  91,000 Building 78,000 —

 S —  65,000 Furniture 10,000 13,000

 4,16,000  2,08,000  4,16,000 2,08,000
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 Creditors and debtors were not taken over by the new 

firm PQRS. Building was retained by P and Q but new 
firm agreed to pay a monthly rent of Rs. 400. The cash 
required for working of the new firm was estimated at  
Rs. 1,30,000 to be provided by the partners in their new 
profit sharing proportions as under : 

 P : ,
10
3

 Q : 
10
3

, R : 
10
2

, S : 
10
2

. 

 (a) Close the books of P and Q and R and S. 

 (b) Give the opening balance sheet of PQRS. 

 P ©ØÖ® Q {ÖÁÚ® ©ØÖ® R ©ØÖ® S {ÖÁÚ® GßÝ® 

Cμsk Tmhõsø©²® JßÓõP Cøn¯ •iöÁkzuÚ. 

AÁºPÐøh¯ {ø» 31.12.2011 AßÖ : 

P & Q  R & S P & Q R & S
ö£õÖ¨¦PÒ 

    
ö\õzxUPÒ

  

PhÜ¢÷uõº 1,04,000 52,000 Á[Q 1,56,000 65,000

•uÀ : P 1,82,000 — PhÚõÎPÒ1,30,000 1,04,000

 Q 1,30,000 — \μUS 42,000 26,000

 R — 91,000 Pmih® 78,000 —

 S — 65,000 AøÓP»ß 10,000 13,000

 4,16,000 2,08,000  4,16,000 2,08,000

 ¦v¯ {ÖÁÚ® (PQRS) PhÜ¢÷uõøμ²®, PhÚõÎPøÍ²® 

GkzxU öPõÒÍÂÀø». Pmih® P ©ØÖ® Q-°h÷© 

C¸US®. BÚõÀ ¦v¯ {Ö©® AuØPõÚ ©õu ÁõhøP ¹. 400 

ö\¾zu J¨¦U öPõshx. ¦v¯ Tmhõsø©ø¯ |hzu Auß 

TmhõÎPÒ ö©õzu©õP ¹. 1,30,000&I BS® GÚ 

vmhªh¨£mk ¦v¯ C»õ£ £QºÄ RÌPshÁõÖ •iÄ 

ö\´¯¨£mhx.  

 P : ,
10
3

 Q : 
10
3

, R : 
10
2

, S : 
10
2

 

 (A) P, Q ©ØÖ® R, S-ß PnUSPøÍ •iÄUSU öPõsk 

ÁμÄ® 

 (B) ¦v¯ Tmhõsø©°ß (PQRS)--&Cß C¸¨¦{ø»U 

SÔ¨ø£ u¯õ›UP. 
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19. Karthik, Sankar and Sekar were partners sharing in the 

ratio of 2 : 2 : 1. On 31st December 2013 the partnership 
was dissolved. Balance Sheet as on that date is as follows : 

Liabilities  Assets  
Creditors 11,200 Bills receivable 1,250

Bills payable 2,000 Furniture 1,200

Bank loan 12,000 Cash in hand 500

Capitals : Karthik 6,000 Debtors 12,500

 Sankar 4,000 Goodwill 1,500

 Sekar 3,000 Plant 21,250

 38,200  38,200

 The following amounts were realized : Goodwill Rs. 7,500; 
10% of debtors becomes bad debts; Bills receivable  
Rs. 1,200; Plant Rs. 17,750; Karthik took furniture at 
book value; Bills payable were met before due date 
earning a discount of Rs. 100. The bank loan was paid off 
including interest Rs. 200. The creditors were settled for 
Rs. 10,700.  

 Prepare necessary ledger accounts. 

 PõºzvU, \[Pº ©ØÖ® ÷\Pº Gß£ÁºPÒ 2 : 2 : 1 GÝ® 

ÂQuzvÀ £[RmkU öPõÒÐ® TmhõÎPÒ, 31 i\®£º 2013 

|õÍßÖ Tmhõsø© Pø»UP¨£mhx. A¢|õøÍ¯ C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

PhÜ¢÷uõº 11,200 ö£.©õ.^mk 1,250

ö\.©õ. ^mk 2,000 AøÓP»ß 1,200

Á[Q Phß 12,000 øP°¸¨¦ öμõUP® 500

•uÀPÒ : PõºzvU 6,000 PhÚõÎPÒ 12,500

 \[Pº 4,000 |ß©v¨¦ 1,500

 ÷\Pº 3,000 ö£õÔ 21,250

 38,200  38,200
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 ¤ßÁ¸® öuõøPPÒ wºÁõÚx  : |ß©v¨¦ ¹. 7,500,  

10% PhÚõÎPÒ ÁõμõUPhß BÚx. ö£ÖuØS›¯ ©õØÖa^mk 

¹. 1,200, ö£õÔ ¹. 17,750, PõºzvU AøÓP»øÚ ¦zuP 

©v¨¤À GkzxU öPõshõº. ö\¾zxuØS›¯ ©õØÖa^mk 

uÁøn |õÐUS •ß£õPa ö\¾zv ¹. 100 uÒÐ£i 

Dmi¯x. Á[QU Phß Ámi ¹. 200 ÷\ºzx ö\¾zu¨£mhx. 

PhÜ¢÷uõ¸US ¹. 10,700 ö\¾zv •iUP¨£mhx. 

÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍz u¯õ›UP. 

20. A and B are in partnership sharing profits and losses as 
2/3 and 1/3 respectively. Their balance sheet as on 31st 
December 2012, on which date they have agreed to 
convert their business into a private limited company is 
as follows : 

Liabilities  Assets  
Sundry creditors 30,000 Cash 7,000

Mortgage on 
business premises 

10,000 Sundry debtors 26,000

Capital : A 20,000 Stock 16,000

 B 10,000 Plant and Machinery 5,000

  Business premises 16,000

 70,000  70,000

 The company takes over all the assets and liabilities with 
the exception of the mortgage on business premises, the 
purchase price being Rs. 60,000 payable is to Rs. 12,000 
in cash, Rs. 24,000 in debentures and the balance in 
equity shares of the company. 

 Close the books of the firm after the above transactions 
have been carried out including the payment of mortgage 
on business premises. The partners agents to share the 
debentures and shares in proportions of their capitals. 
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 A ©ØÖ® B BQ¯ C¸ TmhõÎPÒ C»õ£ |mh[PøÍ  

2/3, 1/3 GßÓ ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. i\®£º 31, 

2012 AßÖ AÁºPÒ {ÖÁÚzvß ÁoPzøu uÛ¯õº 

{Ö©©õP ©õØÖÁuØS J¨¦U öPõshÚº. A÷u |õÍßÖ 

EÒÍ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 
ö£õÖ¨¦PÒ  ö\õzxUPÒ  

£Ø£» PhÜ¢÷uõºPÒ 30,000 öμõUP® 7,000

ÁoP ÁÍõPzvß  

«uõÚ Ah©õÚ® 

 

10,000 

£Ø£» PhÚõÎPÒ 

\μUQ¸¨¦ 

26,000

16,000

•uÀPÒ : A 20,000 ö£õÔ ©ØÖ® 

 B 10,000 C¯¢vμ® 5,000

  ÁoP ÁÍõP® 16,000

 70,000  70,000

 ÁoP ÁÍõPzvß «uõÚ Ah©õÚ® uÂμ, AøÚzx 

ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ {Ö©® öPõÒ•uÀ 

Âø»¯õÚ ¹. 60,000&US GkzxU öPõshx. CuøÚ öμõUP 

£n©õP ¹. 12,000 Phß £zvμ©õP ¹. 24,000 ©ØÖ® «vz 

öuõøPUS {Ö©zvß \õuõμn¨ £[SPÍõPÄ® ö\¾zv¯x. 

 ÷©ØPsh |hÁiUøPPÐhß ÁoP ÁÍõPzvß «xÒÍ 

Ah©õÚ® ö\¾zxuø»²® GkzxU öPõsk {ÖÁÚzvß 

HkPøÍ •izxU öPõÒÍÄ®. TmhõÎPÒ Phß £zvμ[PÒ 

©ØÖ® £[SPøÍ AÁºPÎß •uÀ ÂvzvÀ £Qº¢x 

öPõÒÁuØS J¨¦U öPõshÚº. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Application 

E-COMMERCE AND INTERNET  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1.  What is E-Commerce? 

 ªß ÁºzuP® GßÓõÀ GßÚ? 

2. What do you mean by Media Convergence? 

 FhP SÂuÀ £ØÔ } AÔÁÚ ¯õx? 

3. Write short note on Hypertext publishing. 

 «Eøμ öÁÎ°kuÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. What is Electronic Payment System? 

 ªßÚq ö\¾zx® •øÓ GßÓõÀ GßÚ? 

5. What is Electronic Data Interchange? 

 ªßÚq uPÁÀ £Ô©õØÓ® GßÓõÀ GßÚ? 

6. What is WAN? 

 WAN GßÓõÀ GßÚ? 

Sub. Code 
4BCC4C1 
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7. Define Internet. 

 Cøn¯® Áøμ¯Ö. 

8. What is meant by Cable modem? 

 ÷P¤Ò ÷©õh® GßÓõÀ GßÚ? 

9. Expand the following :  

 (a)  ISDN  

 (b)  DSL. 

 CøÁPÐUS Â›ÁõUP® u¸P :  

 (A)  ISDN  

 (B)  DSL. 

10. What is Search engine? 

 ÷uk® C¯¢vμ® GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) State any five applications of E-commerce in 
business. 

ªß ÁºzuPzvß H÷uÝ® I¢x £¯ß£õkPøÍ ÂÁ›. 

Or 

 (b)  Briefly explain about Network Access Equipment. 

   ¤øn¯ AqPÀ E£Pμn[PÒ £ØÔ _¸UP©õP ÂÁ›. 

12. (a) Explain the digital token based Electronic Payment 
System. 

Gso»UP Aøh¯õÍ® Ai¨£øh°»õÚ ªßÚq 

ö\¾zx® •øÓø¯ ÂÍUSP. 

Or 
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 (b)  Discuss the client-server structure of the web. 

   Cøn¯Áø»°ß client-server structure £ØÔ 

ÂÁõvUPÄ®. 

13. (a) Explain any two EDI applications in Business. 

  ÁoPzvÀ EDI £¯ß£õk H÷uÝ® Cμsøh ÂÍUSP. 

Or 

 (b)  State the features of Corporate Data warehouses. 

   Â¯õ£õμ ÂÁμ ÷\ª¨¤ß ]Ó¨¦ C¯À¦PøÍ ÂÁ›. 

14. (a) What are the various Software requirement of 
Internet? 

Cøn¯zvß PoÛ ö©ßö£õ¸Îß ÷uøÁPÒ ¯õx? 

Or 

 (b)  What are the various Hardware requirement of 
Internet? 

   Cøn¯zvÀ PoÛ Áßö£õ¸Îß ÷uøÁPÒ ¯õx? 

15. (a) What is E-Mail? What are its uses? 

  ªß Ag\À GßÓõÀ GßÚ? Auß £¯ßPÒ ¯õx? 

Or 

 (b)  Explain about the Cookies. 

   SURì £ØÔ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly explain the various applications of E-commerce. 

 ªß ÁºzuPzvß £À÷ÁÖ £¯ß£õkPøÍ _¸UP©õP ÂÁ›. 
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17. What are the technologies behind the web? 

 Cøn¯Áø»US ¤ß C¸UPTi¯ öuõÈÀ~m£[PÒ ¯õøÁ? 

18. What are the types of Digital documents? 

 Gso»UP BÁn[PÎß ÁøPPÒ ¯õøÁ? 

19. Explain in detail about the Internet Service provider. 

 Cøn¯ ÷\øÁ ÁÇ[S|º £ØÔ Â›ÁõP ÂÍUSP. 

20. Enumerate the Multimedia controls in Web design. 

 Cøn¯ ÁiÁø©¨¤À £À•P FhPzvß Pmk£õkPÒ 

SÔzx ÂÍUSP. 

———————— 
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B.Com (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Application 

C++ PROGRAMMING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Name any two Concepts of OOPs? 

 OOPs ß C¸ P¸zxUPÎß ö£¯ºPøÍ GÊxP. 

2. Define Identifier. 

 Identifier – SÔ¨¤kP. 

3. Define Class. 

 Class I SÔ¨¤kP. 

4. Explain Friend Function with example. 

 Friend Function I GkzxUPõmkPÐhß ÂÁ›. 

5. What do you mean Constructor? 

 Constructor GßÓõÀ GßÚ? 

6. Define Copy Constructor. 

 Copy Constructor I SÔ¨¤kP. 

Sub. Code 
4BCC4C2 
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7. What do you mean by Operator Overloading? 

 Operator Overloading GßÓõÀ GßÚ? 

8. Write an example for Multilevel Inheritance. 

 Multilevel Inheritance US GkzxUPõmk u¸P. 

9. What is Virtual Function? 

 Virtual Function GßÓõÀ GßÚ? 

10. State Pointer with example. 

 Pointer I GkzxUPõmkPÐhß SÔ¨¤kP. 

 Part B (5  5 = 25) 

Answer all questions 

11. (a) Discuss Various types of expressions in C++. 

   C++  ß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

Or 

 (b) Describe the call by reference with example. 

   The call by reference I GkzxPõmkPÐhß ÂÁ›UP. 

12. (a) Explain with example Static Data Members and 
Static Member Function. 

  Static Data Members ©ØÖ® Static Members 
Function I uS¢u GkzxUPõmkPÐhß ÂÁ›. 

   

Or 

 (b) Elucidate various class member accessibility with 
suitable example. 

   £À÷ÁÖ ÁøP¯õÚ class member accessibility I 

uS¢u GkzxPõmkPÐhß ÂÁ›. 
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13. (a) Illustrate with simple example Program using 
Constructor. 

   Constructor £¯ß£kzx® •øÓø¯ GÎ¯ 

GkzxPõmkPÐhß u¸P. 

Or 

 (b) Examine with simple example Program using Copy 
Constructor. 

   Copy Constructor  £¯ß£kzx® •øÓø¯ GÎ¯ 

GkzxUPõmkPÐhß B´P. 

14. (a) Write short notes on Type Conversion. 

   Conversion  ÁøPø¯ £ØÔ ]Ö SÔ¨¦ u¸P. 

Or 

 (b) What is Single Inheritance? Explain. 

   Single Inheritance GßÓõÀ GßÚ? ÂÍUSP. 

15. (a) What are C++ Stream Classes? Explain. 

   C++ Stream Classes PÒ GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) Characterize Briefly on Virtual Function with 
example. 

   Virtual Function £s¦PøÍ GkzxUPõmkPÐhß 

ÂÍUSP. 

 Part C  (3  10 = 30) 

 Answer any three questions. 

16. Explain different types of Operators used in C++ with 
example. 

 C++ ß £À÷ÁÖ ÁøP¯õÚ Operators PøÍ 

GkzxUPõmkPÐhß ÂÁ›. 
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17. Examine Suitable Classes and Write a C++ Program to 
prepare Mark List for all students in a class. 

uS¢u ÁS¨ø£ B´P ©ØÖ® C++  •øÓ°À J¸ ÁS¨¤ß 

AøÚzx ©õnõUPºPÐUS® ©v¨ö£s £mi¯À u¯õ›US® 

•øÓø¯ GÊxP. 

18. Illustrate with example Default Arguments. 

 C¯À¦{ø» Áõu[PøÍ GkzxUPõmkPÐhß ÂÁ›. 

19. Elucidate with example Binary Operator Overloading. 

 Binary Operator Overloading I GkzxUPõmkPÐhß 

ÂÁõv. 

20. Describe any four Manipulators  with example. 

 Manipulators |õßøP¨ £ØÔ GkzxUPõmkPÐhß ÂÁ›. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY – IV  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. Write a short note on sub-contracts. 

 xøn J¨£¢u® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. Define Minimum rent. 

 SøÓ¢u£m\ ÁõhøP Áøμ¯Ö. 

4. Write a short note on Sub-Lease. 

 xøn SzuøP £ØÔ J¸ SÔ¨¦ ÁøμP. 

5. What is Hire Purchase Price? 

 ÁõhøP öPõÒ•uÀ Âø» GßÓõÀ GßÚ? 

Sub. Code 
4BCC4C3 
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6. Define Repossession. 

 £ØÖ Eøhø© Áøμ¯Ö. 

7. Who is Insolvent? 

 ö|õizuÁº Gß£Áº ¯õº? 

8. Write a short on Preferential creditors. 

 •ßÝ›ø© PhÜ¢÷uõº £ØÔ ]Ö SÔ¨¦ ÁøμP. 

9. What Do You Mean By Dept. a/c?  

 xøÓÁõ› P/S Gß£x ¯õx? 

10. Write a short on Inter Dept. transfer fund. 

 xøÓPÎUQøh÷¯¯õÚ £›©õØÓ {v £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5  5 = 25) 

Answer all questions. choosing either (a) or (b). 

11. (a) The following is the summary of transactions as on 
31.12.91, relating to a special contract completed 
during the year. 

                                               Rs. 

  Material bought from the market 1,500 

  Material issued from the stores 500 

  Wages    2,440 

  Direct expenses   294 

  Works on cost – 25% of direct wages 

  Office on cost – 10% of prime cost 

  Contract price – Rs. 6,000 

  You are required to prepare a contract a/c. keeping 
in view that material returned amounted to Rs. 240. 
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RÌUPsh |hÁiUøPPÒ ]Ó¨¦ J¨£¢u® ‰»® 

31.12.91 |õÍßÖ •iÄ ö£ØÖÒÍx ÂÁμ[PÒ 

¤ßÁ¸©õÖ. 

                                                        ¹. 

  ‰»¨ö£õ¸ÒPÒ \¢øu°À Áõ[Q¯x  1,500 

  ÂØ£øÚ Thzv¼¸¢x  ‰»¨ö£õ¸ÒPÒ   

  Áõ[P¨£mhx    500 

  T¼     2,440 

  ÷|μi ö\»ÄPÒ   294 

  ÷Áø»°ß «x ö\»Ä – 25% ÷|μi ö\»ÄPÒ 

  A¾Á»Pa ö\»Ä – 10% •ußø© ö\»Ä 

  J¨£¢u Âø» – ¹. 6,000 

  ‰»¨ö£õ¸ÒPÒ v¸¨¤ AÝ¨£¨£mhx ¹. 240 

  J¨£¢uU PnUS u¯õº ö\´P. 

Or 

 (b)  Explain the various types of contracts. 

   £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PÒ £ØÔ ÂÍUSP. 

12. (a) Explain the Methods of Recoupment. 

  «Ò v¸¨¦ ÁÈ•øÓPÒ £ØÔ ÂÍUSP. 

Or 

 (b)  Ravi took a colliery on lease. The dead rent was 
Rs.7,580 a year. Merging into a royalty of 35 paise 
per tonne of coal raised, with the right to recover 
shortworking out of royalties of two subsequent 
years from the period in which the shortworkings 
arose. The output raised were : 
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  I  Year  –  1,000 tonnes  

  II Year  –  1,500 tonnes  

  III Year  – 2,500 tonnes 

  IV Year  –  1,500 tonnes 

  V Year  –  1,000 tonnes 

  Give necessary ledger A/c for each of the five years 
in the books of Ravi. 

  μÂ Gß£Áº _μ[Pzøu SzuøPUS Gkzx ÁõhøP  

¹. 7,580 BskUS ö\¾zv²ÒÍõº. E›ø©¯õÚx 

JßÔøn¨£uß ‰»® {»UP› 35 ø£\õ (hß JßÖUS) 

E¯º¢xÒÍx ©ØÖ® SøÓ EØ£zv «m¦ •uÀ Cμsk 

BskPÎÀ \› ö\´¯¨£kQÓx. EØ£zv ÂÁμ® : 

  •u»õ® Bsk  –  1,000 hß  

  Cμshõ® Bsk –  1,500 hß 

  ‰ßÓõ® Bsk – 2,500 hß 

  |õßPõ® Bsk –  1,500 hß 

  I¢uõ® Bsk  –  1,000 hß 

  μÂ Gß£Á›ß I¢x Á¸h[PÐUPõÚ E›ø©z öuõøP 

P/S ÷£÷μmk¨ £vÄPøÍ u¸P. 

13. (a) Describe the Main features of Hire Purchases 
system. 

ÁõhøP öPõÒ•u¼À EÒÍ ]Ó¨¦ A®\[PÒ £ØÔ 

ÂÍUSP. 

Or 

 (b) Mr. X Purchased a machine on hire purchases 
system Rs.3,000 being paid on delivery and the 
balance in five instalments of Rs.6,000 each, 
payable annually on 31st December. The cash price 
of the machine was Rs.30,000. Calculate the amount 
of interest for each year. 



A–8664 

  

  5

Wk ser
  v¸. X Gß£Áº J¸ C¯¢vμzøu ÁõhøP öPõÒ•uÀ 

•øÓ°À ¹. 3,000 ö\¾zv Áõ[Q²ÒÍõº ©ØÖ® 

«u•ÒÍ öuõøPø¯ I¢x uÁøn •øÓ°ß 

Ai¨£øh°À JÆöÁõ¸ uÁøn°¾® ¹. 6,000 

Á¸h¢÷uõÖ® i\®£º 31 ö\¾zxQÓõº. A¢u 

C¯¢vμzvß öμõUP ©v¨¦ ¹. 30,000 BS®. JÆöÁõ¸ 

Á¸h•® Ámi PnUQøÚ u¯õº ö\´P. 

14. (a) What are preferential creditors in the following 
liabilities of insolvent Bhupesh according to 
Presidency Towns Insolvency Act and Provincial 
Insolvency Act? 

                                              Rs. 

  3 month’s salary for 10 clerks 3,600 

  One month wages of 12 labourer’s 1,600 

  Sales Tax    400 

  3 Months rent of landlord 600 

  Income Tax   1,000 

  Wages of four servants  1,400 

  Salaries    1,000 

  Municipal Tax   400 

  Wages    6,000 

  §÷£è Gß£Áº ö|õi¨¦ {ø» Aøh¢xÒÍõº, 

áÚõv£v  |Pμ vÁõÀ ußø© \mh® ©ØÖ® ©õPõn 

vÁõÀ ußø© \mhzvß £i ö£õÖ¨¦PÎ¼¸¢x, 

•ßÝ›ø© PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯øÁPøÍ 

PnUQkP. 
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                                                         ¹. 

  10 GÊzu¸US ‰ßÖ ©õu[PÐUS \®£Í® 3,600 

  12 öuõÈ»õÍ¸US J¸ ©õu® T¼¯õP   

  uμ¨£kQÓßÓx   1,600 

  ÂØ£øÚ Á›   400 

  {» E›ø©¯õÍ¸US ‰ßÖ ©õu ÁõhøP 600 

  Á¸©õÚ Á›   1,000 

  |õßS ÷Áø»¯õmPÐUS T¼ 1,400 

  \®£Í®    1,000 

  |Pμõm] Á›   400 

  T¼     6,000 

Or 

 (b)  Difference between Balance sheet and statement of 
Affairs. 

   C¸¨¦{ø» SÔ¨¦US®, ÂÁμ AÔUøPUS® EÒÍ 

÷ÁÖ£õkPøÍ TÖP. 

15. (a) Explain the Advantages of Dept. Accounting. 

  xøÓ PnUQ¯¼ß |ßø©PÒ £ØÔ ÂÍUSP. 

Or 

 (b) There are five departments in a concern. The total 
indirect expenses amounted to Rs. 12,000. One-sixth 
of expenses are to be divided equally to all the five 
departments. The remaining expenses are to be 
shared in the ratio of sales. Sales of various 
departments were as follows : 
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   Department A  – Rs. 50,000 

   Department B  – Rs. 40,000 

   Department C  – Rs. 30,000 

   Department D  – Rs. 20,000 

   Department E  – Rs. 60,000 

  Show the allocation of indirect expenses. 

   J¸ {ÖÁÚzvÀ I¢x xøÓPÒ EÒÍx, Auß ö©õzu 

©øÓ•P ö\»ÄPÒ ¹. 12,000 Aøu I¢x xøÓPÐ® 

\©©õP £Qº¢x öPõÒQßÓÚº 1/6 GßÓ Ai¨£øh°À 

ö\»ÄPøÍ ÷©ØöPõÒQßÓÚº «u•ÒÍ ö\»Äz 

öuõøPø¯ ÂØ£øÚ ÂQu® •øÓ°À ö\´QßÓÚº. 

xøÓPÎß ÂØ£øÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

   xøÓ A   – ¹. 50,000 

   xøÓ B   – ¹. 40,000 

   xøÓ C   – ¹. 30,000 

   xøÓ D  – ¹. 20,000 

   xøÓ E   – ¹. 60,000 

   ÷©ØPsh ÂÁμ[PøÍ öPõsk ©øÓ•P ö\»ÄPøÍ 

GÆÁõÖ £Qº¢uÎUP¨£k® Gß£øu PnUQkP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Following expenses were incurred by a contractor on a 
contract which he started on 1st January. 

 Rs.  Rs. 

Materials 40,000 Work certified 1,20,000 

Wages 50,000 Work uncertified 60,000 

Other expenses 15,000 Materials on hand (31 Dec.) 11,000 
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 Rs.  Rs. 

Plant at cost 50,000 Plant value at close 43,000 

Cash received from  Material returned to stores 2,000 

Contracted 1,00,000   

 Prepare contract a/c assuming that the contract price was 
Rs. 3,50,000. How will work-in-progress appear in the 
balance sheet of the contractor? 

 J¨£¢u©õÚx áÚÁ› 1 À ÷©ØöPõÒÍ¨£mk, J¨£¢uPõμ›ß 

ö\»ÄPÒ ÂÁμ[PÒ uμ¨£mkÒÍx. 

 ¹.  ¹. 

‰»¨ö£õ¸ÒPÒ 40,000 \õßÓÎUP¨£mh £o 1,20,000

T¼ 50,000 \õßÓÎUP¨£hõu £o 60,000

Cuμ ö\»ÄPÒ 15,000 ‰»¨ö£õ¸mPÒ 

øP°¸¨¦ (i\®£º 31) 

11,000

Bø»PÒ 50,000 Bø»°ß CÖv ©v¨¦ 43,000

J¨£¢u® 

HØ£kzv¯Á›hª¸¢x  

 ÂØ£øÚ ThzvØS 

v¸¨¤  

ö£ØÓ öμõUP® 1,00,000 AÎUP¨£mh 

‰»¨ö£õ¸ÒPÒ 2,000

 J¨£¢uzvß ö©õzu ©v¨¦ ¹. 3,50,000. J¨£¢uPõμº 

C¸¨¦{ø»U SÔ¨¤À ÷Áø» |h¢x öPõsi¸US® 

ÂÁμzvøÚ u¯õ›UPÄ® ©ØÖ® J¨£¢u P/S u¯õº ö\´P. 

17. A company acquired lease ola mine at a minimum rent of 
Rs. 10,000 pa. The royalty was fixed at Re.0.50 per tonne. 
Shortworkings could be recouped within three years 
following the year in which the shortworkings occur. If 
there is stoppage of production due to strike in any year, 
the minimum rent world be proportionately reduced in 
regard to the length of the stoppage. 
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 The output (in tonnes) of the mine was as follows : 

   1978 8,000  

   1979 12,500  

   1980 21,500  

   1981 26,000 

   1982 17,000 (Strike) 

   1983 30,000 

 During 1982, there was strike lasting for 3 months. Show 
the necessary ledger accounts for each of the years in the 
books of the company. 

 J¸ {»UP› P®ö£Û GkUP¨£mh {»UP›°ß JÆöÁõ¸ 

hßÝUS® 50 ø£\õ Ãu® E›ø©z öuõøPø¯ ö\¾zuUTi¯ 

J¸ _μ[Pzvß SzuøPPõμº BÁõº. SøÓ¢u£m\ ÁõhøP 

BskUS ¹. 10,000 BS®. SøÓ EØ£zvø¯ SzuøP°ß 

•uÀ ‰ßÖ BskPÎÀ «mS® E›ø©ø¯²® ö£ØÖÒÍx. 

£À÷ÁÖ Á¸h[PÒ EØ£zv ÷Áø»{Özu® 

|øhö£ØÖÒÍx, AÆÁ¨ö£õÊx HØ£k® ÷Áø» 

{ÖzuzuõÀ SøÓ¢u£m\ ÁõhøP¯õÚx SøÓ¢xÒÍx. 

 {»UP› Gkzu ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

   1978   8,000 hßPÒ  

   1979  12,500 hßPÒ  

   1980  21,500 hßPÒ  
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   1981  26,000 hßPÒ 

   1982  17,000 (÷Áø» {Özu®) hßPÒ 

   1983  30,000 hßPÒ 

 1982 ® Á¸h® ‰ßÖ ©õu[PÒ ÷Áø» {Özu® 

÷©ØöPõÒÍ¨£mhx. P®ö£Û°ß JÆöÁõ¸ Á¸hzvß 

÷£÷μmk¨ £vÄPøÍ u¸P.  

18. Knight purchased a truck for Rs. 1,60,000 from S.Waugh 
on 1.1.93 payment to be made Rs.40,000 down and 
Rs.46,000 at the end of first year,Rs.44,000 at the end of 
second year and Rs.42,000 at the end of third year. 
Interest was charged at 5% Knight depreciates the truck 
at 10% per annum on written down value method. 

 Knight, after having paid down payment and first 
instalment at the end of the first year. could not pay 
second instalment. The seller took possession of the 
truck, and after spending Rs.4,000 on repairs of the asset, 
sold it away for Rs.91,500. 

 Give journal entries and ledger accounts in the books of 
knight. 

 ø|m Gß£Áº Gì. ÁõUQhª¸¢x 1.1.93 À ÁõhøP 

öPõÒ•uÀ •øÓ°À Bμ®£zvÀ ¹. 40,000 ö\¾zu¨£h 

÷Ásk®, ©ØÖ® •uÀ Á¸h® ¹. 46,000, CμshõÁx 

Á¸h® ¹. 44,000 ©ØÖ® ‰ßÓõ® Á¸h® ¹. 42,000 

ö\¾zvÚõº. SøÓ¢x ö\À •øÓ°À BsiØS 10% 

÷u´©õÚ® ÷£õUöPÊvÚº, 5% Ámi PnUQh¨£mhx. ø|m 

Gß£Áº •uÀ BsiÖv°À ö\¾zu ÷Ási¯ uÁønø¯ 

ö\¾zvÚõº, BÚõÀ Akzu uÁønø¯ ö\¾zu 

C¯»ÂÀø». iμUQß £Êx £õº¨¤ØPõP ¹. 4,000 I ö\»Ä 

ö\´u ÁõhøP ÂØ£øÚ¯õÍº, AuøÚ ¹. 91,500 US ÂØÓõº. 

ø|m GßÁμx SÔ¨÷£mk¨ £vÄPÒ ©ØÖ® ÷£÷μmk¨ 

£vÄPøÍ u¯õº ö\´P. 



A–8664 

  

  11

Wk ser
19. Mr. X is insolvent. He supplies to you the following 

information as on 31.12.92. 

                                              Rs. 

 Cash in hand    1,000 

 Creditors for good   5,25,000 

 Salary due to clerks   7,000 

 Taxes due to Government  21,000 

 Bank loan secured by lien on stock 

 of the book value of Rs.3,50,000 1,75,000 

 Furniture (Expected to realized Rs.35,000) 70,000 

 Stock (Expected to realized 60%) 5,25,000 

 Book debts (good)   70,000 

 Book debts (doubtful, expected to Realized 40%) 1,75,000 

 Bills receivable (Rs.52,500 bad) 87,500 

 Bills discounted (Rs.35,000 bad) 1,05,000 

 Loan from Mrs. ‘X’   1,75,000 

 Mr. ‘X’ started business six years ago with a capital of  
Rs. 4,37,500. He drew Rs.87,500 each year for private 
purposes but did not maintain proper books of accounts. 
Mrs. ‘X’ gave up her jewellery valued at Rs.70,000 to the 
receiver. 

 Prepare the statement of affairs and Deficiency account. 
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 31.12.92 AßÖ v¸. X ö|õizx ÷£õÚõº, AÁ›ß HkPÒ 

RÌUPsh C¸¨¦PøÍ Põs¤zux. 

                                             ¹. 

 øP°¸¨¦ öμõUP®   1,000 

 PhÛ¢÷uõºPÒ    5,25,000 

 GÊzu¸US öPõkUP ÷Ási¯ \®£Í® 7,000 

 Aμ\õ[PzvØS ö\¾zu ÷Ási¯ Á›PÒ 21,000 

 £ØÖ›ø©°ß ‰»® Á[Q Phß Auß 

 ¦zuP ©v¨¦ ¹. 3,50,000   1,75,000 

 AøÓP»ß (wºÄz öuõøP ¹. 35,000) 70,000 

 \μUQ¸¨¦ (60% wºÄ)   5,25,000 

 ¦zuP Phß (ö£õ¸mPÒ «x)  70,000 

 ¦zuP Phß (I¯UPhß «x 40% wºÄ) 1,75,000 

 ö£ÖuØS›¯ Esi¯ÀPÒ (¹. 52,500 Phß) 87,500 

 uÒÐ£i ö\´¯¨£mh ©õØÖa ^mk   

 (¹. 35,000 Phß)    1,05,000 

 v¸.  X ß ©øÚÂ°hª¸¢x ö£ØÓ Phß 1,75,000 

 v¸.  X Gß£Áº ¹. 4,37,500 •u½khß BÖ Á¸h[PÐUS 

•ß¦ öuõÈÀ öuõh[Q²ÒÍõº. AÁμx ö\õ¢u ÷uøÁUPõP 

JÆöÁõ¸ Á¸h•® ¹. 87,500 GkzxÒÍõº Aøu £μõ©›zx 

PnUS GÊu¨£hÂÀø». v¸.  X ß ©øÚÂ°hª¸¢x  

¹. 70,000 ©v¨¦ÒÍ |øPPøÍ Áõ[Q ö\¾zx÷Áõ¸US 

ö\¾zv²ÒÍõº. {ø»¯ÔUøP ©ØÖ® £ØÓõUSøÓ PnUøP 

u¯õº ö\´P. 



A–8664 

  

  13

Wk ser
20. The proprietor of a large retail store wished to ascertain 

approximately the net profit of the X, Y and Z 
departments separately for the three months ended  
31st  March 1996. It is found impracticable actually to 
take stock on that date. but an adequate system of 
departmental accounting is in use, and the normal rated 
of gross profit for the three departments concerned are 
respectively 40%,30% and 20% on turnover before 
charging the direct expenses. The indirect expenses are 
charged in proportion to departmental turnover. 

 The following are the figures for the departments : 

  Particulars                  X Y                      Z 

     Rs. Rs. Rs. 

 Opening stock (1.1.96) 10,000 14,000 7,000 

 Purchases   12,000 13,500 9,700 

 Sales    20,000 18,000 16,000 

 Direct Expenses    2,000   1,500  700 

 The total indirect expenses for the period (including those 
relating to other departments) were Rs.5,400 on the total 
turnover of Rs. 1,08,000. 

 Prepare a statement showing the approximate net profit, 
making a stock reserve at 10% for each department on 
the estimated value on 31.3.96. 

 J¸ ªP¨ ö£›¯ {ÖÁÚzvß ‰ßÖ xøÓPÎÀ X, Y ©ØÖ® Z 

{Pμ C»õ£® 31.3.1996 |õÍßÖ ‰ßÖ ©õu[PÐUS 

PnUQh¨£kQßÓx. \μUS ö\¯À£kzu •i¯õu {ø»°À 

BÚõÀ PnUSPÒ JÆöÁõ¸ xøÓ°¾® 

£¯ß£kzu¨£kQßÓx ©ØÖ® ‰ßÖ xøÓ°ß ö©õzu 

C»õ£©õÚx 40%, 30% ©ØÖ® 20% ÷|μi ö\»ÄPÐUS •ß 

PnUQh¨£mkÒÍx. xøÓPÎß ©øÓ•Pa ö\»ÄPÒ 

£Qº¢uÎUP¨£mkÒÍx. 
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 xøÓPÎß ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

  ÂÁμ®                   X Y                      Z 

      ¹. ¹.                     ¹. 

 öuõhUP \μUQ¸¨¦ (1.1.96)  10,000 14,000 7,000 

 öPõÒ•uÀ    12,000 13,500 9,700 

 ÂØ£øÚ    20,000 18,000 16,000 

 ÷|μia ö\»ÄPÒ       2,000   1,500  700 

 ö©õzu ©øÓ•Pa ö\»ÄPÒ ¹. 5,400, xøÓPÎß ö©õzu 

ÂØ£øÚ ¹. 1,08,000. 

 31.3.96 |õÍßÖ JÆöÁõ¸ xøÓ²® 10% \μUS 

JxUP¨£mkÒÍx, ÷uõμõ¯©õP {Pμ C»õ£zøu PnUQkP. 

________________ 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Commerce with Computer Application  

BUSINESS MATHEMATICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Compound Interest? 

 Tmk Ámi £ØÔ } AÔÁx ¯õx? 

2. What do you understand by Normal Due Date? 

 ö£¯μÍÄ öPkz ÷uv GßÓõÀ GßÚ? 

3. Define Antilogarithm. 

 Gvº ©hUøP Áøμ¯Ö. 

4. Give short note on Mantissa. 

 ©õsiéõ ]Ö SÔ¨¦ ÁøμP. 

5. What is Roster method? 

 Aøh¨¦USÔ •øÓ GßÓõÀ GßÚ? 

6. What do you mean by compliment of a set? 

 Pnzvß {μ¨¤ £ØÔ } AÔÁx ¯õx? 

Sub. Code 
4BCC4C4 
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7. What is meant by Mutually Exclusive Event? 

 EhöÚõzx {PÇ •i¯õu {PÌa]PÒ GßÓõÀ GßÚ? 

8. What do you mean by Poisson distribution? 

 £õ´éõß £μÁÀ GßÓõÀ GßÚ? 

9. Expand 
4

2 3
2 






 

x
x . 

 ÂÁ›UP 

4
2 3

2 





 

x
x . 

10. State the Binomial theorem for a positive integral index. 

 D¸Ö¨¦ ÷uØÓzvß ÷|º©øÓ J¸[Qøn¨¦ SÔ±h {ø»÷¯ 

ÂÁ›UP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) A bill of 5,000 drawn at 6 months was discounted 
for Rs.4,880 on July 8. If the rate of interest was 
10% p.a. on what date was the bill drawn. 

  ¹.5,000 ©v¨¦ÒÍ 6 ©õu Esi¯À Áøμ¯¨£kQßÓx 

Ax ãø» ©õu® 8 B® ÷uv ¹.4,880 US uÒÐ£i 

ö\´¯¨£kQßÓx Auß Ámi ÂQu® BskUS 10%. 

A¢u Esi¯À G¢u ÷uv°À Áøμ¯¨£mhx GÚ 

PõsP. 

Or 

 (b) Find the rate of interest when Rs.500 amounts to 
Rs.800 in 10 years, compound interest being added 
quarterly. 

  TkuÀ Ámi ÂQuzvÀ Põ»skUS J¸•øÓ Ámi 

ÂQu® PnUQh£k® ÷£õx Auß ©v¨¦ ¹.500 ¼¸¢x 

¹.800 BP 10 Á¸hzvÀ E¯¸®©õ°ß Auß Ámi 

ÂQuzøu PnUQkP. 
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12. (a) Prove that 
2
3

5log6log
125log8log27log





. 

  {¹¤UP 
2
3

5log6log
125log8log27log





. 

Or 

 (b) Find the value: 
9log27log2log4

2log66log2



. 

  ©v¨¦ PõsP 
9log27log2log4

2log66log2



. 

13. (a) If }3,2,1{};3,1{};4,3,2,1{  CBA  

  Prove that  

  (i) )()()( CBACABA   and 

  (ii) )()()( CBACABA   

  };3,1{};4,3,2,1{ BA  ©ØÖ® }3,2,1{C  GÛÀ  

  {¹¤UP. 

  (i) )()()( CBACABA   ©ØÖ® 

  (ii) )()()( CBACABA   

Or 

 (b) If }6,5,4,3{},4,3,2,1{  BA  and }8,7,6,5,1{C  verify 
that )()()( CABACBA  .  

  }6,5,4,3{},4,3,2,1{  BA  ©ØÖ® }8,7,6,5,1{C  

\›£õºUP )()()( CABACBA  . 
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14. (a) Explain about the importance of Poisson 

Distribution. 

  £õ´éõß £μÁ¼ß •UQ¯xÁzøu ÂÍUSP. 

Or 

 (b) Find the area to the right of 25.0Z . 

  Á»x¦Ó® £Svø¯U PshÔ¯Ä® 25.0Z . 

15. (a) Find the coefficient of 9x  in 
12

3
2 1











bx
xa . 

  PõsP öPÊ  
9x  

12

3
2 1











bx
xa . 

Or 

 (b) Find the independent term in the expansion of 
12

2 








cx
bax . 

  Â›ÁõUPzvß _¯vÚ Põ»zøP PõsP. 

12

2 








cx
bax . 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A man retires at the age of 60 years and his employer 
gives him pension of Rs.1,200 a year paid in half yearly 
installments for the rest of his life. Reckoning his 
expectation of life to be 13 years and the interest is at 4% 
p.a. payable half – yearly, what single sum is equivalent 
to his pension? 
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 J¸Áº uÚx 60 BÁx Á¯vÀ £o{øμÄ AøhQßÓõº. 

AÁ›ß •u»õÎ BskUS K´Äv¯©õP ¹.1,200. AuøÚ 

BskUS C¸•øÓ GÚ ¤›zx AÁ›ß ÁõÌ|õÒ •ÊÁx® 

ö£ÖQßÓõº. ÷uõμõ¯©õP AÁ›ß B²mPõ»® 13 BskPÒ 

C¸UP»õ® GÚ PnUQh£mk, AÁØÔUPõÚ Ámi ÂQu® 4% 

GßÖ BskUS C¸•øÓ GÚ ö£ÖQßÓõº. AÁ¸øh¯ 

K´Åv¯ öuõøPUS G¢u Ãu©õÚ JØøÓ öuõøP \©©õP 

C¸US®? 

17. Evaluate : 

4
1

7

567.4

)42.16(9876.0 
. 

 ©v¨¤kP. 

4
1

7

567.4

)42.16(9876.0 
 

18. Out of 880 boys in a school, 224 played Cricket, 240 
played Hockey and 336 played Basket Ball; of the total 64 
played both Basket Ball and Hockey; 80 played Cricket 
and Basket Ball and 40 played Cricket and Hockey. 24 
played all the three games. How many did not play any of 
the games and how many played only one game? 

 J¸ £ÒÎ°À 880 ©õnÁºPÎÀ, 224 ÷£º Q›UöPmk®, 240 

÷£º íõUQ ©ØÖ® 336 Tøh£¢x® ÂøÍ¯õkQßÓÚº. 

AÁºPÎÀ 64 ÷£º Tøh£¢x® íõUQ²® ÂøÍ¯õkQßÓÚº. 

80 ÷£º Q›UöPm ©ØÖ® Tøh£¢x® ÂøÍ¯õkQßÓÚº.  40 

÷£º Q›UöPmk® íõUQ²® ÂøÍ¯õkQßÓÚº. CÁºPÎÀ 24 

÷£º C®‰ßÖ® ÂøÍ¯õkQßÓÚº. CvÀ G¢u 

ÂøÍ¯õmi¾® P»¢xöPõÒÍõuÁºPÒ GzuøÚ ÷£º? CvÀ 

J÷μ J¸ ÂøÍ¯õmiÀ ©mk® P»¢x öPõÒ£Áº GzuøÚ 

÷£º? 

19. There are 2 bags. one of which contains 3 black and  
4 white balls, while the other contains 4 black and 3 
white balls . A die is cast, if the face number 1 or 3 turns 
up a ball is taken from the first bag and if any other face 
turns up a ball is chosen from the second bag. Find the 
probability of choosing a black ball? 
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 Cμsk ø£PÒ EÒÍÚ. AÁØÔÀ •uÀ ø£°À 3 P¸¨¦ 

©ØÖ® 4 öÁÒøÍ £¢xPÒ EÒÍÚ. ©ØöÓõ¸ ø£°À 4 P¸¨¦ 

©ØÖ® 3 öÁÒøÍ £¢xPÒ EÒÍÚ. A¨ö£õÊx J¸ £Pøh 

E¸mh¨£kQßÓx AvÀ 1 ©ØÖ® 3 GsPÒ ÂÊ¢uõÀ 

©mk® •uÀ ø£°À C¸¢x £¢x GkUP¨£h ÷Ásk®. ©ØÓ 

GsPÒ ÂÊ¢uõÀ CμshõÁx ø£°¼¸¢x £¢x GkUP¨£h 

÷Ásk®. CvÀ J÷μ J¸ P¸¨¦ £¢x Gk¨£uØPõÚ 

{PÌuPÄ GßÚ? 

20. Sum the series nCnCCC )12(......53 210  . 

 öuõh›ß öuõøPø¯ PõsP 

  nCnCCC )12(......53 210  . 

———————— 
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B.Com. (C.A) DEGREE EXAMINATION,  
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Fifth Semester 

Commerce With Computer Application 

CORPORATE ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Explain pro-rate allotment of shares. 

 ÂQuõ\õμõ JxURk £[PPøÍ £ØÔ ÂÁ›. 

2. What do you mean by call-in-advance? 

 AøÇ¨¦ •ß£n® Gß£uß ö£õ¸Ò ¯õx? 

3. Write a note on underwriting. 

 J¨¦Öv £ØÔ SÔ¨¦ ÁøμP. 

4. Write short notes on debenture redemption reserve. 

 Phß £zvμ «m¦ Põ¨¦ £ØÔ SÔ¨¦ ÁøμP. 

5. Explain capital redemption reserve. 

 ‰»uÚ «m¦ Põ¨¦ £ØÔ ÂÁ›. 

Sub. Code 
4BCC5C1 
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6. What do you mean by profit prior to incorporation? 

 £vÂØS •¢øu¯ C»õ£® Gß£uß ö£õ¸Ò ¯õx? 

7. What is Interim dividend? 

 CøhUPõ» £[Põuõ¯® GßÓõÀ GßÚ? 

8. What is Amalgamation? 

 JßÔøn¨¦ GßÓõÀ GßÚ? 

9. Explain external reconstruction. 

 ¦Ó ©ÖÁø©¨¦ £ØÔ ÂÁ›. 

10. Who are preferential creditors? 

 •ßÝ›ø©U PhÜ¢÷uõº Gß£Áº ¯õº? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X Ltd forfeited 30 shares of Rs. 10 each held by 
Kumar, he paid application money Rs. 2 by non 
payment of allotment money? Rs. 3 pass journal 
entries.  

  S©õº Gß£Á›hª¸¢x Âsn¨£ £n® ¹. 2 Ãu® 

ö£Ó¨£mhx. JxURk £n® ¹. 3 ö£Ó¨£hõuõÀ ¹. 10 

©v¨¦ÒÍ 30 £[SPøÍ AÁ›hª¸¢x X GßÓ {Ö©® 

£Ô•uÀ ö\´ux. •uØSÔ¨÷£k £vÄPøÍ u¸P. 

Or 
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 (b) A Ltd. has an authorised capital of Rs. 50,00,000 

divided into 5,00,000 shares of Rs. 10 each. The 
company issued 1,00,000 shares for subscription to 
the public at a premium of Rs. 5 each. 

  The entire issue was underwritten as follows: 

  A 60,000 shares (firm underwritten : 10,000 shares) 

  B 30,000 shares (firm underwritten : 4,000 shares)  

  C 10,000 shares (firm underwritten : 2,000 shares) 

  of the total issue, only 90,000 shares including firm 
underwriting, were subscribed for marked 
applications forms excluding firm underwriting 
were as follows: 

  A 32,000 shares 

  B 20,000 shares 

  C 8,000 shares 

  Calculate the liability of each underwriter giving 
the benefit of firm underwriting to all underwriters. 

  A ¼ªöhmiß A[RP›UP¨£mh •u»õÚ ¹. 50,00,000 

£[S JßÖUS ¹. 10 Ãu®, 5,00,000 \õuõμn¨ 

£[SPÍõP ¤›UP¨£mkÒÍx. 

  {Ö©®, £[S JßÖUS ¹. 5 •øÚ©zvÀ 1,00,000 

£[SPøÍ öÁÎ±k ö\´ux. •Ê öÁÎ°k®, 

¤ßÁ¸©õÖ J¨¦Öv ö\´¯¨£mhx: 

  A 60,000 £[SPÒ (EÖv J¨¦Öv & 10,000 £[SPÒ) 

  B 30,000 £[SPÒ (EÖv J¨¦Öv & 4,000 £[SPÒ) 

  C 10,000 £[SPÒ (EÖv J¨¦Öv & 2,000 £[SPÒ) 
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  •Ê öÁÎ±miÀ, EÖv J¨¦Öv ÷\º¢x 90,000 

£[SPÒ AÎUP¨£mhÚ. RÌPshøÁ SÔ°h¨£mh 

Âsn¨£[PÒ BS® 

  (A) 32,000 £[SPÒ 

  (B) 20,000 £[SPÒ 

  (C) 8,000 £[SPÒ 

  JÆöÁõ¸ J¨¦Öv¯õÍ›ß ö£õÖ¨¤øÚ²® 

PnUQkP. 

12. (a) What are the various methods of redemption of 
debenture? 

  «m¦U Phß£zvμzvß £À÷ÁÖ ÁøPPÒ GßÚ?  

Or 

 (b) Kovai Cement Ltd was formed on 1.7.2015 to 
acquire the business of Ahmed and Co with effect 
from 1.1.2015 when the company's first accounts 
were prepared on 31.12.2015. the following were 
noted: 

  (i) Sales for the year Rs. 3,00,000 

  (ii) Sales in January, February, April and May 
were only 50% of the annual average. Sales of 
August, September and December were twice 
the annual average. Calculate the weighted 
sales ratio. 
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  áüø» 1, 2015 À £vÄ ö\´¯¨£mh ÷PõøÁ ]ö©sm 

¼ªöhm, áÚÁ› 1, 2015 ¼¸¢x Aí©z ©ØÖ® ÷Põ 

GßÓ {ÖÁÚzøu GkzxU öPõshx. {Ö©®, 

AuÝøh¯ •uÀ PnUSPøÍ i\®£º 31, 2015 À u¯õº 

ö\´ux 

  (i) AÆÁõsiØPõÚ ÂØ£øÚ ¹. 3,00,000 

  (ii) IÚÁ›, ¤¨μÁ›, H¨μÀ ©ØÖ® ÷© 

©õu[PÐUPõÚ ÂØ£øÚ Bsiß \μõ\› 

ÂØ£øÚ°À 50%. BPìm, ö\¨h®£º ©ØÖ® 

i\®£º ©õu[PÐUPõÚ ÂØ£øÚ \μõ\› 

ÂØ£øÚ°À C¸ ©h[S \μõ\› ÂØ£øÚ ÂQu® 

Psk¤iUPÄ®. 

13. (a) X Ltd, had earned Rs. 6,00,000 profit on 31.12.2007 
which is appropriated as follows: 

  (i) Rs. 50,000 towards debenture redemption 
fund 

  (ii) 8% preference dividend (tax free), tax being 
20% on Rs. 6,60,000 

  (iii) 10% ordinary dividend, tax being 20% on 
20,00,000; 

  (iv) Rs. 74,000 to general forward 

  (v) Balance to be carried forward 

   Prepare profit and loss Appropriation a/c. 

  31.12.2007 X ¼ªöhm ¹. 6,00,000 C»õ£® Dmi¯x. 

£QºÄ Â£μ[PÒ ¤ßÁ¸©õÖ: 

  (i) Phß £zvμ «m¦ ¹. 50,000 

  (ii) 8% •ßÝ›ø© £[Põuõ¯® (Á› CÀ»õ©À) ¹. 

6,60,000 US 20%  Á› 
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  (iii) 10% \uõuõμn £[Põuõ¯®, ¹. 20,00,000 US  

20% Á› 

  (iv) ö£õxU Põ¨¥miØS ¹. 74,000 

  (v) «vz öuõøP C¸¨¦ {ø»U SÔ¨¤ØS öPõsk 

ö\À» ÷Ásk® 

   C»õ£ ©ØÖ® |mh JxURmkU PnUøP 

u¯õ›UPÄ®. 

Or 

 (b) Explain : 

   (i) Capital Reserve 

  (ii) General Reserve. 

  ÂÍUSP : 

  (i) ‰»uÚ Põ¨¦ 

  (ii) ö£õxPõ¨¦. 

14. (a) What are the methods of calculating purchase 
consideration? 

  öPõÒ•uÀ ©Ö£¯øÚ PnUQk® £À÷ÁÖ •øÓPÒ 

¯õøÁ? 

Or 

 (b) The following scheme of reconstruction was 
approved by R Ltd: 

  (i) The shareholders to receive in lieu of their 
present holding of 50,000 shares of Rs. 10 
each, the following 

   (1) Fully paid ordinary shares equal to 2/5 of 
their holdings 

   (2) 5% Preference shares to the extent of 1/5 
of the above ordinary shares 

   (3) Rs. 60,000, 60% debentures. 
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  (ii) The goodwill which stood at Rs. 3,00,000 was 

written down to Rs. 1,50,000 

  (iii) Machinary Rs. 20,000 (Written down) 

  (iv) Premises Rs. 30,000 (Written down) pass 
journal entries. 

  R ¼ªöhmiß ©ÖÁø©¨¤ß {£¢uøÚPÒ. 

  (i) ¹. 10 Ãu® 50,000 £[SPÒ £[Suõμ›h® EÒÍx  

   (1) £[SPÎß  2/5 US \©©õÚ •Ê \õuõμn 

£[S 

   (2) ÷©÷» EÒÍ \õuõμn £[SPÎÀ 1/5 

AÍÂØS 5% •ßÝ›ø© £[S 

   (3) ¹. 60,000, 6% Phß £zvμ® 

  (ii) |Øö£¯º ¹. 3,00,000 ¼¸¢x ¹. 1,50,000 

  (iii) C¯¢vμ® ¹. 20,000 BP GÊv¯x 

  (iv) ÁoP ÁÍõP® ¹. 30,000 BP GÊv¯x. 

•uØSÔ¨÷£mk¨ £vÄPøÍz u¸P. 

15. (a) From the particulars given below ascertain 
liquidators remuneration: 

  (i) Creditors to be paid Rs. 60,000 

  (ii) Amount available on hand Rs. 44,000 

  (iii) Commission to be given on the amount paid to 
creditors 10%. Calculate the liquidator's 
remuneration. 
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  Pø»¨£õÍ›ß Fv¯zøu PõsP 

  (i) PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯ öuõøP  

¹. 60,000 

  (ii) øP°À EÒÍ C¸¨¦ öuõøP ¹. 44,000 

  (iii) PhÜ¢÷uõ¸US ö\¾zu ÷Ási¯ öuõøP°À 

10% PÈøÁ ö£Ó Pø»¨£õÍ¸US E›ø© Esk. 

Or 

 (b) Briefly explain the classification assets and liability 
in the statement of affairs. 

  {ø» AÔUøPPÎÀ EÒÍ ö\õzxPÒ ©ØÖ® 

ö£õÖ¨¦PÒ ÁøPPøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. On 1.1.2008, R Ltd offers 10,000 shares of Rs. 10 each 
payable as follows: 

 On Applications Rs. 3 per share 

 On Allotment Rs. 2 per share 

 On first call Rs. 3 per share 

 On final call Rs. 2 per share. 

 All the shares are subscribed and amounts duly received 
pass journal entries. 

 1.1.2008 AßÖ R ¼ªöhm ¹. 10 Ãu® 10,000 £[SPøÍ 

öÁÎ°mhx 

 Âsn¨£zvß ÷£õx & ¹. 3 

 JxURmiß ÷£õx & ¹. 2 

 •uÀ AøÇ¨¦ ÷£õx & ¹. 3 

 CÖv AøÇ¨¦ ÷£õx & ¹. 2 

 AøÚzx £[SPÐUS EshõÚ öuõøP ö£Ó¨£mhx. 

•uØSÔ¨÷£k u¸P. 
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17. A Co. Ltd, was in corporated on May 1, 2003 to take over 

the business of a partnership firm as a going concern 
from January 1, 2003. The company got the certificate of 
commencement business in July 1, 2003. 

 The following is the profit and loss a/c for the year ending 
31.12.2003 is as follows: 

Profit and Loss a/c of A. Co. Ltd 

 Rs.  Rs. 

To rent and taxes 12,000 By gross profit b/d1,55,000

To insurance 3,000 

To electric charges 2,400 

To directors fees 3,000 

To Auditor fees 1,600 

To advertisement 6,000 

To salaries 36,000 

To commission 4,000 

To general expenses 6,500 

To bad debts 2,000 

To net profit 78,500 

 1,55,000 1,55,000

 The total turnover for the year ending 31.12.2003 was  
Rs. 5,00,000 divided into Rs. 1,50,000 for the period upto 
1.5.03 and Rs. 3,50,000 for the remaining period. 

 Calculate the profits prior to incorporation and profits 
since incorporation of the company. 
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 A ÷Põ ¼m £vÄ ö\´¯¨£mhx 1.5.2003. 1.1.2003 •uÀ A 

¼m Tmhõsø© {ÖÁÚ©õP GkzxU öPõshx. 31.12.2003 

Bsk •i¯ EÒÍ C»õ£ |mh PnUS ¤ßÁ¸©õÖ 

A ÷Põ ¼ªöhmiß C»õ£® ©ØÖ® |mh PnUS 

 öuõøP  öuõøP

ÁõhøP ©ØÖ® Á›PÒ  12,000 ö©õzu »õ£® R/öPõ1,55,000

Põ¨¥k  3,000 

ªß\õμ Pmhn[PÒ  2,400 

C¯USÚºPÒ Pmhn® 3,000 

uoUøP¯õÍº Pmhn® 1,600 

ÂÍ®£μ® 6,000 

\®£Í® 36,000 

PÈÄ 4,000 

ö£õx ö\»Ä 6,500 

ÁõμõU Phß 2,000 

{Pμ »õ£® 78,500 

 1,55,000 1,55,000

 31.12.2003 B® Bsk •i¯ EÒÍ ÂØÖ •uÀ ¹. 5,00,000. 

CvÀ 1.5.2003 Áøμ ¹. 1,50,000 ©ØÖ® «u•ÒÍ £SvUS ¹. 

3,50,000. £vÂØS •ß¦ÒÍ C»õ£® ©ØÖ® £vÂØS ¤ß¦ 

EÒÍ C»õ£zøu PnUQkP. 
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18. Authorised capital of Z Ltd is Rs. 5,00,000 (50,000 shares 

of Rs. 10 each) on 31.12.2006 25,000 shares were fully 
called up. On 31.12.2006, the following balances taken 
from the ledger of the company 

 Rs.  Rs. 

Opening stock 50,000 Bonus 10,500

Sales 4,25,000 Sundry debtors 38,700

Purchases 3,00,000 Sundry creditors 35,200

Wages 70,000 Plant and machinery 80,500

Discount allowed 4,200 Furniture 17,100

Discount received 3,150 Cash and bank 1,34,700

Insurance (paid upto 31.3.07) 6,720 Reserve 25,000

Salaries 18,500 Loan from M.D 15,700

Rent 6,000 Bad debts 3,200

General expenses 8,950 Calls in arrears 5,000

Printing and stationary 2,400 P and L A/c (Cr.) 6,220

Advertising 3,800  

 Additional informations were furnished: 

 (a) Closing stock Rs. 91,500 

 (b) Depreciation on plant and machinery. Furniture @ 
15% and 10% respectively 

 (c) Wages, salaries and rent outstanding amounts  
Rs. 5,200, Rs. 1,200 and Rs. 600 respectively 

 (d) Dividend @ 5% on paid up share capital is to be 
provided 

  Prepare final accounts of the company. 
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 Z ¼ªm A[QP›UP¨£mh •uÀ ¹. 5,00,000 ¹. 10 Ãu® 

50,000 £[SPÒ 31.12.2006 Bsk 25,000 £[SPÒ 

Aø©UP¨£mhx 31.12.2006 Bsk AßÖ C¸¨¦PÒ 

¤ßÁ¸©õÖ 

 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ 50,000 öÁS©v 10,500

ÂØ£øÚPÒ 4,25,000 £Ø£» PhÚõÎ 38,700

öPõÒ•uÀ 3,00,000 £Ø£» PhÜ¢÷uõº 35,200

T¼ 70,000 Bø» ©ØÖ® C¯¢vμPÒ 80,500

uÒÐ£i AÎUP¨£mhx 4,200 AøÓP»ß 17,100

uÒÐ£i Áõ[Q¯x 3,150 øP°¸¨¦ öμõUP® 1,34,700

Põ¨¥mk (31.3.07) 6,720 Põ¨¦ 25,000

\®£Í® 18,500 Phß 15,700

ÁõhøP 6,000 ÁõμõUPhß 3,200

ö£õx ö\»ÂÚ[PÒ 8,950 {¾øÁ°¾ÒÍ AøÇ¨¦ 5,000

Aa_ ©ØÖ® GÊx ö£õ¸Ò 2,400 C»õ£® ©ØÖ® |mh PnUS (Á) 6,220

ÂÍ®£μ® 3,800  

 TkuÀ ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

 (A)  CÖv \μUQ¸¨¦ ¹. 91,500 

 (B) Bø» ©ØÖ® C¯¢vμ® ©ØÖ® AøÓP»ß ÷u´©õÚ® 

15% ©ØÖ® 10% 

 (C) T¼, \®£Í® ©ØÖ® ÁõhøP öPõk¨£h ÷Ási¯ 

öuõøP ¹. 5,200, ¹. 1,200 ©ØÖ® ¹. 600 

 (D) £[S •u¼À 5% £[Põuõ¯® ÁÇ[P¨£k® CÖv 

PnUS u¯õ›UP. 
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19. Following is the balance sheet of X company Ltd as on 

June 30, 2004 

Liabilities  Rs. Assets  Rs. 

12,000 shares of Rs. 500 each60,00,000 Land and buildings 27,20,000

Reserve fund 6,50,000 Plant and 
machinery 

30,00,000

Insurance fund 1,30,000 Furniture 1,00,000

P and L a/c 20,000 Patent 4,00,000

2,600 Debentures of Rs. 500 
each  

13,00,000 Stock 20,00,000

Workman savings bank 4,00,000 Sundry debtors 6,00,000

Sundry creditors 5,00,000 Cash 1,80,000

 90,00,000 90,00,000

 Y company Ltd agreed to take over X Ltd. On the 
following basis: 

 (a) Payment of cash at Rs. 90 for every share in X Ltd  

 (b) Payment of cash at Rs. 550 for every debenture 
holder in full discharge of debentures 

 (c) Exchange of 4 shares of Y company Ltd. on Rs. 75 
each (quoted in the market at Rs. 140 each) for 
every share in X company Ltd. 

  Show the necessary ledger accounts in X Ltd. 



A–8666 

  

  14

WK11
 30.6.2004 AßÖ X {ÖÁÚzvÝøh¯ C¸¨¦ {ø» SÔ¨¦ 

¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

12,000 £[SPÒ ¹. 500 

Ãu® 

60,00,000 {»® ©ØÖ® 

Pmih[PÒ 

27,20,000

Põ¨¦ {v 6,50,000 BøÓ ©ØÖ® 

C¯¢vμ[PÒ 

30,00,000

Põ¨¥k {v 1,30,000 AøÓP»ß 1,00,000

C»õ£ ©ØÖ® |mh PnUS 20,000 Põ¨¦›ø© 4,00,000

2,600 PhÜmk£zvμ®  

¹. 500 Ãu® 

13,00,000 \μUS 20,00,000

öuõÈ»õÎ ÷\ª¨¦ 4,00,000 £Ø£» PhÚõÎ 6,00,000

£Ø£» PhÜ¢÷uõº 5,00,000 öμõUP® 1,80,000

 90,00,000 90,00,000

 Y {ÖÁÚ® ¼ªöhm X {ÖÁÚ® ¼ªöhmøh Gkzx 

öPõÒÁuØS J¨¦U öPõshx 

 (A) X ¼ªöhmiß £[S JÆöÁõßÖUS® ¹. 90 öμõUP©õP 

ö\¾zv¯x 

 (B) PhÜmk¨ £zvμ[PøÍ «m£uØPõP PhÜmhõÍ¸US 

JÆöÁõ¸zu¸US® ¹. 550 öμõUP©õP ö\¾zv¯x 

 (C) X {ÖÁÚ® ¼ªöhmiß JÆöÁõ¸ £[SUS® ¹. 75 

Ãu® 4 £[SUS Y {ÖÁÚ® ©õØÔU öPõshx 

  (\¢øu Âø» JÆöÁõßÖUS® ¹. 140) 

  X ¼ªöhmiß ÷£÷μmk PnUSPøÍ u¸P. 

20. What is meant by the term contributory? Describe the 
various types of contributories? 

 £[PÎ¨¦ Gß£uß ö£õ¸Ò ¯õx? £[PÎ¨¤ß £À÷ÁÖ 

ÁøPPøÍ ÂÁ›. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce with Computer Application  

INCOME TAX – LAW AND PRACTICE – I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all the questions. 

1. List out the any four merits of direct tax. 

 ÷|μi Á›°ß |õßS |ßø©PøÍ £mi¯¼kP. 

2. Mention any two objectives of taxation. 

 Á›Âv¨¤ß H÷uÝ® Cμsk ÷|õUP[PøÍ GÊxP. 

3. Define the term ‘Assessee’. 

 ""Á› ö\¾zxÁº'' GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

4. Who is a non resident? 

 Si²›ø© CÀ»õuÁº Gß£Áº ¯õº? 

5. What is depreciation? 

 ÷u´©õÚ®  GßÓõÀ GßÚ? 

6. What do you understand by Tax-Holiday? 

 Á›–Âv•øÓ ‰»® }[PÒ GßÚ ¦›¢x öPõÒQÕºPÒ? 

Sub. Code 
4BCC5C2 
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7. What is meant by salary income? 

 \®£Í® Á¸©õÚ®  GßÓõÀ GßÚ? 

8. Mr. E owns a house at Bharathi Nagar and submits the 
following particulars: 

 Rent received  Rs. 1,75,000 

 Standard rent  Rs. 1,60,000 

 Municipal valuation Rs. 1,70,000 

 Fair rental value Rs. 1,72,000 

 Municipal tax is 12% of MV+2% of municipal taxes as 
surcharge. Compute Net Annual value of the above 
information. 

 v¸ E Gß£Áº £õμv |P›À J¸ Ãmøh øÁzv¸UQÓõº. 

©ØÖ® ¤ßÁ¸® ÂÁμ[PøÍ \©º¨¤UQÓõº.  

 ÁõhøP ö£ØÓx ¹. 1,75,000 

 {ø»¯õÚ ÁõhøP ¹.1,60,000 

 |Pμõm] ©v¨¥k ¹.1,70,000 

 {¯õ©õÚ ÁõhøP ©v¨¦ ¹.1,72,000 

 |Pμõm] Á›, |Pμõm] ©v¨¤À 12% ©ØÖ® |Pμõm] Á›°À 

2% TkuÀ Pmhn®. ÷©÷» EÒÍ uPÁ¼ß {Pμ Bsk 

©v¨ø£U PnUQk[PÒ. 

9. What is capital gain? 

 ‰»uÚ Buõ¯®  GßÓõÀ GßÚ? 

10. What is casual income? 

 \õuõμn Á¸©õÚ®  GßÓõÀ GßÚ? 
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 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) Explain the features of income tax in India. 

  C¢v¯õÂÀ Á¸©õÚ Á›°ß A®\[PøÍ ÂÍUS[PÒ. 

Or 

 (b) Explain the Direct taxes levied by Central 
government. 

  ©zv¯ Aμ_ ÂvUS® ÷|μi Á›PøÍ ÂÍUS[PÒ. 

12. (a) State the  

  (i) Assessment year 

  (ii) Previous year. 

  (i) ©v¨¥mk Bsk 

  (ii) •¢øu¯ Bsk ÂÍUPÄ®. 
Or 

 (b) On 1-6-2016 ‘B’ a Malaysian citizen left India after a 
continuous stay of 10 years. During the financial 
year 2017-18, he came back to India and stayed for 
a period of 46 days and left. In the previous year 
2018-19, he came back to India on 10-10-2018 and 
stayed here thereafter for one year. Determine ‘B’s 
residential status for the assessment year 2019-20. 

  1.6.2016 Bsk "¤' J¸ ©÷»]¯ Si©Pß öuõhº¢x  

10 BskPÒ u[Q¯ ¤ßÚº C¢v¯õøÁ Âmk 

öÁÎ÷¯ÔÚõº. 2017–18 {v¯õsiÀ AÁº «sk® 

C¢v¯õÄUS Á¢x 46 |õmPÒ u[Q°¸¢x 

öÁÎ÷¯ÔÚõº. •¢øu¯ Bsk 2018–19 B® 

BsiÀ AÁº 10.10.18 AßÖ «sk® C¢v¯õ Á¢x 

¤ßÚº J¸ Á¸h® C[S u[Q°¸¢uõº. 2019–20 

©v¨¥mk BsiØPõÚ ""¤''°ß SÔ°¸¨¦ {ø»ø¯ 

wº©õÛUPÄ®. 
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13. (a) Explain some of the incomes which are partially 

exempted from income tax. 

  Á¸©õÚ Á›°¼¸¢x JμÍÄ Â»UP AÎUP¨£mh ]» 

Á¸©õÚ[PøÍ ÂÍUS[PÒ. 

Or 

 (b) What are the rules regarding the claim of deduction 

of depreciation? 

  ÷u´©õÚzøuU SøÓ¨£uØPõÚ E›ø©÷PõμÀ 

öuõhº£õÚ ÂvPÒ ¯õøÁ? 

14. (a) Calculate the taxable amount of annual accretion to 

RPF. If following information is provided by 

assessee. 

  (i) Pay  @ Rs.40,000 P.M. 

  (ii) Commission received by him on the basis of 

turnover achieved by him Rs. 1,36,000 

  (iii) Employer’s contribution to RPF @ 13% of 

salary 

  (iv) Interest credited during the year to RPF 

Balance @ 12% is Rs.64,000. 

   RPF–US Á¸hõ¢vμ vμmh¼ß Á›Âv¨¦ 

öuõøPø¯  PnUQk[PÒ. ¤ßÁ¸® uPÁø» Á› 

ö\¾zx£Áº ÁÇ[QÚõº. 

  (i) Pmhn® ¹. 40,000 ©õuzvØS 

  (ii) AÁº ö£ØÓ Á¸Áõ´ Ai¨£øh°À AÁº ö£ØÓ 

Pªåß ¹.1,36,000 
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  (iii) RPF-US 13% \®£ÍzvÀ •u»õÎ°ß £[PÎ¨¦ 

  (iv) RPF C¸¨¦US 12% ÁμÄ øÁUP¨£mh Ámi 

¹.64,000 

Or 

 (b) Calculate ARV from the particulars given below : 

  MRV Rs.60,000 p.a 

  FRV Rs.66,000 p.a 

  Actual Rent Rs. 7,000 p.m 

  Standard Rent Rs. 69,000 p.a. 

  (i) House was vacant for full year during the 
previous year 2018-19. 

  (ii) House was vacant for months during the 
previous year 2018-19. 

  (iii) Actual rent of the house is Rs.4,000 p.m and 
was vacant for two months. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ARV IU 

PnUQkP. 

  |Pμõm] ÁõhøP ©v¨¦ ¹. 60,000 BskUS 

  Esø©¯õÚ ÁõhøP ©v¨¦ ¹. 66,000 BsiØS 

  Esø©¯õÚ ÁõhøP  ¹.7,000 ©õuzvØS 

  {ø»¯õÚ ÁõhøP ©v¨¦ ¹. 69,000 BsiØS 

  (i) •¢øu¯ 2018–19 BsiÀ Bsk •ÊÁx® Ãk 

Põ¼¯õP C¸¢ux 

  (ii) •¢øu¯ 2018–19 BsiÀ Cμsk ©õu[PÐUS 

Ãk Põ¼¯õP C¸¢ux 

  (iii) Ãmiß Esø©¯õÚ ÁõhøP ¹. 4,000 ©õzvØS 

©ØÖ® Cμsk ©õu[PÒ Ãk Põ¼¯õP C¸¢ux. 
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15. (a) Cash book of an Auditor for the period ended  

31-3-2019. 
Particulars  Rs.  Particulars Rs. 

To Balance b/d 9,614  By Office expenses 24,150

To Audit fees 54,750  By Personal expenses 4,769

To Accountancy work fee 25,475  By Membership fees 4,045

To Other source income 27,745  By Income tax 2,493

To rent for HP 14,200  By Car purchased 23,450

   By Car expenses 5,420

   By Insurance (House) 300

   By Balance c/d 67,157

 1,31,784   1,31,784

 Depreciation on car @ 15 %.  1/4 of car expenses  for  
personal purpose. Compute professional income. 

 31.3.2019 Ehß •iÁøh¢u Põ»zvØPõÚ uoUøP¯õÍ›ß 

öμõUP¨ ¦zuP®. 

Â£μ®  öuõøP  Â£μ® öuõøP

öuõhUP C¸¨¦ R/öPõ  9,614 A¾Á»Pa ö\»ÄPÒ 24,150

uoUøPU Pmhn®  54,750 uÛ¨£mh ö\»ÄPÒ 4,769

PnUQ¯À £o Pmhn®  25,475 EÖ¨¤Úº Pmhn® 4,045

¤Ó Á¸©õÚ[PÒ ‰»®  27,745 Á¸©õÚ Á› ö\¾zv¯x 2,493

Ãmk ö\õzvß «x ÁõhøP  14,200 Põº Áõ[Q¯x 23,450

   PõºUPõÚ ö\»ÄPÒ 5,420

   Põ¨¥k (Ãk) 300

   C¸¨¦ R/C 67,157

  1,31,784  1,31,784

  Põ›ß ÷u´©õÚ® 15%. 1/4 £[S Põº ö\»ÄPÒ 

uÛ¨£mh PõμnzvØS £¯ß£kzu¨£mhx. C¢u 

uoUøP¯õ›ß öuõÈÀ•øÓ Á¸©õÚzøu PnUQkP. 

Or 
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 (b) Find out the long term capital gain from the 

following. Cot of acquisition Rs. 1,20,000.  

  Year of purchase of assets 2004-05 

  Amount of selling price Rs. 35,00,000 

  Date of selling assets 10-01-2019 

  CII for 2004-05 is 113 and for 2018-19 are 280. 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x }sh Põ» ‰»uÚ 

Buõ¯zøuU PshÔ¯Ä®. 

  ö\õzvß AhUPÂø» ¹. 1,20,000 

  ö\õzxUPÒ Áõ[Q¯ Bsk 2004–05 

  ö\õzvß ÂØ£øÚ Âø» ¹. 35,00,000 

  ö\õzxUPøÍ ÂØÓ ÷uv 10–1–2019 

  (AhUP SÔ±k 2004–05=113, 2018–19 = 280). 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Explain the historical background of income tax act. 

 Á¸©õÚ Á›a\mhzvß Áμ»õØÖ ¤ßÚÛø¯ ÂÍUS[PÒ. 

17. Mr. Ford an American national was appointed as senior 
Scientific Officer in India on 1st April 2010. On 31st  
January, 2016 he went to Sri Lanka on deputation for a 
period of three years but left his wife and children, in 
India. On 1st May, 2017 he came to India and took with 
him his family to Sri Lanka on 30th June, 2017. He 
returned to India and joined his original Job on 20th  
December 2018. What would be the status of Mr. Ford for 
Income tax purposes for the assessment year 2016-17, 
2017-18,2018-19 and 2019-20? 
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 v¸. L÷£õºk J¸ Aö©›UP |õmøha ÷\º¢uÁº 2010 H¨μÀ  

1 B® ÷uv C¢v¯õÂÀ ‰zu AÔÂ¯À AvPõ›¯õP 

{¯ªUP¨£mhõº. áÚÁ› 31, 2016 AßÖ AÁº C»[øPUS 

‰ßÖ Á¸h Põ»zvØS ¤μv{v¯õPa ö\ßÓõº. BÚõÀ 

©øÚÂ ©ØÖ® SÇ¢øuPøÍ C¢v¯õÂÀ Âmk  ö\ßÓõº. 

÷© 1, 2017 AßÖ AÁº C¢v¯õ Á¢x uÚx Sk®£zvÚ¸hß 

2017 áúß 30 AßÖ C»[øPUS AøÇzxa ö\ßÓõº. AÁº 

C¢v¯õÄUSz v¸®¤ uÚx A\À ÷ÁøÍ°À 20 i\®£º 2018 

AßÖ ÷\º¢uõº. Á¸©õÚ Á›US v¸ L÷£õºiß {ø»  

2016–17, 2017–18, 2018-–19 ©ØÖ® 2019–20 GßÚÁõP 

C¸US®. 

18. Explain the any ten incomes which are exempted u/s 10 
 of the Income tax Act.1961. 

 Á¸©õÚ Á›a \mh® 1961 Cß 10 US Â»US AÎUP¨£mh 

H÷uÝ® £zx Á¸©õÚ[PøÍ ÂÍUSP. 

19. Calculate income from salary of Mrs. Gunjan, a 
government employee working in Chennai. 

 Basic salary Rs.12,000 p.m 

 DA   Rs.7,000 p.m 

 CCA   Rs.1,000 p.m 

 HRA   Rs.6,000 p.m [Rent paid Rs.4,000 p.m] 

 Entertainment Allowances Rs. 3,000 p.m 

 Conveyance allowance Rs.30,000 p.m [Actual amount 
spent Rs. 25,000] 

 Washing allowance Rs. 7,000 

 Project allowance Rs.   6,000 
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 ö\ßøÚ°À £o¦›²® Aμ_ FÈ¯º v¸©v, Sg\Ûß 

\®£Ízv¼¸¢x Á¸©õÚzøuU PnUQkP. 

 Ai¨£øh \®£Í® ¹. 12,000 ©õuzvØS 

 APÂø»¨£i ©õuzvØS ¹.7,000 

 ].].H ©õuzvØS ¹.1,000 

 ÁõhøP¨£i ©õuzvØS ¹.6,000 (ÁõhøP ö\¾zv¯x ©õu® 

¹.4,000) 

 ö£õÊx÷£õUS £i ö£ØÓx ©õu® ¹.3,000 

 AÝ¨¦uÀ £i ö£ØÓx ©õu® ¹.30,000 (Esø©¯õÚ ö\»Ä 

¹.25,000) 

 \»øÁ £i ö£ØÓx ¹.7,000 

 vmh¨£i ö£ØÓx ¹.6,000. 

20. Calculate income from other sources from the information 
given below: 

 (a) Winnings from lottery Rs.1,00,000 
 (b) Amount received from race winnings Rs.35,000 
  Gifts received during the previous year 2018-19 
  (i) Received Rs.20,000 as gift from his friend. 
  (ii) Received Rs. 1,00,000 as gift from his elder 

brother 
  (iii) Received Rs. 1,40,000 as gift on his marriage. 
  (iv) Received Rs.80,000 as gift from his NRI friend 

on 1.1.2019. 
  (v) Another gift of Rs. 18,000 received from his 

friend. 

 R÷Ç öPõkUP¨£mh uPÁÀPÎ¼¸¢x ¤Ó ‰»[PÎ¼¸¢x 

Á¸©õÚzøu PnUQk[PÒ. 

 (A) »õmh› ‰»® ö£ØÓx ¹.1,00,000 

 (B) £¢øu¯ Svøμ öÁØÔPÎhª¸¢x ö£Ó¨£mh öuõøP 

¹.35,000 
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  •¢øu¯ Bsk 2018–19 B® BsiÀ ö£Ó¨£mh 

£›_PÒ 

  (i) AÁμx |s£›hª¸¢x £›\õP ö£ØÓx ¹.20,000 

  (ii) AÁμx ‰zu \÷Põuμhª¸¢x £›\õP  ¹.1,00,000 

ö£ØÓõº 

  (iii) AÁμx v¸©nzvØS £›\õP ¹.1,40,000 ö£ØÓõº 

  (iv) 1.1.19 AßÖ uÚx NRI |s£›hª¸¢x £›\õP 

¹.80,000 ö£ØÓõº 

  (v) AÁμx |s£›hª¸¢x ö£Ó¨£mh ¹.18,000 

£›_. 

  

 

—————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Commerce With Computer Application 

Elective – OPERATING SYSTEM 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Operating System? 

 C¯UP Aø©¨¦ •øÓ GßÓõÀ GßÚ? 

2. What do you meant Multiprocessor System? 

 £Àö\¯»õUP •øÓ°ß ö£õ¸Ò GßÚ? 

3. What is GUI? 

 GUI GßÓõÀ GßÚ? 

4. Define Process Concept. 

 ö\¯À•øÓ P¸zx Áøμ¯Ö. 

5. What is Thread? 

 Em¦SzxuÀ GßÓõÀ GßÚ? 

6. What do you meant by Semaphores? 

 AÝUP[PÒ Gß uß ö£õ¸Ò GßÚ? 

Sub. Code 
4BCCE1A 
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7. What is Scheduling? 

 vmhªkuÀ GßÓõÀ GßÚ? 

8. What do you understand Fixed Priority? 

 {ø»¯õÚ •ßÝ›ø© Gß£vÀ GßÚ AÔ¢x öPõshõ´? 

9. Write a short notes on Memory Management. 

 {øÚÁP ÷©»õsø©ø¯¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. Write about File Operations. 

 ÷Põ¨¦ C¯UPzvøÚ GÊxP. 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) Explain about Client – Server Computing. 

   QøÍ°ß – ÁÇ[Pß Po¨ö£õÔ°øÚ ÂÍUSP. 

Or 

 (b) Explain the various types of System Calls. 

   £À÷ÁÖ ÁøP¯õÚ PoÛ AøÇ¨¦ ÂÍUSP. 

12. (a) Brief about Structure of Operating System. 

   C¯UP Aø©¨¤ß Pmhø©¨¤øÚ ÂÁ›UP. 

Or 

 (b) Explain Process State with example.  

   ö\¯À•øÓ°ß {ø»ø¯ Euõμnzxhß ÂÍUS. 

13. (a) Explain the Scheduling criteria. 

   vmhªku¼ß Ai¨£øh PmhøÍ ÂvPøÍ ÂÍUS. 

Or 
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 (b) Give a Notes on Scheduling methods    

  (i) FCFS        

  (ii) SJFS. 

   vmhªku¼ß •øÓPøÍ¨ £ØÔ SÔ¨¦ u¸P. 

   (i) FCFS        

   (ii) SJFS. 

14. (a) Write about Necessary conditions of Deadlock.               

   •hUPzvß •UQ¯©õÚ {£¢uøÚPøÍ¨ £ØÔ GÊxP. 

Or 

 (b) How to prevention and avoidance of Deadlock? 

   •hUPzvß GÆÁõÖ uk¨£x® ©ØÖ® SøÓ¨£x £ØÔ 

GÊxP. 

15. (a) Brief Notes on (i) Segmentation (ii) Paging. 

   Â›ÁõÚ ÂÍUP® u¸P. (i) £SvPÍõP¨ ¤›zuÀ  

(ii) CønzuÀ. 

Or 

 (b) Describe about File attribute system. 

   ÷Põ¨¤ß £s¦PøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the various types of Operating System with 
examples. 

 PoÛ°À¾ÒÍ £À÷ÁÖ ÁøP¯õÚ Aø©¨¦ C¯UP[PøÍ 

Euõμnzxhß ÂÁ›. 

17. Explain about Inter Process Communication. 

 EÒö\¯À•øÓ öuõhº¦PøÍ ÂÍUSP. 
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18. Discuss the Problems of Synchronization. 

 Jzvø\ÂÀ¾ÒÍ ¤μa\øÚPøÍ ÂÁõvUPÄ®. 

19. Explain about Resources allocation Algorithms in 
Deadlock. 

 •hUPzvß÷£õx ÁÍ[PøÍ £Qº¢uÎUS® ÁÈ•øÓPøÍ 

ÂÍUSP. 

20. Explain the Disk Scheduling and there types.  

 Ámk vmhªku¼ß ÁøPPøÍ ÂÍUSP. 

 

 

 
———————— 
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B.Com (CA) DEGREE EXAMINATION,  
NOVEMBER 2019 

Fifth Semester 

Commerce With Computer Application 

ELECTIVE — WEB TECHNOLOGIES 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is CDROMS? 

 CDROMS GßÓõÀ GßÚ? 

2. Expand www? 

 www- ø¯ Â›Ä£kzxP. 

3. Define Modem. 

 Áøμ¯Ö - Modem  

4. What is ppp? 

 ppp GßÓõÀ GßÚ? 

5. Define E-Mail? 

 ªß Ag\À – Áøμ¯Ö. 

Sub. Code 
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6. What is Internet? 

 Cøn¯® GßÓõÀ GßÚ? 

7. Define Software? 

 Áøμ¯Ö – ö©ßö£õ¸Ò. 

8. What is Hardware? 

 Áßö£õ¸Ò GßÓõÀ GßÚ? 

9. What is List? 

 List GßÓõÀ GßÚ? 

10. Write a short note on Multi media. 

 Multimedia £ØÔ ]Ö SÔ¨¦ u¸P. 

 Part B (5  5 = 25) 

Answer all Questions 

11. (a) Discuss about URL. 

   URL £ØÔ ÂÁõv. 

Or 

 (b) Explain Hypertext. 

   Hypertext £ØÔ ÂÍUSP. 

12. (a) Explain RCO/IP. 

   RCO/IP £ØÔ ÂÍUSP. 

Or 

 (b) Explain Bandwidth. 

   Bandwidth £ØÔ ÂÍUSP. 
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13. (a) Discuss about Electronic Main. 

   Electronic Main £ØÔ ÂÁõv. 

Or 

 (b) Explain on-line Services. 

   on-line Services £ØÔ ÂÍUSP. 

14. (a) Explain Web Server Software. 

   Web Server Software £ØÔ ÂÍUSP. 

Or 

 (b) Explain HTTPD. 

   HTTPD £ØÔ ÂÍUSP. 

15. (a) Write a short note on Structural formatting. 

   Structural formatting £ØÔ ]Ö SÔ¨¦ u¸P. 

Or 

 (b) Explain Formatting Hyperlinks. 

   Formatting Hyperlinks £ØÔ ÂÍUSP. 

 Part C  (3  10 = 30) 

 Answer any three questions. 

16. Explain the History of Internet. 

  Cøn¯zvß Áμ»õÖ £ØÔ ÂÍUSP. 

17. Explain SLIP. 

 SLIP £ØÔ ÂÍUSP. 

18. Explain accessing other parts of the Internet. 

 Cøn¯zvß ©ØÓ £õP[PøÍ AqS® •øÓ £ØÔ ÂÍUSP. 
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19. Explain Hardware requirements. 

 Áßö£õ¸Ò ÷uøÁPÒ £ØÔ ÂÍUSP. 

20. Discuss about paragraph Formatting. 

 Paragraph Formatting £ØÔ ÂÁõv. 

———————— 
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B.Com. (C.A) DEGREE EXAMINATION, NOVEMBER 
2019 

Fifth Semester  

Commerce with Computer Applications 

Elective – COST ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is cost accounting? 

 AhUP Âø» PnUQ¯À GßÓõÀ GßÚ? 

2. What do you mean by variable cost? 

 ©õÖ£k® ö\»Ä £ØÔ }[PÒ GßÚ AÔÃºPÒ? 

3. What is Re-order level? 

 ©Ö Bøn ©mh® GßÓõÀ GßÚ? 

4. What is material? 

 ‰»¨ö£õ¸Ò GßÓõÀ GßÚ? 

5. What is material control? 

 ‰»¨ö£õ¸Ò Pmk¨£õk GßÓõÀ GßÚ? 

6. Define - Labour Turnover. 

 EøÇ¨¦a _ÇØ] GßÓõÀ GßÚ? 

Sub. Code 

4BCCE2B 
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7. What is equivalent production? 

 EØ£zv \©õÚ® GßÓõÀ GßÚ? 

8. What is Normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

9. What do you mean by absorption overhead? 

 ÷©Øö\»ÄPøÍ «mhÀ £ØÔ }[PÒ AÔÁx GßÚ? 

10. What is by products? 

 xøn ö£õ¸ÒPÒ  GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What are the objectives of cost accounting? 

  AhUPÂø» PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) The following data related to the manufacture of a 
standard product during the month of April 2016. 
Raw material consumed Rs.20,000; Direct wages  
Rs.18,000; Total machine hour 3000; Machine per 
hour rate Rs.2; Office on cost 10% of work cost; 
Selling on cost Rs.2.50 per unit; Unit produced - 
5,000; Units sold 4,600 @ Rs.30 each. You are 
required to prepare a 

  (i)  Cost sheet in respect of the above showing 
costing per unit and 

         (ii)  Profit for the period 
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  2016 H¨μÀ ©õuzvÀ J¸uμ¨£mh. ö£õ¸Ò 

EØ£zvUPõÚ Â£μ[PÒ R÷Ç uμ¨£mkÒÍx. Pa\õ 

ö£õ¸Ò £¯ß£kzv¯x ¹. 20,000. ÷|μ® T¼ 18,000 

C¯¢vμ ÷|μ® £¯ß£kzv¯x ¹. 3,000 ©oPÒ 

C¯¢vμ® £¯ß£kzu J¸ ©oUPõÚ AhUP®: ¹. 2 

öuõÈØ\õø» AhUPzvÀ A¾Á»Pa ö\»Ä: 10% 
ÂØ£øÚ ö\»ÄPÒ J¸ ö£õ¸ÐUS ¹. 2.50 EØ£zv 

ö\´u ö£õ¸ÒPÒ 5,000. ö©õzu ö£õ¸ÒPÒ ÂØÓx ¹. 

4,600 J¸ ö£õ¸Îß Âø» ¹. 30. 

÷©ØTÔ¯øÁPÎ¼¸¢x J¸ ö£õ¸Îß  
  (i)  uÛA»Qß AhUP Âø» AmhÁøn u¯õ›UP. 
         (ii)  ö©õzu C»õ£® BQ¯øÁPøÍ öÁÎ£kzx® 

AhUPÂø» £mi¯ø»z u¯õ›UPÄ®. 

12. (a) Explain the maximum stock level and state the 
formula of its calculating. 

  E¯º¢uÍÄ \μUQ¸¨¤øÚ ÂÍUQ AuøÚU PnUQk® 

`zvμzøu²® TÖP.  
Or 

 (b) Calculate maximum level, minimum level and 
reorder level from the following: 

      Re-order quantity –1,500 Units 

      Re-order period – 4 to 6 weeks 

     Maximum consumption – 400 units per week 

     Normal consumption – 300 units per week 

    Minimum consumption – 250 units per week 

  RÌPsh Â£μ[PøÍU öPõsk Ea\ AÍÄ {ø», 

SøÓ¢u AÍÄ {ø» ©ØÖ® ©Ö•øÓ {ø»°øÚU 

PõsP. 

  ©Ö•øÓ AÍÄ :  1,500 A»SPÒ 

  ©Ö•øÓ Põ»® : 4 •uÀ 6 Áõμ® 

  Ea\ AÍÄ £¯ß£õk: 400 A»SPÒ J¸ ÁõμvØUS 

  C¯À¦ £¯ß£õk   
  SøÓ¢u AÍÄ  : 300 A»SPÒJ¸ ÁõμvØUS 

  £¯ß£õk  : 250 A»SPÒ J¸ ÁõμvØUS 
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13. (a) State the methods of calculating labour turnover. 

  öuõÈ»õÍº _ÇØ] KmhzøuU PnUQk® •øÓPøÍ 

ÂÍUSP. 

Or 

 (b) From the following data. Calculate the total 
earnings of worker under Halsey and Rowan plan. 
Standard time: 30 Hours, Time taken: 20 Hours. 
Hourly rate of  wage is Rs. 4 per hour plus, 
Dearness allowance @ Rs.2 per Hour worked. 

  ¤ßÁ¸® ÂÁμ[PÐUS £o¯õÍμx ö©õzu 

Fv¯zøu íõÀ÷\ ©ØÖ® ÷μõÁõß vmhzvÀ 

PnUQkP: vmh ÷|μ® : 30 ©oPÒ, GkzxU öPõsh 

÷|μ® 20 ©oPÒ ©o JßÖUS T¼: ¹. 4 ©ØÖ®  £o 

ö\´u ©oPÐUS £g\¨£i¯õP ¹. 2. 

14. (a) What are the bases of apportionment of overhead? 

  ÷©Øö\»ÂøÚ £QºÄ ö\´²® Ai¨£øhPÒ ¯õøÁ? 

Or 

 (b) In a company there are three production 
Departments A and B and C and three services 
department Time Keeping(X), stores (Y) and 
mainatenance (Z). 

  Following are the expenses for the month of March 
2018.  

Cost incurred in Rs. 

A-Product Department 1,20,000

B-Product Department 80,000 

C-Product Department 60,000 

Service Department – X time keeping 24,000 

Service Department – Y stores 20,000 

Service Department – Z maintenance 10,000 
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 Following additional information maybe of use  
Department S1-X S2-Y S3-Z A B C 

No.of Employees – 20 20 180 160 100 

No of store requisitions – – 200 2500 1300 1200

Machine hours – – – 180 180 120 

 Follow the principles of step ladder method.  

 J¸ {Ö©zvÀ A,B ©ØÖ® C BQ¯ ‰ßÖ ÷|μUPõ¨¦ X 
£shP \õø» Y ©ØÖ® Z £μõ©›¨¦ xøÓPÒ EÒÍÚ. 

©õºa 2018 ß AhUP ö\»ÄPÒ Á¸©õÖ : 
AhUP ö\»ÄPÒ ¹. 

A – EØ£zv xøÓ 1,20,000

B – EØ£zv xøÓ 80,000 

C – EØ£zv xøÓ 60,000 

÷\øÁ xøÓ  – X ÷|ºPõ¨¦ 24,000 

÷\øÁ xøÓ – Y £shP \õø» 20,000 

÷\øÁ xøÓ – Z £μõ©›¨¦ 10,000 

 E£› ö\´vPÒ Á¸©õÖ : 
xøÓ S1-X S2-Y S3-Z A B C 

öuõÈÍõÍºPÎß GsoUøP – 20 20 180 160 100 

‰»¨ö£õ¸Ò ÷Pm¦ – – 200 2500 1300 1200

C¯¢vμ ©oPÒ – – – 180 180 120 

  Ho¨ £i •øÓø¯U øP¯õÒP. 

15. (a) How will you calculate the profit of incomplete 
contract? 

  •Êø©ö£Óõu J¨£¢uzvß C»õ£zøu G¨£i }Âº 

PnUQkÁõ´. 

Or 
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 (b) In a manufacturing of a product 1,000 Kgs of 
material at Rs. 8 per kg were  supplied to process I 
labour cost amounting to Rs.2,000 and       
production overhead incurred was Rs.1,000. The 
normal loss was estimated at 10% and was sold at 
Rs.2 per pkg. Actual production in the process was 
880 kgs. Prepare  process I Account. 

  J¸ ö£õ¸Îß EØ£zvUPõP J¸ Q÷»õ ¹. 8 Ãu® 

‰»¨ö£õ¸Ò 1,000 Q÷»õ ö\´•øÓ I&US 

öPõkUP¨£kQßÓÚ. Aaö\¯À •øÓUS ÷Áø» 

AhUP® ¹.2,000 &US® EØ£zv ÷©Øö\»ÄPÒ  

¹.1,000 BQßÓÚ. 10% \õuõμn |mh® 

AÝ©õÛUP¨£mhx. Ax Q÷»õ JßÖ ¹.2 Ãu® 

ÂØUP¨£mhx. Aaö\¯À •øÓ°ß {Pμ EØ£zv 880 

Q÷»õ BS®. ö\´•øÓ I PnUS u¯õ›UPÄ®. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Prepare cost sheet from the following information: 
Particulars Rs. Particulars Rs. 

Material consumed 20,000 Office overhead charges 16,000

Wages 18,000 Selling overhead 4,000

Works overhead charges 15,000 Sales 1,00,000

 RÌUPsh ÂÁμ[PÎ¼¸¢x AhUP Âø» ©ØÖ® C»õ£® 

PnUQkÁuØPõP AhUPÂø»uõÒ JßøÓ u¯õº ö\´P. 

 ¹.  ¹. 

ö£õ¸mPÒ £¯ß£kzv¯x 20,000 A¾Á»P ÷©Øö\»Ä 16,000

T¼ 18,000 ÂØ£øÚa ö\»ÄPÒ 4,000

öuõÈØ\õø» ÷©Øö\»Ä 15,000 ÂØ£øÚ 1,00,000



A–8671 

  

  7

WS19

17. From the following information, show the stores ledger 

account on "weighted average method". 

2018 March 1. Operning stock 800 kg@ Rs.8.00 each

 2. Purchased 350 kg@ Rs 9.00 

 12. Purchased 450 kg@ Rs. 10.50 

 16. Purchased 600 kg@Rs. 11.00 

 23. Purchased 350 kg@ Rs. 11.50 

 Issue the manufacturing department are as follows: 

2018 March 3. Issued 320kg

 7. Issued 200kg

 13. Issued 400kg

 19. Issued 550kg

 26. Issued 150 kg

 30. Issued 200kg

 On 15.03.2018 stock verification reveals a shortage of  

8 kg. at the end of the month, stock verification revealed 

that there is a surplus of 2 kg. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £shP ÷£÷μmkU PnUøP 

"Gøh°h¨£mh \μõ\› •øÓ" °À PõmkP. 

2018 ©õºa 1. öuõhUP C¸¨¦ 800 Q.Q ¹.8.00 Ãu®

 2. öPõÒ•uÀ 350 Q.Q ¹. 9 Ãu® 

 12. öPõÒ•uÀ 450 Q.Q ¹.10.50 Ãu® 

 16. öPõÒ•uÀ 600 Q.Q ¹.11 Ãu® 

 23. öPõÒ•uÀ 350 Q.Q ¹.11.50 Ãu® 
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 EØ£zv xøÓUS \μUSPÒ ÁÇ[P¨£mh ÂÁμ® ¤ßÁ¸©õÖ 

2018 ©õºa 3. ÁÇ[Q¯x 320 Q.Q

 7. ÁÇ[Q¯x 200 Q.Q

 13. ÁÇ[Q¯x 400 Q.Q

 19. ÁÇ[Q¯x 550 Q.Q

 26. ÁÇ[Q¯x 150 Q.Q

 30. ÁÇ[Q¯x 200 Q.Q

 15.3.2018 AßÖ |øhö£ØÓ \μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 

8.Q.Q. SøÓÁõP C¸¢ux PshÔ¯¨£mhx. ©õu CÖv°À 

\μUQ¸¨¦ ÷\õuøÚ°ß ÷£õx 2 Q.Q. AvP©õP C¸¨£x 

öu›¯ Á¢ux. 

18. Standard time: 20 hours. Wages Rs. 5 per hour. Time 
taken to employee the task 13 hours. Factory overhead is 
80% of standard time. Calculate the remuneration under 
Halsey and Rowan scheme and prepare a comparative               
statement showing which method benefits to the owners. 

 {ø»¯õÚ ÷|μ® : 20 ©o ÷|μ®, T¼ ©oUS ¹. 5 BS®. 

£o •iUP 13 ©o ÷|μ® BÚx. öuõÈØ\õø» ÷©À{ø» 

ö\»Ä {ø»¯õÚ ÷|μzvÀ 80% BS®. íõÀ÷\ ©ØÖ® 

÷μõÁõß vmhzvÀ RÌ Fv¯® PnUQmk E›ø©¯õÍ¸US 

£¯ÚÎUS® vmhzøu Põmk® J¸ J¨¥mk AÔUøP u¯õº 

ö\´P.  

19. From the data given below prepare a secondary 
Distribution statement by adopting simultaneous 
equations method cost as per summary. 

 Production Department  P1  80,000 

 Production Department   P2  60,000 

 Production Department   P3   40,000 

 Service Department    C   10,000 

 Service Department    D   10,000 
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 The following may be taken as the basis of 
reapportionment. 

 P1 P2 P3 C D 

Service Department C 40% 30% 20% – 10%

Service Department  D 30% 30% 20% 20% – 

 J÷μ \©ß •øÓø¯¨ £¯ß£kzv Cμshõ® {ø»¨ £QºÄ 

ö\´P. R÷Ç öPõkUP¨£mh Â£μ[PÎß AhUP {ø» 

Ai¨£øh°À. 
 EØ£zv xøÓ P1  80,000 

 EØ£zv xøÓ P2  60,000 

 EØ£zv xøÓ P3   40,000 

 EØ£zv xøÓ C   10,000 

 EØ£zv xøÓ D   10,000 

 ¤ßÁ¸£øÁPÎÀ E£› ö\´vPÒ uμ¨£mkÒÍÚ. 

 P1 P2 P3 C D 
÷\øÁ xøÓ C 40% 30% 20% – 10%

÷\øÁ xøÓ D 30% 30% 20% 20% – 

20. A product passes through three processes I, II and III. 
From the following information, Prepare the process 
account. Assuming that there are no opening or                
closing stocks. Also give the abnormal loss and abnormal 
gain account. 

Particulars Process I Process II Process III
Materials Rs. 2000 Rs. 3,000 Rs. 1000
Labour 10,000 16,000 13,000
Overhead 2,100 2,376 4,000
Actual output 19,000 18,200 16,200
(units) 
Normal loss 

3% 5% 8%

 The Normal loss of process I was sold at 25 Paise per unit 
that of process II at 50 paise per unit, and that of process 
III at Rs.1 Per Unit. 10,000 Units were                   
introduced to the process I in the beginning at a cost of 
Rs.1 per Unit. 
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 J¸ ö£õ¸Ò ‰ßÖ £i•øÓPÎÀ u¯õμõQÓx. ¤ßÁ¸® 

ö\´vPÎ¼¸¢x £i•øÓU PnUSPøÍ²®, A\õuõμn 

C»õ£® ©ØÖ® |mhU PnUSPøÍ²® u¯õ›UP. 

 £i•øÓ I £i•øÓ II £i•øÓ III

ö£õ¸ÒPÒ Rs. 2000 Rs. 3,000 Rs. 1000

T¼ 10,000 16,000 13,000

÷©Øö\»ÄPÒ 2,100 2,376 4,000

EØ£zv ö\´¯¨£mh A»SPÒ 19,000 18,200 16,200

CÇ¨¦PÒ (\õuõμn |mh®) 3% 5% 8%

 CÇ¨¦PÒ (J¸ A»S) £i•øÓ I 25 ø£\õ, £i•øÓ II 50 
ø£\õ, £i•øÓ III ¹.1 Ãu® ÂØUP¨£kQßÓÚ. £i•øÓ  I&À 

10,000 A»SPÒ AhUPÂø» A»S JßÖUS ¹. 1 Ãu® 

AÎUP¨£kQßÓx..  

  
 
 
 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Commerce with Computer Application 

JAVA PROGRAMMING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Internet? 

 Cøn¯®  GßÓõÀ GßÚ? 

2. Give the expansions for WWW. 

 WWW ß Â›ÁõUPzøuz u¸P. 

3. List out the operators used in Java. 

 JAVA ÂÀ £¯ß£kzu¨£k® B¨£÷μmhºPøÍ 

Á›ø\¨£kzxP. 

4. How tokens are defined in Java? 

 JAVA ÂÀ G¨£i ÷hõUPßPÒ Áøμ¯ÖUP¨£kQßÓÚ. 

5. How to define a Class? 

 J¸ ÁS¨ø£ GÆÁõÖ Áøμ¯ÖUP ÷Ásk®? 

Sub. Code 
4BCC6C1 
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6. Define Inheritance. 

 Inheritance Áøμ¯ÖUP. 

7. When to use an Exception? 

 Exception I  G¨÷£õx £¯ß£kzu ÷Ásk®. 

8. List out the various types of Thread Priorities. 

 Thread ß £»ÁøP¯õÚ •ßÝ›ø©PøÍ £mi¯¼kP. 

9. Write the syntax of drawstring ( ) method. 

 drawstring ( )•øÓ°ß C»UPnzøu GÊxP. 

10. Define HTML. 

 HTML I Áøμ¯ÖUP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) How does C++ differ from Java? 

  Java Â¼¸¢x C++ GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) Examine the Role of Web Browser. 

  Áø» E»õÂ°ß £sø£ B´P. 

12. (a) What are the various data types supported in Java? 
Explain. 

  Java ÂÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ uμÄ ÁøPPÒ 

GßÚ?  ÂÍUSP. 

Or 

 (b) Examine the usage of Switch statement. 

  Switch statement ß £¯ß£õkPøÍ B´P. 
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13. (a) Enumerate the concept of Constructor Overloading 

with example. 

  Constructor Overloading ß uzxÁzøu 

GkzxUPõmkPÐhß ÂÁ›UP. 

Or 

 (b) What is an Interface? How to implement it? 

  Interface   GßÓõÀ GßÚ? Aøu GÆÁõÖ ö\¯À£kzu 

•i²®? 

14. (a) How will you create your own Exception type? 
Explain with example. 

  Own Exception ÁøPø¯ GÆÁõÖ E¸ÁõUSÁõ´? 

Aøu GkzxUPõmkPÐhß ÂÁ›. 

Or 

 (b) Explain the two ways for Creating Thread with 
example. 

  Creating Thread ß C¸ ÁÈPøÍ 

GkzxUPõmkPÐhß ÂÍUSP. 

15. (a) How to pass the parameters into applets? 

  AÍÄ¸UÒ GÆÁõÖ applets  I PhUP ÷Ásk®? 

Or 

 (b) Elucidate the Life Cycle of Applet. 

  Applet ß ÁõÌUøP _ÇØ]ø¯ öuÎÄ£kzxP. 

 Part C  (3  10 = 30) 
Answer any three questions. 

16. Describe the following 

 (a) JDK 

 (b) JVM 

 (c) API 

 (d) IDE. 
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 RÌUPshÁØøÓ ÂÁ›UP. 

 (A) JDK 

 (B) JVM 

 (C) API 

 (D) IDE. 

17. Explain the usage of Nested If Statement with example. 

 Nested If Statement ß £¯ß£õkPøÍ GkzxUPõmkPÐhß 

ÂÁ›UP. 

18. Examine Method Overriding with example. 

 Method Overriding I GkzxUPõmk {μÀPøÍU öPõsk 

ÂÍUSP. 

19. Discuss the Life Cycle of Thread. 

 Thread ß ÁõÇUøP _ÇØ]ø¯ £ØÔ ÂÁõv. 

20. How to draw Lines and Rectangle using graphics class? 

 ÷PõkPÒ ©ØÖ® ö\ÆÁP[PøÍ ÁøμÁuØS GÆÁõÖ 

Qμõ¤Uì ÁS¨ø£ £¯ß£kzxÃºPÒ? 

—————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Commerce with Computer Application 

INCOME TAX-LAW AND PRACTICE – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all the questions. 

1. Write a short note on ‘Hindu Undivided Family’. 

 C¢v¯ TmkUSk®£® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

2. What are the methods of computing the income of a firm? 

 J¸ {ÖÁÚzvß Á¸©õÚzøu PnUQkÁuØPõÚ •øÓPÒ 

¯õøÁ? 

3. Who appoints the various income tax authorities? 

 £À÷ÁÖ ÁøP¯õÚ  Á¸©õÚ Á› AvP›PøÍ {¯©õÚ® 

ö\´£Áº ¯õº? 

4. State the any two objectives of Taxation. 

 Á›Âv¨¤ß Cμsk ÷|õUP[PøÍ TÖ[PÒ. 

Sub. Code 
4BCC6C2 
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5. Compute the taxable income of Mr.D. 

 (a)  Income from card game Rs.50,000 

 (b)  Loss from card games Rs. 5,000 

 (c)  Loss on maintenance of Race horses Rs. 10,000 

 (d)  Profit on Race horses (Stake money) Rs.20,000. 

 v¸.""i''°ß  Á›Âv¨¦ Á¸©õÚzøu PnUQk[PÒ. 

 (A) `uõmhzvß ‰»® Á¸©õÚ® ¹.50,000  

 (B) `uõmhzvß ‰»® ö£ØÓ |mh® ¹. 5,000 

 (C) Jmh£¢øu¯ Svøμ°ß ¤μõ©›¨¦ ö\»Ä ¹. 10,000 

 (D) Jmh£¢øu¯ Svøμ°ß ‰»® Á¸©õÚ® ¹. 20,000. 

6. Define the term ‘Gross Total Income’. 

 ""ö©õzu Á¸©õÚ®'' GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

7. Write about Provisional Assessment. 

 uØPõ¼P ©v¨¥k £ØÔ GÊxÁ[PÒ. 

8. What do you understand by ‘Reassessment’? 

 ""©Ö©v¨¥k'' ‰»® }[PÒ GßÚ ¦›¢x öPõÒRÓºPÒ? 

9. What is ‘tax credit certificate’? 

 ""Á› Phß \õßÔuÌ''  GßÓõÀ GßÚ? 

10. What is meant by Advance payment of Tax? 

 ""•ßTmi÷¯ ö\¾zx® Á›''  GßÓõÀ GßÚ? 
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 Section B  (5  5 = 25) 

Answer all the questions. 

11. (a) A partnership firm has a book profit of Rs.4,60,000. 
Remuneration allowable to working partners as per 
partnership deed is Rs. 1,00,000. Compute the 
allowable remuneration under income tax Act. 

  J¸ {ÖÁÚzvß ¦zuP »õ£® ¹. 4,60,000 BS®. 

Tmhõsø© £zvμzvß £i EøÇUS® TmhõÎPÐUS 

Fv¯® ÁÇ[Q¯x ¹. 1,00,000 Á¸©õÚ Á›a\mhzvß 

RÌ AÝ©vUPUTi¯ Fv¯zøu PnUQk[PÒ. 

Or 

 (b) Compute the tax payable by a company for the 
Assessment year 2019-2020 if: 

  (i) Its total Income is Rs.4,00,000 and book profit 
is Rs.15,00,000. 

  (ii) Its total income is Rs.6,20,000 and book profit 
is Rs.10,00,000. 

  2019–20 ©v¨¥k BskUS J¸ {ÖÁÚ® ö\¾zu 

÷Ási¯ Á›ø¯ PnUQkP. 

  (i) Cuß ö©õzu Á¸©õÚ® ¹. 4,00,000 ©ØÖ® ¦zuP 

»õ£® ¹. 15,00,000 

  (ii) Cuß ö©õzu Á¸©õÚ® ¹.6,20,000 ©ØÖ® ¦zuP 

»õ£® ¹. 10,00,000. 

12. (a) What is Permanent Account Number (PAN)? 

  {μ¢uμ PnUS Gs  GßÓõÀ GßÚ? 

Or 

 (b) What are the powers of commissioner of Income 
Tax? 

  Á¸©õÚ Á› Bøn¯›ß AvPõμ[PÒ ¯õøÁ? 
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13. (a) Mr. Nereka’s previous year’s gross total income is 

Rs.4,50,000. He has made the following donations. 
Calculate his net income. 

  (i) Jawaharlal Nehru Memorial Fund  Rs. 12,000 

  (ii) Rajiv Gandhi Foundation Rs. 8,000 

  (iii) Africa Fund   Rs. 15,000 

  (iv) Indira Gandhi Memorial Fund Rs.14,000 

  v¸. ö|öμPõÂß •¢øu¯ Bsiß ö©õzu Á¸©õÚ 

¹. 4,50,000 AÁº ¤ßÁ¸® |ßöPõøhPøÍ 

ÁÇ[Q²ÒÍõº. AÁμx {Pμ Á¸©õÚzøu PnUQkP. 

  (i) áÁíº»õÀ ÷|¸ {øÚÄ {v ¹. 12,000 

  (ii) μõáüÆPõ¢v AÓUPmhøÍUS ÁÇ[Q¯x 

¹.8,000 

  (iii) B¨¤›UPõ Âv ¹. 15,000 

  (iv) C¢vμõ Põ¢v {øÚÄ {{ ¹. 14,000. 

Or 

 (b) Show the adjustment of following losses and 
incomes of an individual for the previous year 
ending on March 31, 2019: 

  Rs. 

(i) Depreciation B/F from previous year 2010-11 1,00,000 

(ii) Depreciation B/F from previous year 2013-14 1,60,000 

(iii) Depreciation B/F from previous year 2016-17 2,00,000 

(iv) Income under the head “profits and gains” 1,50,000 

(v) Income from other sources 3,20,000 
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  2019, ©õºa 31 EhÚ •iÄÖ® •¢øu¯ BsiØPõÚ 

J¸ |£›ß ¤ßÁ¸® |mh[PøÍ \›ö\´x 

Põs¤UPÄ®.  

  ¹. 

(i) 2010-–11  BskUPõÚ ÷u´©õÚ® 1,00,000 

(ii) 2013-–14 BskUPõÚ ÷u´©õÚ® 1,60,000 

(iii) 2016-–17 BskUPõÚ ÷u´©õÚ® 2,00,000 

(iv) C»õ£[PVÒ ©ØÖ® Buõ¯[PÒ   

 GßÓ uø»¨¤À Á¸©õÚ® 1,50,000 

(v) ¤Ó ÁøP°À Á¢u Á¸©õÚ® 3,20,000 

14. (a) Describe briefly the income tax law relating to 

‘Rectification of mistake’. 

  ""uÁøÓa \›ö\´uÀ'' öuõhº£õÚ  Á¸©õÚ Á›a 

\mhzvß ÂvPøÍ GÊxP. 

Or 

 (b) What is Best Judgment assessment? 

  ]Ó¢u wº¨¦ ©v¨¥k  GßÓõÀ GßÚ? 

15. (a) Explain the procedure for making claim for refund. 

  £nzøuz v¸®£¨ö£ÖÁuØPõÚ ÁÈ•øÓPøÍ 

ÂÍUSP. 

Or 

 (b) List out the payment which tax is deducted at 

source. 

  ö\¾zxuÀ ‰»® PÈUP¨£k® Á›ø¯ £mi¯¼k[PÒ. 



A–8673 

  

  6

Wk 10
 Section C  (3  10 = 30) 

Answer any three questions. 

16. The following details of income have been supplied by 
Karta of H.U.F. You are required to compute the total 
income and tax of H.U.F. It has deposited Rs. 10,000 in 
PPF. 

 (a) Profit from business   2,62,000 

 (b) Salary received by a member of H.U.F. 8,000 

 (c) Director’s fee received by Karta 6,000 

 (d) Rental value of the property let 12,000 

 (e) Municipal taxes   600 

 (f) Bank Interest on a fixed deposit 450 

 (g) Long-term Capital gains from  

  the transfer of building  9,500 

 (h) Long-term Capital gains from the  

  transfer of investments  10,000 

 (i) Donation to a college which 

  is an approved institution 4,000 

 (j) Profit from an AOP (1/4th  share) 10,000 

 ¤ßÁ¸® Á¸©õÚ[PøÍ J¸ C¢v¯ Tmk Sk®£ uø»Áº 

uºzuõ ÁÇ[Q²ÒÍõº. C¢v¯ Tmk Sk®£¨ ö©õzu 

Á¸©õÚ® ©ØÖ® Á›ø¯ }[PÒ PnUQh ÷Ásk®. Cx  

¹. 10,000 zøu PPF CÀ •u½k ö\´xÒÍx. 

 (A) ÁoPzv¼¸¢x Qøhzu »õ£® ¹. 2,62,000 

 (B) H.U.F. EÖ¨¤ÚμõÀ ö£Ó¨£mh \®£Í® ¹.8,000 

 (C) Pºzuõ C¯US|μõP ö£Ó¨£mh Pmhn® ¹.6,000 

 (D) ö\õzvß ÁõhøP ©v¨¦ ¹. 12,000 

 (E) |Pμõm] Á› ¹. 600 

 (F) J¸ {ø» øÁ¨¦USPõÚ Á[Q Ámi ¹. 450 
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 (G) ¹. 9,500 Pmihzøu ©õØÖÁuß ‰»® ö£Ó¨£mh 

}shPõ» ‰»uÚ Buõ¯[PÒ 

 (H) ¹. 10,000 •u½kPÎß \õßÖÁuß ‰»® ö£Ó¨£mh 

}sh Põ» ‰»uÚ Buõ¯[PÒ 

 (I) A[RP›UP¨£mh PÀ¾US |ßöPõøh ÁÇ[Q¯x  

¹. 4,000 

 (J) AOP (1/4 £[S) ¹. 10,000. 

17. Describe the procedure for appeal against an assessment. 

 ©v¨¥miØS GvμõP ÷©À •øÓ±k ö\´ÁuØPõÚ  

|øh•øÓø¯ ÂÁ›UPÄ®. 

18. Mr. X had a Gross Total Income of Rs. 10,00,000 which 
included Rs.10,000 as long term capital gains for the 
assessment year 2019-20. During the year Mr. X made 
the following donations. 

 Rs. 

 (a) National Defence fund   10,000 

 (b) Prime Minister’s Relief Fund  1,00,000 

 (c) To Family Planning Association of India 40,000 

 (d) All India Congress Party  

  (Recognised political party)  1,00,000 

 (e) University of Allahabad 

  (Notified as Institute of  

  National Eminence)   50,000 

 (f) Notified charitable hospital  50,000 

 (g) To clean Ganga fund   20,000 

 In addition to the above he paid Life Insurance Premium 
of Rs.25,000 on a policy of Rs. 2,00,000 which he acquired 
on 10th March,2019. You are requested to advise your 
client and compute the relief in respect of Donations and 
life insurance premium. 
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 v¸. ‘‘X’’ Gß£Á›ß ö©õzu Á¸©õÚ® ¹. 10,00,000 BS®. 

CvÀ 2019–20 ©v¨¥k BsiØPõÚ }sh Põ» ‰»uÚ 

Buõ¯[PõP ¹. 10,000 Ah[S®. v¸. ‘‘X’’ Gß£Áº RÌÁ¸® 

|ßöPõøhPøÍ ÁÇ[QÚõº. 

 (A) ÷u]¯ £õxPõ¨¦ {vUS   ¹. 10,000 

 (B) ¤μu©›ß {ÖÁμn {vUS ÁÇ[Q¯x  ¹. 1,00,000 

 (C) Sk®£ Pmk£õk vmh \[PzvØS ÁÇ[Q¯x  ¹.40,000 

 (D) AQ» C¢v¯ Põ[Qμì Pm]US  

  (A[RP›UP¨£mh Pm] ÁÇ[Q¯x  ¹. 1,00,000 

 (E) A»Põ£õz £ÀPø»UPÇP®  

  (÷u]¯ ]Ó¨¦ {ÖÁÚ©õP  

  AÔÂUP¨£mhx) ÁÇ[Q¯x  ¹. 50,000 

 (F) AÔÂUP¨£mh öuõsk  

  ©¸zxÁ©ønUS ÁÇ[Q¯x  ¹.50,000 

 (G) P[øP {v _zu® ö\´¯   ¹. 20,0000 

  ÷©ØS›¯ÁØøÓz uÂμ, B²Ò Põ¨¥mk ¤Ÿª¯zøu 

¹.25,000 £õ¼]°ß ©v¨¦ ¹. 2,00,000 ö\¾zv¯x. 

CÁº B²Ò Põ¨¥mk £zvμzøu 10, ©õºa 2019 

BsiÀ Áõ[QÚõº. |ßöPõøhPÒ ©ØÖ® B²Ò 

Põ¨¥mk ¤›©¯zøu PnUQhÄ®. 

19. Explain the various types of assessment. 

 £À÷ÁÖ ÁøP¯õÚ ©v¨¥møh ÂÍ[SPÒ. 

20. What are the provisions in I.T. Act 1961 regarding T.D.S 
from Interest of securities? 

 £zvμ[PÎß Ámi°À C¸¢x ö£Ó¨£mh Á¸©õÚzvØS 

T.D.S öuõhº£õÚ Á¸©õÚ Á›a\mh® 1961, CÀ EÒÍ 

Âv•øÓPøÍ ÂÍUSP. 

—————— 
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B.Com. (C.A.) DEGREE EXAMINATION,  
NOVEMBER 2019 

Sixth Semester 

Commerce with Computer Application 

SPECIAL ACCOUNTS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Statutory Reserves? 

 \mh•øÓ Põ¨¦ GßÓõÀ GßÚ? 

2. What is meant by non-banking assets? 

 Á[Q°À»õ ö\õzxUPÒ Gß£uß ö£õ¸Ò ¯õx? 

3. State the meaning of surrender value. 

 J¨£øh¨¦ ©v¨¦ Gß£uß ö£õ¸Ò TÖP. 

4. Make a note on ‘Double Insurance’. 

 ‘CμmøhU Põ¨¥k’ £ØÔ SÔ¨¦ ÁøμP.  

5. What is meant by disposal of surplus? 

 E£› }UP® Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
4BCC6C3 
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6. Write short notes on ‘Clear Profit’. 

 ‘öuÎÁõÚ C»õ£®’ £ØÔ SÔ¨¦ GÊxP.  

7. What is meant by pre-acquisition profit? 

 •ß öPõÒ•uÀ C»õ£® Gß£uß ö£õ¸Ò ¯õx? 

8. What is mutual obligation? 

 £μì£μ Phø© GßÓõÀ GßÚ? 

9. Write a note on fair value of shares. 

 £[SPÎß {¯õ¯ ©v¨¦ £ØÔ SÔ¨¦ GÊxP.  

10. What is meant by port charges? 

 xøÓ•PU Pmhn® Gß£uß ö£õ¸Ò ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following details relating to Chennai Bank 
Ltd. prepare Profit and Loss a/c for the year ended 
31.3.2011. 

 Rs. 
Interest earned 37,01,738
Other incomes 4,55,000
Interest expended  20,37,452
Salary, Rent and Tax paid 4,80,286
Provisions and Contingencies 13,00,000
Profit brought forward from previous year Nil

  Adjustments : 

  (i) Transfer to statutory reserve 20% out of profit. 

  (ii) Transfer to proposed dividend Rs. 1,00,000. 

  (iii) Balance carried over to Balance Sheet  
Rs. 1,71,200. 
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  RÌÁ¸® ÂÁμ[PÎ¼¸¢x 31.3.2011® BsiØPõÚ 

ö\ßøÚ Á[Q°ß C»õ£&|mhU PnUøP u¯õ›UPÄ®.  

 ¹. 

Ámi Á¸©õÚ® 37,01,738

Cuμ Á¸©õÚ® 4,55,000

Ámi ö\¾zu¨£mhx 20,37,452

\®£Í®, ÁõhøP ©ØÖ® Á› ö\¾zv¯x 4,80,286

{PÌÁøh ©ØÖ® JxUS 13,00,000

Ph¢uõsk C»õ£® R/öPõ Nil

  \›UPmhÀPÒ : 

  (i) \mh•øÓU Põ¨¦US 20% C»õ£zv¼¸¢x 

©õØÓ® ö\´¯ ÷Ásk®.  

  (ii) £[Põuõ¯® JxURk ¹. 1,00,000 

  (iii) C¸¨¦{ø»U SÔ¨¦US Gkzxa ö\À» ÷Ási¯ 

C¸¨¦ ¹. 1,71,200 

Or 

 (b) Calculate rebate on bills discounted as on 31.3.2010. 

 
Amount Date of Bill 

Rs. 

Period Rate of Discount

15.1.2010 25,000 5 months 8% 

10.2.2010 15,000 4 months 7% 

25.2.2010 20,000 4 months 7% 

20.3.2010 30,000 3 months 9% 
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  31.3.2010 AßÖ PÈÄ ö\´¯¨£mh ©õØÖa^miß 

«uõÚ uÒÐ¨£iø¯ PnUQkP. 

öuõøP ©õØÖa^mk 

÷uv ¹. 

Põ»® 

(©õuzvØS)
Ámh® ÂQu®

15.1.2010 25,000 5  8% 

10.2.2010 15,000 4  7% 

25.2.2010 20,000 4  7% 

20.3.2010 30,000 3  9% 

12. (a) A life insurance company disclosed a fund of  
Rs. 20,00,000 on December 31, 2016 before taking 
the following into consideration. 

  (i) A claim of Rs. 10,000 was intimated and 
admitted but not paid during the year. 

  (ii) Premium of Rs. 600 is payable under 
reinsurance. 

  (iii) Reinsurance recoveries Rs. 26,000. 

  (iv) Bonus utilised in reduction of premiums  
Rs. 10,000. 

   Pass the necessary journal entries for the 
above omissions and re-compute the fund. 

  RÌUPshÁØøÓ PnUQÀ GkzxUöPõÒÐ•ß, J¸ 

B²Ò Põ¨¥mk {Ö©® i\®£º 31, 2016À •iÄØÓ 

BskUS ¹. 20,00,000 B²Ò Põ¨¥mk {v¯õP 

PnUQmhx.  

  (i) öu›ÂUP¨£mk, AÝ©vUP¨£mk, ö\¾zu¨£hõu 

C¢u BsiØPõÚ ÷Põ›UøPPÒ ¹. 10,000 

  (ii) ©ÖPõ¨¥miß ÷£›À ö\¾zu ÷Ási¯ •øÚ©® 

¹. 600 
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  (iii) ©ÖPõ¨¥mk |èh Dk Á`À ¹. 26,000 

  (iv) FUPzöuõøP¯õÀ SøÓUP¨£mh •øÚ©®  

¹. 10,000 

   ÷©ØPsh Âk£h¨£mh |hÁiUøPPÐUPõÚ 

•uØSÔ¨÷£mk £vÂøÚz u¸P. {vø¯ 

©Ö£i²® PnUQkP.  

Or 

 (b) The life fund of a Life Insurance Company was  
Rs. 43,24,000 as on 31st March 2014. The interim 
bonus paid was Rs. 74,000. The actuarial valuation 
determined the net liability at Rs. 3 7,12,500. The 
surplus brought forward from the previous 
valuation was Rs. 4,25,000. 

  Prepare the valuation balance sheet and find out 
the net profit for the valuation period. 

  J¸ B²Ò Põ¨¥mk {ÖÁÚzvß 31 ©õºa 2014ß 

B²Ò Põ¨¥mk {v ¹. 43,24,000 BS®. ¹. 74,000 

CøhUPõ» FUPz öuõøP¯õP ÁÇ[P¨£mhx. 

Põ¨¥mk Po¨£Á›ß ©v¨¥k, {Pμ¨ ö£õÖ¨¦  

¹. 37,12,500 GßÖ wº©õÛUP¨£mhx.  

  •¢øu¯ ©v¨¥mi¼¸¢x öPõskÁμ¨£mh E£›z 

öuõøP ¹. 4,25,000 BS®. ©v¨¥k C¸¨¦ {ø»U 

SÔ¨¤øÚ u¯õº ö\´P. ÷©¾® {Pμ C»õ£zøu²® 

PnUQkP.  

13. (a) What are the differences between double account 
system and single account system? 

  Cμmøh PnUS •øÓUS®, JØøÓ PnUS •øÓUS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPÍ ¯õøÁ? 

Or 
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 (b) An electricity company laid down a main at a cost of 

Rs. 10,00,000. Some years later, the company laid 
down an auxiliary main for one-fifth of the length of 
the old main at the cost of Rs. 3,00,000 and also 
replaced the rest of the length of the old main at a 
cost of Rs. 6,00,000. Sale of old material realised  
Rs. 16,000. Old materials valued at Rs. 20,000 were 
used in renewal and those valued Rs. 10,000 were 
used in the construction of the auxiliary main. 

  Calculate the current and capital expenditure. 

  ªß Â{÷¯õP® ö\´²® P®ö£Û ¹. 10,00,000 

ö\»ÂÀ Cøn¨¤øÚ ÷£õmhx. ]» Á¸h[PÒ 

PÈzx, £øÇ¯ Cøn¨¤À 1/5 £õPzvØS Cøn¨¤À 

¹. 3,00,000 ö\»ÂÀ ÷£õmhx. «vø¯ ¹. 6,00,000US 

¦x¨¤zux. £øÇ¯ ö£õ¸Ò ÂØÓx ¹. 16,000. £øÇ¯ 

ö£õ¸mPÒ ¹.20,000 ©v¨¦øh¯øÁ ¦x¨¤zu¼¾® 

¹. 10,000 ©v¨¦ÒÍøÁ xøn Cøn¨¦ 

÷£õkÁuØS® £¯ß£kzu¨£mhx. |øh•øÓ ö\»Ä 

GÆÁÍÄ GßÖ® ‰»uÚ ö\»Ä GÆÁÍÄ 

GÚUPnUQhÄ®.  

14. (a) S Ltd. has a capital of Rs. 2,00,000 in shares of  
Rs. 100 each out of which H Ltd. purchased 75% of 
the shares of S Ltd. at Rs. 2,40,000. The profit of  
S Ltd. at the time of purchase of shares by H Ltd. 
were Rs. 1,10,000. S Ltd. decided to make a bonus 
issue out of pre-acquisition profit of one share for 
every five shares held. Calculate the cost of control. 

  (i) Before the issues of bonus shares and 

  (ii) After the issue of bonus shares. 
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  S ¼ªöhmiß £[S ‰»uÚ® ¹. 2,00,000 (£[S 

JßÖUS ¹. 100 Ãu®) C¸¢ux. H ¼ªöhm  

S ¼ªöhmiß 75% £[SPøÍ ¹. 2,40,000US 

öPõÒ•uÀ ö\´ux. £[SPøÍ öPõÒ•uÀ ö\´u÷£õx 

S ¼ªöhmiß C»õ£® ¹. 1,10,000. S ¼ªöhm, 

Dº¨¤ØS •ß EÒÍ C»õ£zv¼¸¢x JÆöÁõ¸  

5 £[SPÐUS, J¸ £[S GßÓ ÂQuzvÀ, C»Á\ 

£[SPøÍ öÁÎ°h wº©õÛzux.  

  C»Á\ £[SPÎß öÁÎ±mkUS¨¤ß ©ØÖ® C»Á\ 

£[S öÁÎ±miØS •ß EÒÍ Pmk¨£õk AhUPzøuU 

PnUQkP.  

Or 

 (b) Prepare consolidated balance sheet as on 31.3.2013. 

H  

Ltd.

 S 

Ltd. 

H  

Ltd.

S 

Ltd.Liabilities 

Rs.  Rs. 

Assets 

Rs. Rs. 

Share capital in Re. 

1 fully paid shares 12,000

 

5,000

Sundry assets

Investment a/c :

20,000 8,000

Reserve 

P & L a/c 

5,000

2,000

 1,000

1,000

5000 shares of 

S Ltd. 6,500 —

Sundry liabilities 7,500  1,000  

 26,500  8,000  26,500 8,000

  (i) Shares were acquired by H Ltd. on  

30th September 2012. 

  (ii) S Ltd. transferred Rs. 500 from profits to 

reserve on 31.3.2013. 
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  31.3.2013&UPõÚ J¸[Qøn¨¦ C¸¨¦{ø»U SÔ¨¦ 

u¯õ›UPÄ®.  

H  

¼m 

 S  

¼m 

H  

¼m 

S 

¼m ö£õÖ¨¦PÒ 

¹.   ¹. 

ö\õzxUPÒ 

¹.  ¹. 

£[S•uÀ : ¹. 1 Ãu® 

•ØÔ¾® ö\¾zu¨£mhx 12,000

 

5,000

£Ø£» ö\õzxUPÒ 

•u½mk PnUS : 

20,000 8,000

JxUS 

C£õ£|mhU P/S 

5,000

2,000

 1,000

1,000

S {Ö©zvß 5000 

£[SPÒ 6,500 —

£Ø£» ö£õÖ¨¦PÒ 7,500  1,000  

 26,500  8,000  26,500 8,000

  (i) H {Ö©® £[SPøÍ 30.9.2012 AßÖ Áõ[Q¯x. 

  (ii) 31.3.2013 AßÖ S {Ö©® C»õ£zv¼¸¢x  

¹. 500 I JxUSUS ©õØÔ¯x  

15. (a) From the following information, calculate the value 

per equity share under yield method : 

 Rs. 

2000, 9% preference shares of Rs. 100 each 2,00,000

50,000 Equity shares of Rs. 10 each, Rs. 8 per share 

paid up 4,00,000

Expected profits per year before tax 2,18,000

Rate of tax 50% 

Transfer to General Reserve every year 20% of 

the profit

Normal rate of earning 15% 
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  Á¸Áõ´ •øÓ°ß ‰»® RÌÁ¸® ÂÁμ[PÎÀ C¸¢x 

J¸ \õuõμn¨ £[Qß ©v¨ø£U PshÔ¯Ä®.  

 ¹. 

2000, 9% •ßÝ›ø© £[SPÒ JßÖ ¹. 100  2,00,000

50,000 \õuõμn¨ £[SPÒ JßÖ ¹. 10, ¹. 8 

ö\¾zu¨£mhx 4,00,000

JÆöÁõ¸ Bsk® Gvº£õºUP¨£k® C»õ£®  2,18,000

Á› ÂQu® 50% 

JÆöÁõ¸ Bsk® ö£õxUPõ¨¦US C»õ£zv¼¸¢x 

©õØÓ® ö\´¯¨£kÁx 

20%  

\õuõμn Á¸Áõ´ \uÃu® 15% 

Or 

 (b) Describe the objectives of Farm Accounting. 

  ÂÁ\õ¯ PnUQ¯¼ß ÷|õUP[PøÍ ÂÍUSP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following information relating to Adarsh  
Bank  Ltd. prepare Profit and Loss a/c for the year ended 
31.3.2008 along with necessary schedules : 

 Rs. 
(in ‘000)

Interest/discount received 31,628

Income on investments 11,810

Interest on balances with RBI 4,243

Commission, exchange and  brokerage 2,907

Profit on sale of investment 114

Interest on RBI’s loan 31,404

Payments to and provisions for employees 9,717

Rent, taxes and lighting 955

Printing and Stationery 213

Interest on RBI borrowings 3,362
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 Rs. 
(in ‘000)

Advertisement and Publicity 87

Depreciation on bank’s property 292

Director’s fees, allowances and  expenses 7

Auditor’s fees and expenses 41

Law charges 22

Postage telegrams, telephones etc 312

Repairs and Maintenance 91

Insurance 915

Other expenditure 884

Balance of P & L a/c b/s 1,524

 Other Information : 
 (a) Make a provision for income-tax @ 51.75%. 
 (b) Every year, bank transfers 20% of profit to 

statutory reserve and 5% of profit to revenue 
reserve. 

 (c) Dividend proposed by directors amounting to  
Rs. 2,00,000. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Buºì Á[Q°ß 31.3.2008 B® 

BsiØS›¯ C»õ£ |mh PnUøP ÷uøÁ¯õÚ 

AmhÁønPÐhß u¯õº ö\´P.  

 ¹. 

(B°μ[PÎÀ)

Ámi²® uÒÐ£i²® ö£ØÓx 31,628

•u½mk Á¸©õÚ® 11,810

›\ºÆ Á[Q°À øÁzv¸US® C¸¨¦ «uõÚ Ámi 4,243

PÈÄ, ©õØÖ, uμS ö£ØÓx 2,907

ÂØÓ •u½miÀ C»õ£® 114

›\ºÆ Á[Q°À Áõ[Q¯ Phß «uõÚ Ámi 31,404
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 ¹. 

(B°μ[PÎÀ)

£o¯õÍºPÐUPõÚ JxUS ©ØÖ® \®£Í® 9,717

ÁõhøP, Á› ©ØÖ® ªß\õμ®  955

GÊxö£õ¸Ò ö\»Ä 213

›\ºÆ Á[Q°h® ö£ØÓuØPõÚ Ámi 3,362

ÂÍ®£μa ö\»ÄPÒ 87

Á[Qa ö\õzxUPÎß «uõÚ ÷u´©õÚ® 292

C¯USÚº Pmhn®, £iPÒ ©ØÖ® ö\»ÄPÒ 7

uoUøP¯õ¸UPõÚ Pmhn® ©ØÖ® ö\»ÄPÒ 41

\mha ö\»ÄPÒ 22

u£õÀ, öuõø»÷£] ö\»ÄPÒ  312

£Êx ©ØÖ® £μõ©›¨¦a ö\»Ä 91

Põ¨¥k 915

Cuμ ö\»ÄPÒ 884

C»õ£|mhU PnUS C¸¨¦ R/öPõ 1,524

 ¤Ó ÂÁμ[PÒ : 

 (A) Á¸©õÚ Á› JxUS 51.75%. 

 (B) C»õ£zvÀ 20%I \mh•øÓU Põ¨¦US® ©ØÖ® 5%I 

Á¸Áõ´ CÚ Põ¨¦US® ©õØÓ® ö\´¯ ÷Ásk®.  

 (C) C¯USÚμõÀ £[Põuõ¯® JxURk ¹. 2,00,000. 

17. The following trial balance was extracted from the books 
of Bharat Assurance Co. Ltd. as 31.12.2015. 

Particulars Debit 
Rs.  

Credit
Rs.   

Paid up share capital : 10,000 shares of Rs. 10 each — 1,00,000

Life Assurance Fund 1.1.2015 — 29,72,300

Dividends paid 15,000 —
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Particulars Debit 
Rs.  

Credit
Rs.   

Premium received less reinsurance premium
(commission there on Rs. 5,000) 

— 1,61,500

Bonus in reduction of premium 31,500 —

Claims paid 1,97,000 —

Outstanding claims (1.1.2015) — 7,000

Commission paid 9,300 —

Management expenses 32,300 —

Mortgages in India 4,92,200 —

Interest & Dividends — 1,12,700

Agent balances 9,300 —

Buildings 40,000 —

Investments 23,05,000 —

Loans on policies 1,73,600 —

Cash on deposit 27,000 —

Cash in hand 7,300 —

Surrenders 7,000 —

Medical fees 7,000 —

Consideration for annuities granted — 10,000

Annuity 10,000 —

 33,63,500 33,63,500

 Prepare the revenue account after considering the 

following : 

 (a) Claims outstanding Rs. 10,000. 

 (b) Further bonus in reduction of premium Rs. 5,000. 

 (c) Premium outstanding Rs. 5,000. 

 (d) Claim covered under reinsurance Rs. 80,000. 

 (e) Management expenses Rs. 30,000. 
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 RÌUPsh C¸¨¦ ÷\õuøÚ¨ £mi¯À £õμz B²Ò Põ¨¥mk 

PÇPzvß 31 i\®£º 2015® BskUPõÚ PnUSPÎ¼¸¢x 

GkUP¨£mhx.  

Â£μ[PÒ 
£ØÖ  

(¹.) 

ÁμÄ 

(¹.) 

ö\¾zu¨£mh •øÚ©® 10,000 £[SPÒ ¹.

10 Ãu® 
— 1,00,000

B²Ò Põ¨¥mk {v 1.1.2015 — 29,72,300
£[Põuõ¯® öPõkzux 15,000 —
©ÖPõ¨¥mk •øÚ©® PÈzx Cuμ

•øÚ©® (Auß PÈÄ ¹. 5,000) 
— 1,61,500

FUPz öuõøP¯õÀ SøÓUP¨£mh

•øÚ©® 
31,500 —

ö\¾zv¯ ÷Põ›UøPPÒ 1,97,000 —
öPõk£h ÷Ási¯ ÷Põ›UøPPÒ (1.1.2015) — 7,000
ö\¾zv¯ PÈÄ 9,300 —
{ºÁõP ö\»ÄPÒ 32,300 —
C¢v¯õÂÀ Ah©õÚ[PÒ 4,92,200 —
Ámi²®, £[Põuõ¯•® — 1,12,700
HáskPÒ {¾øÁ 9,300 —
Pmih[PÒ 40,000 —
•u½kPÒ 23,05,000 —
P®ö£Û £õ¼] «x Phß 1,73,600 —
øÁ¨¦PÒ «uõÚ öμõUP® 27,000 —
øP°¸¨¦ öμõUP® 7,300 —
J¨£øh¨¦PÒ 7,000 —
©¸zxÁU Pmhn® 7,000 —
BskzöuõøP AÎzuvß ©Ö£¯ß — 10,000
Bskz öuõøPPÒ 10,000 —

 33,63,500 33,63,500
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 RÌUPshÁØøÓ PnUQÀ GkzxUöPõsk Á¸Áõ´ 

PnUøP u¯õº ö\´P.  

 (A) öPõk£i÷Ási¯ ÷Põ›UøPPÒ ¹. 10,000 

 (B) FUPz öuõøP¯õÀ, ÷©¾® SøÓUP¨£h •øÚ©®  

¹. 5,000 

 (C) •øÚ©® Áμ ÷Ási¯x ¹. 5,000 

 (D) ©ÖPõ¨¥miß RÌ EÒÍ ÷Põ›UøPPÒ ¹. 80,000 

 (E) öPõk£h ÷Ási¯ {ºÁõP ö\»ÄPÒ ¹. 30,000. 

18. A power house was originally built for Rs. 8,00,000 is to 
be replaced by a new one. The total cost of construction is 
Rs. 28,00,000. The estimated cost of construction of the 
original size power house is Rs. 12,00,000. Materials used 
in new construction is Rs. 40,000 and old materials worth 
Rs. 20,000 is sold. 

 Prepare a statement showing allocation between capital 
and revenue expenditure and pass necessary journal 
entries. 

 J¸ ªß Bø» ¹. 8,00,000US Pmh¨£mhx ©õØÓ® ö\´¯ 

÷Ási²ÒÍx. ö©õzu Pmk©õÚzvÀ AhUPÂø» ¹. 

28,00,000. £øÇ¯ ªß Bø»ø¯ Pmk©õÚ® ö\´ÁuØPõP 

Gvº£õºUP¨£k® AhUPÂø» ¹. 12,00,000 BS®. 

¦xUPmk©õÚzvÀ £¯ß£kzu¨£k® ö£õ¸mPÎß ©v¨¦ 

¹. 40,000 BS®. ©ØÖ® ÂØP¨£mh £øÇ¯ ö£õ¸mPÎß 

©v¨¦ ¹. 20,000 BS®. |øh•øÓ ©ØÖ® ‰»uÚa 

ö\»ÄPÒ PnUQkP.  

 ÷©ØPsh |hÁiUøPPÐUPõÚ •uÀ SÔ¨÷£mk 

£vÂøÚ²® u¸P.  
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19. Following are the summarized Balance Sheets of two 

companies H Ltd. and S Ltd. as at 31st March 2016. 

H Ltd.  S Ltd. H Ltd. S Ltd. 
Liabilities 

Rs.   Rs. 
Assets 

Rs. Rs. 

Share capital (shares of 

Rs. 10 each fully paid) 20,00,000

 

8,00,000

Sundry 

 assets 24,54,000 13,70,000

Reserves 

Profit for the year 

(2015–16) 

3,00,000

4,00,000

 2,00,000

1,00,000

64,000 

Shares in 

S Ltd. 8,96,000 —

Creditors 6,50,000  2,70,000  

 33,50,000  13,70,000  33,50,000 13,70,000

 H Ltd. purchased 16,000 shares of S Ltd. on 31st 

December 2015. You are required to prepare the 

consolidated Balance Sheet. 

 31.3.2016À H ¼ªöhm ©ØÖ® S ¼ªöhmiß C¸¨¦{ø» 

SÔ¨¦PÒ R÷Ç öPõkUP¨£mkÒÍÚ.  

H ¼m S ¼m H ¼m S ¼m 
ö£õÖ¨¦PÒ 

¹. ¹. 
ö\õzxUPÒ

¹. ¹. 

£[S •uÀ/£[S  

JßÖUS ¹. 10 •ÊÁx® 

ö\¾zu¨£mhx 

20,00,000

 

8,00,000 

£Ø£»a 

ö\õzxUPÒ 

64000 £[SPÒ

24,54,000 13,70,000

Põ¨¦PÒ 

2015&16UPõÚ C»õ£® 

3,00,000

4,00,000

2,00,000 

1,00,000 

S ¼ªöhmiß 8,96,000 —

PhÜ¢÷uõº 6,50,000 2,70,000  

 33,50,000 13,70,000  33,50,000 13,70,000

  31.12.2015 AßÖ H ¼ªöhm 16,000 £[SPøÍ  

S ¼ªöhmihª¸¢x Áõ[Q¯x. J¸[QønUP¨£mh 

C¸¨¦{ø»U SÔ¨¤øÚ u¯õº ö\´P.   



A–8674 

  

  16

 
20. The balance sheet of Sunlight Co. Ltd. as on 30th June 

2015 was as follows : 
Liabilities  Assets  

10% Preference share capital 1,00,000 Goodwill 20,000

20,000 Equity shares of Rs. 10 each 2,00,000 Fixed assets 3,60,000

Reserve (including provision for tax 
 Rs. 20,000) 2,00,000

Investments 
(5% Govt. bonds) 40,000

9% Debentures 1,00,000 Current assets 2,00,000

Creditors 35,000 Preliminary expenses 15,000

 6,35,000  6,35,000

 The average profit of the company after tax is Rs. 62,000; 
Fixed assets are under valued by Rs. 10,000. Normal rate 
of return is 10%. Calculate the value of goodwill of the 
company at four times the super profits. 

 \ßø»m ¼ªöhm, áüß 30, 2015 AßÖÒÍ C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

10% •ßÝ›ø© £[S •uÀ 1,00,000 |Øö£¯º 20,000

20000 \õuõμn¨ £[SPÒ   {ø»a ö\õzxUPÒ 3,60,000

  ¹. 10 Ãu® 2,00,000 •u½kPÒ (5% Aμ_¨ £zvμ[PÒ) 40,000

Põ¨¦PÒ (Á›UPõÚ JxURk  |h¨¦a ö\õzxUPÒ 2,00,000

¹. 20,000 ÷\º¢xÒÍx) 2,00,000 öuõhUPa ö\»ÄPÒ 15,000

9% Phß £zvμ[PÒ 1,00,000  

PhÜ¢÷uõºPÒ 35,000  

 6,35,000  6,35,000

 {Ö©zvß Á›US¨¤ß EÒÍ \μõ\› C»õ£® ¹. 62,000; 

{ø»a ö\õzxUPÒ ¹. 10,000 SøÓzx ©v¨¤h¨£mkÒÍx. 

{¯õ¯©õÚ Á¸Áõ´ Ãu® 10% {Ö©zvß |Øö£¯›ß 

©v¨¤øÚ, ªøP C»õ£zvß |õßS ©h[PõP PnUQkP.  

——————— 
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A–8675   

B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2019 

Sixth Semester 

Commerce with Computer Application 

MANAGEMENT ACCOUNTANCY 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Management Accounting. 

 ÷©»õsø© PnUQ¯À C»UPn® u¸P. 

2. Write any two limitations of Management Accounting. 

 ÷©»õsø© PnUQ°¯¼ß H÷uÝ® Cμsk SøÓ£õkPøÍ 

GÊxP. 

3. What is Financial Statements? 

 {v{ø» AÔUøP GßÓõÀ GßÚ? 

4. Write short note on ‘Capital Gearing ratio’. 

 •uÀ E¢xuÀ ÂQu® SÔ¨¦ ÁøμP. 

5. What do you mean by Fund flow statement? 

 {v Kmh AÔUøP GßÓõÀ GßÚ? 

Sub. Code 
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6. Write any two Applications of Funds. 

 {v £¯ß£õkPÒ H÷uÝ® CμsiøÚ GÊxP. 

7. What is meant by budgetary control? 

 ÁμÄ ö\»Ä vmhUPmk£õk Gß£uß ö£õ¸Ò ¯õx? 

8. What is Flexible Budget? 

 ö|QÌÄ ÁμÄ ö\»Ä vmh® GßÓõÀ GßÚ? 

9. What do you mean by Contribution? 

 £[PÎ¨¦ GßÓõÀ GßÚ? 

10. What is Standard Costing? 

 {ø» AhUPÂ¯À GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What are the objectives of Management Accounting? 

  ÷©»õsø© PnUQ°¯¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between Management Accounting and 
Cost Accounting. 

  ÷©»õsø© PnUQ°¯¾US® AhUP Âø» 

PnUQ°¯»US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) Explain the limitations of Ratio analysis. 

  ÂQu £S¨£õ´Âß SøÓ£õkPøÍ ÂÍUSP. 

Or 
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 (b) From the following information, calculate  

  (i)  current assets  

  (ii)  current liabilities  

  (iii)  stock. 

  Current ratio – 2.5; Quick ratio – 1.15;  
Working capital Rs.1,50,000. 

  RÌPsh uPÁÀPÎ¼¸¢x 

  (i)   |h¨¦ ö\õzxPÒ  

  (ii)  |h¨¦ ö£õÖ¨¦PÒ  

  (iii)   \μUQ¸¨¦ PnUQkP.  

  |h¨¦ ÂQu® – 2.5; ÂøμÄ ÂQu® – 1.15; |øh•øÓ 

•uÀ ¹.1,50,000. 

13. (a) State the advantages of Cash Flow Statement. 

  öμõUP Kmh AÔUøP°ß |ßø©PøÍ ÂÁ›. 

Or 

 (b) A company’s reported current profit of Rs,40,000 
after incorporating the following: 

Particulars Rs. 

Loss on sale of equipment 5,000

Discount on issue of debenture 500

Depreciation on machinery 6,500

Goodwill written off 5,000

Interim dividend 2,500

Transfer to general reserve 4,000

Preliminary expenses written off 1,500

  Calculate the funds from operation. 
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  J¸ {ÖÁÚzvß |h¨¦ C»õ£® ¹.40,000, 

Tmk¸ÁõUPzvØS ¤ÓS EÒÍ ÂÁμ[PÒ 

ÂÁμ® ¹. 

P¸Â ÂØÓvÀ |mh® 5,000

PhÜmk £zvμ® uÒÐ£i°À 

öÁÎ°mhx 

500

C¯¢vμzvß «uõÚ ÷u´©õÚ® 6,500

|Øö£¯º ÷£õUöPÊv¯x 5,000

CøhPõ» £[Põuõ¯® 2,500

ö£õxPõ¨¦US ©õØÔ¯x 4,000

öuõhUP ö\»Ä ÷£õUöPÊv¯x 1,500

  ö\¯À£õmk {vø¯ PnUQkP. 

14. (a) What are the limitations of budgetary control? 

  ÁμÄ ö\»Ä vmh Pmk¨£õmiß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) The budgeted expenses for productions of 50% 
capacity units in a factory are furnished below 

Particulars 50% capacity 
Rs. 

Materials 4,000

Labour 3,000

Direct expenses 2,000

Factory expenses (30% fixed) 3,000

Selling and distribution expenses 
(15% fixed) 

2,000

Administration expenses 500

  Prepare a flexible budget for 70% capacity. 
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  J¸ öuõÈØ\õø»°ß 50% vÓÝUPõÚ vmh EØ£zv 

ö\»Ä R÷Ç öPõkUP¨£mkÒÍÚ 

ÂÁμ® 50% vÓß ¹.

‰»¨ö£õ¸mPÒ 4,000

öuõÈ»õÍº 3,000

÷|μia ö\»ÄPÒ 2,000

öuõÈØ\õø» ö\»ÄPÒ (30% 

{ø»¯õÚx) 

3,000

ÂØ£øÚ ©ØÖ® £QºÄ ö\»ÄPÒ 

(15% {ø»¯õÚx) 

2,000

{ºÁõPa ö\»ÄPÒ 500

  70% vÓÝUPõÚ ö|QÌÄ ÁμÄ ö\»Ä vmhzøu 

u¯õ›UP. 

15. (a) Distinguish between budgetary control and 
standard costing. 

  ÁμÄ ö\»Ä vmh Pmk£õmiØS® {ø» 

AhUPÂ¯¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) The following data are available from the records of 
the company: 

  Sales Rs. 1,20,000; Variable cost Rs.84,000; Fixed 
cost Rs. 14,400. Calculate  

  (i) P/V ratio and  

  (ii) Break Even Point. 
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  J¸ {ÖÁÚzvß HkPÎ¼¸¢x RÌPsh ÂÁμ[PÒ 

uμ¨£mkÒÍÚ. 

  ÂØ£øÚ ¹.1,20,000; ©õÖ£õk® ö\»Ä ¹.84,000; 
{ø»aö\»Ä ¹.14,400. 

  (i) C»õ£ AÍÄ ÂQu® ©ØÖ®  

  (ii)  \›\©¦ÒÎ PnUQkP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Distinguish between Financial Accounting and 
Management Accounting. 

 {v PnUQ°À ©ØÖ® ÷©»õsø© PnUQ°¯À – 

÷ÁÖ£kzxP. 

17. From the following particulars. prepare the balance sheet 
with as many details as possible: 

Current ratio 2.75

Liquid ratio 1.5

Proprietary ratio (Fixed assets / Proprietors’ 
fund) 

0.80

Working capital Rs. 1,75,000

Reserves and surplus Rs.80,000

Bank overdraft Rs.30,000

There is no long term loan or Fictitious assets.  
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 RÌPsh ÂÁμ[PÎ¼¸¢x ÷£õv¯ uPÁÀPÐhß C¸¨¦ 

{ø» SÔ¨¦ u¯õ›UP. 

|h¨¦ ÂQu® 2.75

}º© ÂQu® 1.5

E›ø©¯õÍº ÂQu® ({ø» ö\õzx  

E›ø©¯õÍº {v) 

0.80

|øh•øÓ •uÀ ¹. 1,75,000

Põ¨¦ ©ØÖ® E£› ¹.80,000

Á[Q ÷©ÀÁøμ £ØÖ ¹.30,000

}sh Põ» Phß AÀ»x ¦»ÚõPõa ö\õzxUPÒ CÀø» 

18. The balance sheet of Ram and Ragu as on 1.1.2016 and 
31.12.2016 were as follows: 

Liabilities 1.1.2016 
 

Rs. 

31.12.2016 
 

Rs. 

Assets 1.1.2016
 

Rs. 

31.12.2016
 

Rs. 

Capital 1,25,000 1,53,000Cash 10,000 17,000

Mrs.Ram’s 
loan 

25,000 ---Inventory 35,000 25,000

Loan from 
Bank 

40,000 50,000Debtors 30,000 50,000

Creditors 40,000 44,000Machinery 80,000 55,000

 Building 75,000 1,00,000

 2,30,000 2,47,000 2,30,000 2,47,000

 During the year a machine costing Rs.10,000 
(Accumulated depreciation Rs.3,000) was sold for 
Rs.5,000. Net profit for the year 2016 amounted to 
Rs.45,000. You are required to prepare a Funds Flow 
Statement. 
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 μõ® ©ØÖ® μSÂß 1.1.2016 ©ØÖ® 31.12.2016 AßøÓ¯ 

÷uv°ß C¸¨¦ {ø» SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ 1.1.2016 

 

¹ 

 31.12.2016 

 

¹ 

ö\õzxPÒ 1.1.2016 

 

¹. 

31.12.2016

 

¹. 

•uÀ 1,25,000 1,53,000 öμõUP® 10,000 17,000

Mrs.Ram’s 
Phß 

25,000 –– \μUQ¸¨¦ 35,000 25,000

Á[Q Phß 40,000 50,000 PhÚõÎPÒ 30,000 50,000

PhÜ¢÷uõºPÒ 40,000 44,000 C¯¢vμ® 80,000 55,000

  Pmih® 75,000 1,00,000

 2,30,000 2,47,000  2,30,000 2,47,000

 A¢u Bsk ¹.10,000 ©v¨¦ÒÍ C¯¢vμzøu (ö©õzu 

÷u´©õÚ® ¹.3,000 ¹5,000 US ÂØP¨£mhx. 2016 ® Bsk 

{Pμ »õ£® ¹.45,000. {v Kmh AÔUøP u¯õº ö\´P. 

19. ABC company ltd. has given the following particulars. 
You are required to prepare a cash budget for the three 
months ending 31.12.2016: 

(a) Months Sales  
Rs. 

Purchases  
Rs. 

Wages  
Rs. 

August 2,00,000 1,00,000 38,000 

September 2,10,000 1,10,000 38,000 

October 2,30,000 1,19,800 40,000 

November 2,50,000 1,20,000 42,000 

December 3,00,000 1,10,800 45,000 

 (b) Credit terms are: 

  10% sales are on cash basis and remaining of the 
credit sales are collected next month. 

  Purchases 2 months 

  Wages 1 month 

 (c) Cash balance on 1.10.2016 is Rs. 28,000. 
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 ABC Áøμ¯Ö {Ö©zvß ÂÁμ[PÒ R÷Ç 

öPõkUP¨£mkÒÍÚ. 31.12.2016 •iÁøh²©õÖ ‰ßÖ 

©õu[PÐUS öμõUP ÁμÄ ö\»Ä vmh® u¯õº ö\´P. 

(A) ©õu[PÒ ÂØ£øÚ ¹. öPõÒ•uÀ ¹. T¼ ¹. 

BPìm 2,00,000 1,00,000 38,000 

ö\¨h®£º 2,10,000 1,10,000 38,000 

AU÷hõ£º 2,30,000 1,19,800 40,000 

|Á®£º 2,50,000 1,20,000 42,000 

i\®£º 3,00,000 1,10,800 45,000 

 (B) Phß Ai¨£øh°À 

  10% öμõUP ÂØ£øÚ ©ØÖ® «u•ÒÍ Phß ÂØ£øÚz 

öuõøP Akzu ©õu[PÎÀ Á`À ö\´¯¨£k® 

  – öPõÒ•uÀ 2 ©õu[PÒ 

  – T¼ 1 ©õu® 

 (C) 1.10.2016 AßøÓ¯ öμõUP C¸¨¦ ¹.28,000. 

20. Assuming that the cost structure and selling prices 
remain the same in periods I and II find out: 

 (a) P/V ratio. 

 (b) Break even sales. 

 (c) Profit when sales are Rs. 3,00,000 

 (d) Sales required to earn a profit of Rs. 30,000 

Period Sales 

(Rs.) 

Profit 

(Rs.) 

I 2,40,000 18,000

II 2,80,000 26,000
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  Cμsk Põ»¨£Sv°À ö\»Ä Aø©¨¦ ©ØÖ® 

ÂØ£øÚ Âø» A÷u {ø»°À C¸¨£uõPU öPõsk 

RÌPshøÁPøÍ Psk¤i. 

  (A) C»õ£ AÍÄ Âu® 

  (B) \›\© ÂØ£øÚ 

  (C) ÂØ£øÚ ¹.3,00,000 BP C¸US®ö£õÊx 

C»õ£® 

  (D) ¹.30,000 C»õ£® Dmhz÷uøÁ¯õÚ ÂØ£øÚ 

Põ»® ÂØ£øÚ (¹) C»õ£® (¹)

I 2,40,000 18,000 

II 2,80,000 26,000 

 

 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Commerce With Computer Application 

Elective — INDUSTRIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by factory? 

 öuõÈØ\õø» GßÓõÀ GßÚ? 

2. What is safety? 

 £õxPõ¨¦ GßÓõÀ GßÚ? 

3. Define trade union. 

 ÁºzuP öuõÈØ\[P® Áøμ¯ÖUP. 

4. Write a short note on minimum wages. 

 SøÓ¢u£m\ Fv¯[PÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. State the meaning of authorities. 

 Bøn¯õÍº £ØÔ ö£õ¸Ò TÖP. 

6. What is lay-off? 

 ÷Áø» }UP® GßÓõÀ GßÚ? 

Sub. Code 
4BCCE3B 



A–8677 

  

  2

WK11
7. What do you understand by dependent? 

 \õº¢v¸¨÷£õº £ØÔ }Âº AÔÁx GßÚ? 

8. What is permanent disablement? 

 {μ¢uμ C¯»õø© GßÓõÀ GßÚ? 

9. Write a short note on preliminaries. 

 B¯zu©õÚ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you mean by disputes? 

 \ºaø\PÒ £ØÔ }Âº AÔÁx GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the health of the workers. 

  öuõÈ»õÍºPÎß _Põuõμ® £ØÔ ÂÁ›UP. 

Or 

 (b) State the power of inspectors. 

  ÷©Ø£õºøÁ¯õÍ›ß AvPõμ[PøÍ TÖP. 

12. (a) Discuss the cancellation of registration. 

  £vÄ μzx £ØÔ ÂÁõvUP. 

Or 

 (b) What are the duties and liabilities of a registered 
trade union act, 1926? 

  öuõÈØ\[P \mh® 1926 ß Phø©PÒ ©ØÖ® 

ö£õÖ¨¦PÒ GßÚ? 
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13. (a) Difference between strikes and lock-outs. 

  ÷Áø»{Özu® ©ØÖ® PuÁøh¨¦ ÷ÁÖ£kzxP. 

Or 

 (b) Describe the power of authorities. 

  Bøn¯õÍ›ß AvPõμ[PøÍ ÂÁ›UP. 

14. (a) Explain the scope of workmen’s compensation act, 
1923. 

  ÷Áø»¯õmPÒ \mh® 1923 ß ÷|õUP[PøÍ ÂÁ›UP. 

Or 

 (b) What are the rules regarding the distribution of 
compensation? 

  CÇ¨¥k Â{÷¯õP® öuõhº£õP EÒÍ ÂvPÒ GßÚ? 

15. (a) State the nature of employee’s state insurance Act, 
1948. 

  £o¯õÍº ©õ{» Põ¨¥mk \mh® 1948 ß ußø©PøÍ 

TÖP. 

Or 

 (b) Discuss the various provisions regarding 
contribution to the fund. 

  {v £[PÎ¨¤ß £À÷ÁÖ ÂvPøÍ ÂÁõvUP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the employment of young persons. 

 CÍ® |£ºPøÍ £oA©ºzxuÀ £ØÔ ÂÁ›UP. 
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17. Describe the various kinds of wages. 

 Fv¯[PÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 

18. What are the conditions for compensation to workmen 
laid off? 

 ÷Áø»¯õmPÎß ÷Áø» }UPzvß CÇ¨¥k {ø»ø©PÒ 

GßÚ? 

19. Difference between partial disablement and temporary 
disablement. 

 £Sv C¯»õø© ©ØÖ® uØPõ¼P C¯»õø© ÷ÁÖ£kzxP. 

20. State the scope of employee’s provident fund Act 1952. 

 öuõÈ»õÍºPÎß Á¸[Põ» øÁ¨¦ {v \mh® 1952 ß 

÷|õUP[PøÍ TÖP. 

———————— 


